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� ����� ����� ��� ������� �

	 #�
 ���B?)�L;P�
�����������
P, G � ��������������� I ⊆ P × G

������� �!��"�#%$&��'��)(*�����*#+����$-,/.10�243156.10�78569;:+<
= 2?>@.BADCE#+F!GIHJ��KL��"

(P,G, I) M ����N+$O�*#+���P#+��Q M ,6.10�243156.106R = 76S�T = S�71A
(P,G, I) M ����N%$U,6.10�243156.10�7J:+S�VXW4'1����H�9Y2Z.[5\:+7&567^]O:+S�V`_6(�ab�����c����"�$ed

Wgf8hi_ ∀x, y ∈ P, x 6= y, ∃1G ∈ G j �;$ x, yIG Wlkb��m�����Q M �n������d x, y := G
_

Wgfpo�_ ∀G ∈ G : ∃x, y ∈ P, x 6= y, j ��$ x, yIG A

q #$,[# &)>Z*���Nr� h�Atsu"�� j ����$&��#+��F P M ����N����wvbS1.�T = 5+(Dsu"�� j ���n$\�-#+��F G M ����N����yxU567J:�3156.IA
o1Atf j{z #+"�"�� xIG F\#+�����|a!��Hu}

x
"������%$~#%���

G � (�} G ��� M $O����HJQ M x � (�} x ����m���������HJ$ j ��$ G � ������ M ��"���Q M ������' j �6$&HJ��F\Q M �-��K�H\��Q M a~����F\���)A
� A^����"���������$&"���Q M a!��HJ��������f���m���������m�H&#%� j (P,G, I)

#+��Q M �������4#+Q M�j �;$ P � ��m�����Q M ����$eA
� AUkb���O����H�CE#+HJFJ$&��"�"������w������"���Q M ��H f���m���������m�H\�+� j ��a~��H\�����y�������u������$\�����������������n"�������FJQ M �s � �����-����m�����Q M ���6$^����� j ��$!����Hp�����P����H � ���������[(�� j �����-����H&#%�����P#+��m���������$&���[A[C^���-���/�H\#+����� � ��Fp$&� M �����*#+����#%��F\FJQ M "�����N�"���Q M #+��F ��������'+H M ��H j #+HJ�n����Hp$&�����
������$&���[(u�����|����H\Q M� �6a~����"������-����������HJ�+������H � ����������F\�����)A�C^����#+������H\�����
������$&� #+���
����������Hp�����wFJ�����c�+��������u�����n$\������HU����' j ��$&HJ����WZ�1��"?A������E�g'�"�������������k~����F\K�����"���_6A
� Atf���F � ��F\'+������HJ�+( j�� F\FJ��������H\#+�����|����Q M $�}e#%��F\Q M #%��"���Q M ����H&#+��� � F\�����)(n�)A M A�FJ��� j�� FJF\���`����Q M $��������H!�����1"�������F\Q M ����s � ������#+"�Ft����H&#+�������*#+H\Fp$&��"�" � #+HOF\�����)A

� �D�"��� q #7�"O�\��"#$JL#D� Wph�_
P = {a, b, c, d} ( G = {A ⊆ P ; |A| = 2} Wl#+"�F\' |G| = 6

_/(
I = ∈ AWlo�_ �^"�"���� j ��������H�d�F\��� P ������� � ��"���� � ����� � �������%( G = {A ⊆ P ; |A| =

2} W4#+"�FJ' |G| =
(

n

2

) �4#%"�"�F |P | = n ∈ N
_/(
I = ∈ A�CE#+��� M ����N+$ (P,G, I)#%��Q M¢¡ >@9Z9£R =?¤ .L3+2;¥1567 xO7J:6¦*§)A

W � _~����HJQ M ������"������+� z ������HO����¨*������Hp$eA
W � _~����HJQ M HJ��Q M $&� z ���+��HO���6¨*������HJ$�A
W � _�©[�ª�+����� � ����� j n ∈ N

�����ªK*#+#+HJab����F\������HJF\Q M ������������� x0, . . . , xnFJ�������
P
�����

G
a!���«�g'�"��+$¬���6¨*������HJ$�d

P = {x0 . . . xn}
(

G =
{{x1 . . . xn}} ∪ {{x0, xi} | 1 ≤ i ≤ n} A�CE#+���c��FJ$ (P,G,∈)

�����Pf���m��­�
������m�H&#+� j (*�����*#+����$-.[5\:+7/<�¦*56.[®62Z9�AW4¯�_ � �;$ P = R2 (

G = {a + bR ; a ∈ R2, b ∈ R2\{0}} ��Fp$ (P,G,∈)
������f���m���������m�H&#%� j (�+���*#+���n$�:J°�.[5E±O²656.[5 ��� ��H R

(*'�����Ht³^.�R�®8§�:+S1S�.1¥@R�5�²656.[5+A1´µ��HOF\Q M H\��� � ���c�*#@� � H AG(R2,R)'1����H
AG(2,R)

W
AG =

}�#%¶·���-����' j �6$&H\��� � _6A

o



� 5��~562�R��!´µ��H
m������+���������U�U��F\F\#+���t� � H � ��"���� � �����!����H\KL��H K Fp$8#%$J$
R
A[W
K j ��FJF~����Q M $~����� j #%"�%' j·j ��$8#@$&���`F\�����)A£_Wgf8hi_!���������

x, y ∈ P = K2, x 6= y
A*CE#+��������"�$

x, y ∈ x + (y − x)K ∈ G
A

su����������$&���+�+���;$ed%F\�������
x, y ∈ a+bK

(��*#+��� ������Fp$&����H\���
λ, µ ∈ K j �;$ x = a+bλ

(
y = a+bµ

(
λ 6= µ

ADs
F!����"�$

y − x = b(µ− λ) =⇒ (y − x)K = bK
�����

x+ bK = a + bλ+ bK = a+ bK.

C^# M ��Ht������FJ$&����Hp$!�����*#%���������	�
��H � �����������+F\����H&#+���%AWgfpo�_O��Fp$!�1"�#+H�A���' j ��$ ��FJ$ P ������f���m���������m�H&#+� j A �

W�
�_UC^#+FE��� M $EF\� M H^�1����"I#+"�"���� j ��������H�d ����� (V,K)
�������
����$\'�H\H\#+� j AD´µ��H^FJ��$&m���� G = {a +

bK ; a, b ∈ V, b 6= 0}. CE#+������Fp$ AG(V,K) = (V,G,∈)
������f���m���������m�H&#%� j A

AG(V,K)
a!��HJ��#+��Q M :J°y.[5O³�²�9�562 = S�.1¥ ����F
�
����$&'+H\H&#%� j F (V,K)

�+���*#+���n$�( � m�a�A�#+"�FU:J°�.[567� >�>@7J3+2Z.L: = 56.*7J:+S�V � ��m�����Q M ���6$eA~k~F\K)AEWl¯�_ ��Fp$�����H���KL��m�� #+";�4#+"�" V = R2.
C^��H`k~��ab����F��@#+���

a���Hp$&"���Q M ��'���' � ��� ��� ��H\��' j|j ����ab��H\�����)AW���_�©[�
P = {aR ; a ∈ R3 \ {0}} ( G = {aR + bR ; a, b ∈ R3 "������e#+Hb���*# ��M �+������� } ��FJ$

PG(2,R) := (P,G,⊆)
������f���m���������m�H&#+� j A�� � ������A

W���_
P = {a1, a2, a3} = G

(
aiIaj ⇐⇒ i 6= j

A
a3

a2

a1

a1
a3

a2W h���_ ©[�
P = {aR ; a ∈ R3 \ {0}} (�FJ��$&m��

aR I xR ⇐⇒ aTx = a1x1 + a2x2 + a3x3 = 0.

C^#+������FJ$
(P, P, I)

������f���m���������m�H\#+� j A�� � ������AW h�hi_�f��
(P,G) = AG(2,R) � �6$&H\#+Q M $&�t�*#+Fuf�������H\� H ����F�su��� M ����$\F\�nH\����FJ��FUW4'1����Hu�������!#%������HJ�����Q M $ "�����HJ��GI����" j ��������_/AI����$\m�� GH := {G ∈ G ; |G ∩H| ≥ 2} ����� xIG ⇐⇒ x ∈ G

(
��#+������FJ$

(H,GH , I)
������f���m���������m�H&#%� j A

� �D� .�� q #7,-#$&)>Z*��%NB� � #+�P�@#+����� j|j ��H~��H\HJ����Q M ���)(*��#+F\F P ∩ G = ©"
d

f�Fp$
(P,G, I)

����� f���m���������m�H\#+� j (�FJ'w�%#%��� j #%� � ����������H&#+��� G ∈ G j �;$�����H � ������������H�u�����n$\����������$\��¨*m�����HJ���)(������ j ��$ G ����m���������$tF\�����)(��[A M A

G′ := {x ∈ P ; xIG} �����
G

′ = {G′ ; G ∈ G} .
C^#+���¢��FJ$

(P,G′,∈)
�����ªf���m���������m�H\#+� j 2�R�>@V`>@7 ¦*§�m�� j ��H\FJK�H � ����"���Q M ��� Wlk~�6a~����F-F\��� M �·�����$\�����£_6A

f j z '+"���������������#+HJ��#+"�FJ'�(�ab����� (P,G, I)
������f���m���������m�H&#%� j ��Fp$e(�'�s G ⊆ P(P )

�����
I = ∈�+'�H&#%��F\����F\�6$&m�$~a~��H\�����)A��U���r�����t����K�"���m���$&���t�����n����������Hbf���m���������m�H\��" #%$\��'�� ∈ �@#+�����*#+���·����Hp�m���Q M $&�6$Uab��HJ�����P������a!��H FJQ M H\��� � ��� (P,G)

Fp$8#%$J$
(P,G,∈)

A

�



	 #�
 ���B?)�L;P�
�������b�����ªf���m���������m�H&#+� j (P,G, I)
�����+� � ���)A�s
�����|�
������$ j ������� A ⊆ P M ����N+$T�>@9Z9Y2Z.[5\:+71()ab��������F��������`����H&#+���

G ∈ G
��� � $ j �;$ ∀a ∈ A : aIG

ABsu�����`����H&#%����� j �������
B ⊆ G M ����N+$ET�>8¦LS�.�T = :+9�(�ab�����P��Ft�����������u������$ x ∈ P

��� � $ j ��$ ∀G ∈ B : xIG
A

�1�������
(P,G, I)

�����
(P ′,G′, I ′)

f���m���������m�H&�%� j �%A[su������kb� � ����$\��'�� σ : P → P ′ M ����N+$ � >@9Z9Y2Z<.[5\: = 2?>@.w'1����Ht,&R�>@V`>@7�¦*§12�R6V S�R�ab����� ∀x, y, z ∈ P
����"�$ed

{x, y, z} ��FJ$!�%'�"�"�������#+H�W � m��+"?A P _ ⇔ {σ(x), σ(y), σ(z)} ��Fp$!�+'�"�"������e#+H�W � m��+"?A P ′ _
f j z #%"�"�� (P,G, I) = (P ′,G′, I ′) M ����N+$ σ ³^S = >@V`>@7 ¦*§12�R6V SnR�A
�
'+H\F\��Q M $ �DsuFU�+��� � �+$!����Q M $e(*�*#+FJF P = P ′ ��FJ$eA
s ����Fp$&����HJ$Em�a!��FJQ M ����m6a~���uf���m���������m�H&�+� j ��� (P,G, I)

�����
(P ′,G′, I ′)

������� �U'�"�"������e#%$\��'��[(�F\'
M ����N+��� ������f���m���������m�H&�%� j ��2�R�>@V`>@7 ¦*§)A � #+� FJQ M H\��� � $`#+��Q M (P,G, I) ∼= (P ′,G′, I ′)

(
'�����H
� � HJm���H P ∼= P ′ A
� 5��~562�R � ¡ >@. � 56V � ��� ������� �UC^��� � ��� ��"�������� id : P → P

��FJ$ª����� f�F\' j '�HJK M ��F j ��F���'��
(P,G, I)

#+���
(P,G′)

W4k~��m%AD#+��F�Wph+A o�_J_6AD©[��m�������������FJ$
x, y, z

F\�������%'�"�"�������#+H � m���"?A G ⇐⇒ x, y, z
FJ�������+'�"�"������e#+H � m��+"?A G′.C^#+Ft�g'+"��+$O# � ��H!'
	[��� � #+H!����HJ����$t#+��F!����HtC^��¨*����$&��'�����'�� G

′ A
�

q #$,[# &)>Z*���Nr�E´µ����#+��Q M � � H�#+������H\� j #%$ M � j #%$&��F\Q M ���1$&HJ����$&��HJ��� � ��"����6$������ � ��������#+"�"���H�U��$&' j '�HJK M ��F j ������������F!f���m���������m�H\#+� j ��F (P,G)
����������H\��K�K��%A*k~��m�����Q M �n������d Aut(P,G)

A
� �D� 9���F
WQ?]�*���)562?56.

(P,G,∈)
S1.L3

(P ′,G′,∈)
,6.10�243156.10�7 ¤ S1V`5US�.L3

σ : P → P ′ 562Z.[5 � 2 
e58T@<= 2?>@. ����:+.*.PR62Z.L3 ¤�� S�2 ¡ :+9�56. =��
Wgfp_

σ
2�R = 562Z.[5 � >@9Z9Y2Z.[5\: = 2?>@.

W4fJfp_ ∀G ⊆ P
¥+2Z9 =��

G ∈ G ⇐⇒ σ(G) := {σ(x) ; x ∈ G} ∈ G
′

Wgf\f\fp_ ∀x, y ∈ P, x 6= y
¥+2Z9 =��

σ(x, y) = σ(x), σ(y)
�

� 5��~562�R���W4fp_
=⇒ W4f\fp_ suF|����";$ed

G ∈ G ⇐⇒ ∀x, y, z ∈ G : {x, y, z} �%'�"�"�������#+H ⇐⇒
∀x, y, z ∈ G : {σ(x), σ(y), σ(z)} �%'�"�"�������#+H ⇐⇒ σ(G) ∈ G

′ A
Wgf\fp_

=⇒ W4fJf\fp_
x, y

�����
σ(x, y)

FJ����� ����H&#+�����w�����
σ(x)

�����
σ(y)

"������+��� #%���u"��6$&m6$&��HJ��H�(
#%"�F\'

σ(x, y) = σ(x), σ(y)
A

Wgf\fJfp_
=⇒ W4fp_ ���������

x, y, z ∈ P
�����P'�s

x 6= y.

x, y, z ∈ P
F\�������+'�"�"������e#+H ⇐⇒ z ∈ x, y ⇐⇒ σ(z) ∈ σ(x, y) = σ(x), σ(y) ⇐⇒

σ(x), σ(y), σ(z) ∈ P ′ F\�����P�%'�"�"�������#+H�A�C�A M A σ ��Fp$!���������t'�"�"�������#%$&��'��)A �

� �D� E)� q #7�"O�\��"#$JL#D��h�A�Wg�1��"lA�kbF\K)A)Wph�A;h+A;hi_\_
P = {a, b, c, d} ����� (P, {A ⊆ P ; |A| = 2}) �����

P ′ := {1, 2, 3, 4} ����� (P ′, {A ⊆ P ′ ; |A| = 2}) F\�����¢'�	[��� � #+H���F\' j '�HJK M W4f�F\' j '�HJK M ��Fp�
j ��F��i_ ´¢#+F!��Fp$

Aut(P )
�

�



o1AUkbF\K)ABW h�A�h+A o�_ j ��$ |P | = n
��HJ��� � $ AutP = Sn

A
� A!´µ��H�m����������[(t��#+F\F�������f���m���������m�H\�+� j �¢#%��FckbF\K)A�Wph�A;h+A ��_������ k~F\K)A�W h�A�h+A�h���_���F\' j '�HJK MFJ�����[AB´µ��������H���Fp$

id : P → P
�����ªf�F\' j '�HJK M ��F j ��F�A�� j ������kb����H � ��������� $&H&#%��F\K*#%H\����$m�� j #+Q M ���)( m�����������a!��H�� �u2?5��O�����`����H\#+�����¢# � ��� � ��"����6$�a~��H\�����)d���������� a, b ∈ R3 "������e#%H���*# ��M �%��������AnCE#+�����+��"�$ G = aR, bR = aR + bR

���
(P,G,⊆)

A1k~���@#+����$&"���Q M � ����FJ$\����HJ$b�����
x ∈ R3 j ��$ G = x⊥ :=

{
u ∈ R3 ; uTx = 0

} (�m%A&k^A
x = a× b

Wl�t'�'�HJ������#%$&�����*#+HJFJ$&��"�"������
����F�o������ j A��t�n$\��Hp������$\'�H\H\#+� j ��F G ���

R3 _6A�suF^����"�$!� � HU#+"�"�� λ ∈ R \ {0} : x⊥ = (xλ)⊥
A

� #+� M #%$t#+"�FJ'
cR ⊆ G ⇐⇒ cTx = 0 ⇐⇒ cRIxR.

C�A M AD�����-����H&#+��� G ∈ G
a!��H\��#+����������xU567J:�315

xR ∈ P
# � ��� � ��"�����$�A

f���������� j ������� � �������Pf���m���������m�H&#%� j (P,G, I)
F\Q M H\��� � ���Pa!��HO� � H G,H ∈ G

� � HJm���H

G ∩H := {x ∈ P ; xIG ∧ xIH} .
f�Fp$

G∩H ��������"�� j ����$&����(�F\'�FJQ M H\��� � ����a!��HbFp$8#%$J$ {x} = G∩H #+��Q M x := G∩H A z�� Hb��������u�����n$ j ������� A ⊆ P
FJ��$\m��

A ⊆ G
(L�4#+"�"�F ∀a ∈ A : aIG

A C^#+F�����$&FJK�H\��Q M $-����H��^��FJF&#%��� ���kb� j ABWph�A£o+_/A
� �D� Y�� �)562

(P,G, I)
562Z.�,6.10�243156.10�7J:+S1V S1.L3

G,H ∈ G �
3�:+.*.�¥+2Z9 =

G = H
>�31567 |G∩H| = 1>�31567

G ∩H = ©"
�

� 5��~562�R��^���������
x, y ∈ G ∩H j ��$ x 6= y

(��*#+��������"�$
G = x, y = H

ab��������Wgf8hi_6A
�

�



� ��� ������� � ��� �

	 #�
 ���B?)�L;P�
��su����f���m���������m�H\#+� j (A,G) M ����N+$-:J°�.[5�±O²656.[5�(�ab�����c����"�$ed
Wl��_�W�vO:+7J:+9Z9�569�56.L:	��2?>@V�_ ∀G ∈ G, x ∈ A \G, ∃1H ∈ G j ��$ x ∈ H

�����
G ∩H = ©"

A
Wls � _�s
Ft��� � $ ��HJ��� ����Q M $t�%'�"�"�������#+H\���u�����n$\�+A
�1���

(A,G)
��������#@¶|����s � �����+A
����H\#+����� G,H M ����N����¢¦�:+7J:+9Z9�569�(I����F\Q M HJ��� � ��� G‖H (ra~�����

G = H
'1����H

G ∩ H = ©"
A zI� H x ∈ A

�����
G ∈ G � ��m�����Q M ��� {x‖G} ����� WZa~������� Wl��_������������$\��� � ��FJ$\� j·j $&�e_~��#+H\#+"�"���"��Em�� G ����HJQ M x A� . �"��� ,6. 
e5\31567-:J°y.[56.�± ²656.[5�2�R = ‖ 562Z.[5�
 � S�2 ¡ :+9�56.10�7&569;: = 2?>@.w:+S
� G

�
� 5��~562�R��U�!���*� ���;�1��$8�@$r��������� j|j ��$\H\����F\�����-����H\Q M �����
C^�6¨*���;$&��'+� � ��HJ���;$&F ������� � ���)A%©[��K�H � �g�����FJ$~��'�Q M �����EGBH&#+��F\��$\���1��$&�%$eA zI� H G,H,K ∈ G

�+��"�$\�
G‖H �����

H‖K A1f j z #+"�" G∩K = ©"��FJ$!����Q M $&Ftm���m����������[AD�����r#%"�F\' G ∩K 6= ©"
(*�6$�aO#

x ∈ G ∩K =⇒ G = {x‖H} = K
A

�	 #�
 ���B?)�L;P�
�������
(A,G)

�������~#%¶·���Os � �����%A z�� H G ∈ G � ��m�����Q M ��� [G] := {K ∈ G ; K‖G}���������1�����%#+"�����m��n"�#+F\FJ�-�+'��
G
���

G � m���"?A ‖ A � �;$ G/‖ := {[G] ; G ∈ G} ab��HJ����a!��� ��� "���Q M����� � ��������#+"�"���H����n���;�+#%"�����m��n" #+FJF\��� � ��m�����Q M ����$�A� . � .�� q #7�"O�\��"#$JL#D� Wph�_OC^��H f���m���������m�H\#+� j (P,G)
#+��F-Wph�A;h�A�h�_~��FJ$O�����E�n"�������FJ$ j ����"���Q M �^#%¶·���s � �����|Wg�����*#%����$��c2Z.*2ZV·:+9YV`>�31569Z94_6(1�)A M A*��F �+� � $ �%�������-#%¶·����s � ����� (A,G′) j ��$ |A| < |P | AWlo�_�CU��H�f���m���������m�H&#+� j #+��F�Wph�A;h�A � _���FJ$�� � �����4#%"�"�F��������`#%¶·����s � �����%A suF���� � $��1����H���"�#+F\FJ���K�#+H&#+"�"���"���HO����H&#+�����¢Wl#+"�F\' |G/‖| = 4

_6A
W � _ z�� H ��������� � ��HJK���H

K
FJ���

G := {a + bK ; a ∈ K2, b ∈ K2 \ {0}} A�CE#%��� ��FJ$
AG(2, K) := (K2,G)

��������#@¶|����s � �����+(I������#+����$�:J°�.[5�³�²�9�562 = S�.1¥w��'�� K2 ( j #+��Q M�j #%"#%��Q M :J°�.[5 � � >�>@7J3+2Z.L: = 56.*<���± ²656.[5 ��� ��H K A
� 5��~562�R���W4f8h�_6(rWgfpo�_O#+��F�Wph+A�h�A ¯�_/A
W4s � _O��FJ$!�n"�#+H-W4m%A£k^A

(0, 0), (0, 1), (1, 0)
F\����������Q M $t�+'�"�"������e#+H&_6AW4��_E�����

x ∈ K2 ����� G = a + bK ∈ G j �;$ x /∈ G
A�CE#+��� �g'�"��+$

x + bK ∩ a + bK = ©" .� j �����Psu����������$&�����+����$|m��ym���������� ��FJ$
x + cK ∩ a + bK 6= ©"

� � H cK 6= bK
Wl#+"�F\'

b, c"�������#+H ����# ��M �+�������n_���#+Q M m���ab����F\���[A�����FJ��Q M $~FJ�����·#+"�F\'�� ��F\��������� (λ, µ)
� � H x+cλ = a+bµW � m�a�A����n���;�+#%"�����$�d cλ− bµ = a− x

_6ALCE#
(b, c)

��������kO#+F\��F!����F
K2 ��Fp$e(*������FJ$&����HJ���c����� λ, µ������������$\����AD�1' j �;$ ����"�$ |x + cK ∩ a+ bK| = 1 6= 0

A
�

W � _��1���
D := {x ∈ R2 ; ‖x‖ < 1} �����~'
	������ su��� M ����$\F\�nH\����F\FJQ M ���­�

� ��� j R2 ����� S1 := {x ∈ R2 ; ‖x‖ = 1} � M H!�U#%���)AD�����)a~����$\��H
K ����� � �����+�P#%"�"���H���H\����FJ�������y����H&#+��������� R2,

�����
S1 F�� j �

j ��$\H\��F\Q M m�� j �UHJF\K�HJ������F\Q M �����������)( �)A M A)��F���� � $Em�ab�����1Q M ����$J$J�K�������$&�
p, q

�����c��F^����"�$
q = −p A)����� G := {K ∩D ; K ∈ K} (��#+������FJ$

(D,G)
��������#@¶|����s � �����%A

S1

(0,0)

q

p

¯



� . � 9�� �)562?56.
G,H ∈ G

V 2 =
G ∩H = x ∈ A �

3�:+.*.�¥+2Z9 =

∀G′ ∈ [G], H ′ ∈ [H] : |G′ ∩H ′| = 1.

� 5��~562�R��t�^��������' j|j ��� |G′ ∩ H ′| 6= 1
( #%"�F\'

G′ = H ′ '�����H G′ ∩ H ′ = ©"
(��)A M A G′‖H ′ A´ª���+���

G‖G′, H‖H ′ �g'�"��+$ j �;$-W?o�A;hi_ G‖H (*� j ´µ������H\FJK�H\��Q M m�� G ∩H = x
A

�

� . � E)� �)562
(A,G)

562Z.[5P:J°�.[5�±O²656.[5�S1.L3
G,H,K ∈ G

V 2 =
G,H ∦ K

����:+.*.�¥1569 = 56. �
� ���

ϕ : G→ H; x 7→ {x‖K}∩H 2�R = 562Z.[5 � 2 
e58T = 2?>@. � ¥156.L:+.*. =��#%H&#+"�"���"�K���H\FJK����n$\���1��$&�%$ � V 2 = �t��Q M $&����� K � �
� .[� |G| = |H| = |[G]|

x

G

H

K

(x)ϕ

� 5��~562�R���Wph�_
ϕ
��Fp$ a~' M "����6¨*������HJ$ ab���+����Wlo�A � _�W =⇒ |{x‖K} ∩H| = 1

_/A
f�� � ����$&�;���;$8�%$�dD©[�

x, y ∈ G
FJ���

ϕ(x) = ϕ(y) =⇒ {x‖K} = {ϕ(x)‖K} = {ϕ(y)‖K} = {y‖K}
=⇒ x = {x‖K} ∩G = {y‖K} ∩G = y

W4�������
G ∦ K

_/A

�1��H � ���n$\���1��$&�%$ed*�����
z ∈ H

�����

y := {z‖K} ∩G =⇒ ϕ(y) = {y‖K} ∩H = {z‖K} ∩H = z.

Wlo�_ |G| = |H| �g'�"��%$!#+��F�Wph�_6A �U#%$ � HJ"���Q M �%#%��� j #+��� � ����F\' |K| = |G| m������+���)Akb��$&H\#+Q M $&�-������� ��� ��"�������� ψ : [G] → K; G′ 7→ G′ ∩K A
ψ
��FJ$ ab' M "�����¨*������Hp$e(*������� |G ∩K| = 1 =⇒ ∀G′ ∈ [G] : |G′ ∩K| = 1

Wgab������� Wlo�A � _\_6A
ψ
��FJ$!��� � ����$&�;��d�F\���

ψ(G1) = ψ(G2)
� � H G1, G2 ∈ [G]

ADCE#+��������";$

G1 = {ψ(G1)‖G} = {ψ(G2)‖G} = G2 =⇒ G1 = G2.

ψ
��FJ$!F\��H � ����$\���LdDF\���

p ∈ K
ADCE#%���P��FJ$

G′ = {p‖G} ∈ [G]
��������F!����"�$

ψ(G) = p
A

�U"�FJ'·��FJ$
ψ
�������-k~� � ����$&��'+�

[G] → K
(D�����P��Ft�+��"�$ |[G]| = |K| = |G| = |H| A �

	 #�
 ���B?)�L;P�
�������bW
A,G)

��������#%¶·����s � �����+(L�*#+��� M ����N+$ |G| � � H G ∈ G
�������O7J3+.*S1.1¥��+'��

A
( � ��m�����Q M ����$ j �;$ ordA = |G| A�´¢' M "����6¨*������HJ$ M ���;$!��FJ$!����H\Q M W?o�A � _~F\��Q M ��H\�+��FJ$\��"�"�$eA
� . � Y�� q #7�"O�\��"#$JL#D� Wph�_Ok~����F\K�����"
Wlo�A o1A�hi_ � m�a�AIWph�A;h+A;hi_ M #%$ ord = 2

A
Wlo�_Ok~����F\K�����"�Wlo�A£o1A£o�_ � m�a�AIW h�A�h+A � _ M #%$ ord = 3

A
W � _

ord(AG(2,R)) = |R|, #+"�F\'PW ��� ��H&# � m�� M " � #+H8_~����������"���Q M AW � _~f j f���m���������m�H\#+� j �+'��ckb����FJK�����"
Wph+A�h�A � _~��FJ$ � � H n ≥ 3
�%����������HJ���n�����·����¨�������HJ$eA






� . � 8���F
WQ?]�*���)562
(A,G)

562Z.[5-:J°y.[5�±O²656.[5�31567 �O7J3+.*S1.1¥
q ∈ N

� ��� 7�:+9Z9�5
x ∈ A

S1.L3�:+9Z9�5
G ∈ G

¥+2Z9 = 3�:+.*.
� D)� |G| = q

� ��� |[G]| = q

� .[� |{H ∈ G ; x ∈ H}| = q + 1

� 9[� |A| = q2

� E � |(G/‖)| = q + 1

� Y[� |G| = q2 + q

� 5��~562�R���W���_~�*#+Q M C^��¨*����$&��'�����'�� ord
A W hi_~�*#+Q M W?o�A � A£o�_6AWlo�_B´¬� M "�� K ∈ G j ��$ x 6∈ K

A z�� Hu#+"�"�� y ∈ K
��FJ$

x, y
������� ����H&#+���~����H\Q M x (��*#%m�� �+' j|j $

{x‖K} (BF\'P�*#+F\F���F j ��������Fp$&����F q + 1
����H\#+����� ����HJQ M x

��� � $�ArCE# � ����������H\#+���|����H\Q M x����$�a~������HUK*#+H&#%"�"���"[m��
K
��FJ$!'1����H

K
$\H\� 	�$�(�F\��������F!������#+�

q + 1
A

W � _
[G]

��Fp$!���������I#+HJ$\��$\��'�����'+�
A
(*�)A M A A =

⋃
K∈[G]K

������� � H K,K ′ ∈ [G]
����"�$

K = K ′'1����H
K ∩K ′ = ©"

A*C^#+H&#+��F!�g'+"��+$

|A| =
∑

K∈[G]

|K| = q · q = q2.

W � _ �����
x ∈ A

�g��Fp$eAL©[�
H,H ′ ∈ {K ∈ G ; x ∈ K} FJ�����

[H], [H ′] ∈ G/‖ �����
H 6= H ′ =⇒ [H] 6= [H ′].

�1' j �;$ ��� � $r��F j ��������FJ$\����F q+1
��#%H&#+"�"���"��n" #+FJF\���[A�f�� � ������HI�I#+H&#%"�"���"��n" #%F\F\����� � $r��Fr������su"�� j ���n$�(��#+F!����H\Q M x " �%���Z$e(*#%"�F\' FJ��������F!�����*#+� q + 1

A
W � _ |G| = |G/‖| · |[G]| = (q + 1) · q = q2 + q

A
�

�1�������
(A,G)

��������#%¶·����s � ����������� G,K ∈ G j ��$ G ∦ K
A

CU���|W4'
	�����F\��Q M $\"���Q M ab' M "�����¨*������Hp$&��������F\��H � ����$\�����e_!� ��� ��"��������

π : A→ G; x 7→ {x‖K} ∩G

M ����N%$Ev :+7J:+9Z9�569 ¦L7&>�
e58T = 2?>@.�W j ��$U]!2?®8§ = S1.1¥ K _6A
(x)π

x

K

G

�1�������
(A,G)

������� #%¶·���cs � �����+( G,H ∈ G
�����

z ∈ A \ (G ∪ H)
A

zI� H G ∦ H
F\���

q := {z‖G} ∩ H �����
p := {z‖H} ∩ G A CU��� � � � ����$&�;���� ��� ��"��������

ξ : G \ {p} → H \ {q}; x 7→ x, z ∩H HG

z

p
q

�



M ����N%$U0@56. = 7J:+9�5Ev!567&R�¦*58T = 2 ¡ 2 =?¤+= A z�� H G‖H ��FJ$

ξ : G→ H; x 7→ x, z ∩H
ab' M "�����¨�������HJ$t����� � � � ����$&���wW4����� M ����N+$O� � �����4#+"�"�Ft0@56. = 7J:+9�5Ev!5678R�¦*58T = 2 ¡ 2 =?¤+= _/A
q #$,[# &)>Z*���Nr��C^�����U��H&#+��F\�*# M�j ������H �u������$\� p, q Fp$&��"�"�$�F\��Q M ��H�( �*#+FJF ξ � j z #+"�" G ∦ Hab' M "�����¨�������HJ$e([�)A M A � ������H��u�����n$-#%��F G \ {p} M #%$�������k~��"��)(L������F\��H � ����$&�;� ��FJ$e([�)A M A � ������H�u�����n$^#+��F

H \ {q} M #%$!����� �UH � ��"��)ACU��H\Q M �������U����m�����# M�j �^��'������������P�u�����n$\������������������HO���������P����H&#+������m���H!#%¶·������s � �����
(A,G)

�@#+��� � ���r����Htm�����$&H\#+"����c�B��HJF\KL����$&�;���;$8�%$U#+��� ������" �+Fp$&���+�����^��FJ�*# M�j ��K�������$&�������������
z #+"�"�����$\��H\FJQ M ����������� �+��H\m���Q M $&�6$Uab��HJ�����[A
	 #�
 ���B?)�L;P�
��C^��H!¦L7&>�
e58T = 2 ¡ 5^³�²6R�®8§19YSnR8R (P,G′)

��������Ht#%¶·����� s � ����� (A,G)
��Fp$!�g'�"�����������Hp�

j #+N���� ���6¨*������HJ$�d[��HJ���+��m�� � ����������H&#+��� G ∈ G
� j �����������u�����n$ [G]

(������*#%����$ � 567/.+¦LS1.�T =
�+'��

G
(I#+"�F\'

G′ := G ∪ {[G]} A~Wlkb�e#+Q M $&�%( �*#+FJF K*#+H\#+"�"���"��|����H\#+�����¢������FJ��" � ��� z ��H\��K�������$
� ���%' j·j ����� _�´¢����$&��H�F\��� F := G/‖ = {[G] ; G ∈ G} �������`m���F\�%$&m�"���Q M ������H&#+���%(������*#+����$
� 567/.1¥1567J:�315�A�CE#+����F\���

(P,G′) := (A ∪ F, {G ∪ {[G]} ; G ∈ G} ∪ {F}) .
q #$,[# &)>Z*���Nr�·W hi_~f j k~����F\K�����"uWph�A;h�A;hi_~��HJ��� � $!FJ��Q M �*#+Ftk~����F\K�����"uWph�A;h+A � _6AWlo�_~f j k~����FJK�����"�W?o�A£o1A � _~�@#+��� j #%��FJ��Q M ����� z ��H\��K�������$&��#+"�F �u�����n$\��#%��� S1 �+'�H\Fp$&��"�"����)A
� . ���D� ��567r¦L78>�
e58T = 2 ¡ 5 ³�²6R�®8§19YSnR8R (P,G′)

562Z.[567 :J°�.[56.�±O²656.[5
(A,G)

2�R = 562Z.�,6.10�243156.10�7J:+S�V
V 2 = 3156.P±b2;¥156.�R�®8§�: � = 56. �
� ��� ∀G′ ∈ G

′ ¥+2Z9 = |G′| ≥ 3
�

� .[� ∀G′, H ′ ∈ G
′, G′ 6= H ′,

¥+2Z9 = |G′ ∩H ′| = 1
�

� 5��~562�R���W4f8h�_ ���������
x, y ∈ P, x 6= y

A
h+A z #+"�"ld x, y ∈ A =⇒ x, y ∪ {[x, y]} ��FJ$O������� �
��H � ������������F\����H&#+���+(��*# # � ��H x, y 6∈ F

��Fp$ ��F
#%��Q M ������������m������+Ao1A z #+"�"ld x ∈ A, y 6∈ A =⇒ y = [G]

� � H G ∈ G
������a~������� Wl��_^��Fp$ {x‖G} ∪ {[G]} 3+2?5�
��H � ������������F\����H&#+���+A� A z #%"�"?d x, y 6∈ A =⇒ x, y ∈ F

�����
F
��Fp$!����� �
��H � ������������F\����H&#+���-�+'�� x, y ��� P AWgfpo�_�������Wphi_
F\�������n" #+H�(1��������Wlo�A£¯�A ��_
m������+$ ∀G ∈ G : |G∪ {[G]}| ≥ 3

������#%��F�W o1A£¯1A � _u�g'�"��%$
|F | ≥ 3

A
Wlo�_^h�A z #+"�"?d G′ 6= F 6= H ′ A*��������� G,H ∈ G j �;$ G′ = G ∪ {[G]} ( H ′ = H ∪ {[H]} A*CE#+����g'+"��+$b����$�ab������H

G‖H �����
G′ ∩H ′ = [G]

W
= [H]

_
'�����H
G ∦ H

����� |G∩H| = 1
W � ��#+Q M $&�

[G] 6= [H]
_6A

o1A z #%"�"?d1'�s A H ′ = F.
CE#%�����g'+"��+$

G′ ∩H ′ = G′ ∩ F = [G]
A

�

�



� � �����@��� �%�	����� � � ��� �

´µ��H�ab'�"�"����|�n���������Usu��������F\Q M #%�Z$&��������F~K�H\' � ����$&���+����� � F\Q M "���F\FJ��F ��������HO#%¶·������s � ������# ����'@�
j #%$\��F\Q M ��HJ�4#+FJF\���[A
	 #�
 ���B?)�L;P�
��su����f���m���������m�H\#+� j (P,G) M ����N+$O¦L7&>�
e58T = 2 ¡ 5E±O²656.[5�(�ab�����c����"�$ed

Wgf � _ ∀G ∈ G
�+��"�$ |G| ≥ 3

Wgf � _ ∀G,H ∈ G
����"�$

G ∩H 6= ©"

Wls � _�s
Ft��� � $ ��HJ��� ����Q M $t�%'�"�"�������#+H\���u�����n$\�+A

W
P,G) M ����N+$ ¡ 567J:+9Z9 ¥156V`562Z.[567 = 5b¦L7&>�
e58T = 2 ¡ 5E±O²656.[5+(�ab����� W4�n��H8_�Wgf � _~�����¢Wls � _O��Hp� � "�";$ F\�����)A
q #$,[# &)>Z*���Nr���U��FUW4f8hi_I����� Wgf � _I��H\��� � $uF\��Q M F\'+�g'�Hp$ G 6= H =⇒ |G∩H| = 1

Wg�1��"lA*Wph�A � _\_/A
� 9 �"��� q #7�"O�\��"#$JL#D��h�A ´ª������� Wlo�A 
�_^��Fp$�����H�K�HJ' � ����$\������� � F\Q M "���F\F � ������H-#%¶·������s � �����·�������K�H\' � ���n$\���+��s � �����%A
o1A � ����� j #+" j '1����"�"?d1W h�A;h+A � _
��FJ$�����HbK�HJ' � ����$\�����t� � F\Q M "���F\F���'���W h�A;h+A;hi_6(������ z ��H\������H&#+��� F ��Fp$�+��FJ$\H\��Q M ��";$!�*#+H\�+��FJ$\��"�"�$eA�s
F!��� � $ �%��������K�HJ' � ����$\�����-s � �����`W P,G) j �;$ |P | < 7

A
� A	�+������H ���e#+H ��KL����Q���"~��FJ$ �������|����H\#+"�"���� j ��������Hp$&�|K�H\' � ����$&���+��s � �����+(u# � ��H��+��������K�H\' � ����$&�;���s � �����%A
� A

PG(2,R)
WZ�1��"?ArWph+A�h�A ��_J_~��FJ$!��������K�H\' � ���n$\���+��s � �����%A

� At�U"�"���� j ��������H�dUFJ��� K ����� � ��"���� � ������Hw� �+H\KL��H�( P = {aK ; a ∈ K3 \ {0}} ����� G =
{aK + bK ; a, b ∈ K3 "�������#+HO���*# ��M �+���+��� } A�CE#+������FJ$ PG(2, K) := (P,G,⊆)

�������tK�HJ'%�
� ����$&���+�-s � �����+AIW4�U���g��# � � � m������+$�W4f8h�_6(BW4fpo+_~�����¢W4f � _/A�´ #+HJ� j �+��"�$\���¢W4f � _~����� W4s � _ �i_

� 9 � .�� �)562
(P,G)

562Z.[5 ¡ 567\:+9Z9 ¥156V`562Z.[567 = 5~¦L7&>�
e58T = 2 ¡ 5E±O²656.[5�� ��:+.*.�¥+2Z9 =��
� ��� � :+9Z9£R ∃G,H ∈ G, G 6= H, |G|, |H| ≥ 3 �

3�:+.*. 2�R =
(P,G)

¦L7&>�
e58T = 2 ¡ 5E±O²656.[5��
� .[�

(P,G)
2�R = ¦L7&>�
e58T = 2 ¡ 5E±O²656.[5�>�31567�.[5\:+7/<�¦*56.[®62Z9 �

� 5��~562�R���Wph�_ �����
K ∈ G j �;$ K 6= G,H

(��*#+������Fp$ |K| ≥ 3
m���m����������[AD�����

z = G ∩H Ah+A z #%"�"?d z 6∈ K
AL���������

x = K ∩G �����
y = K ∩H A

|G|, |H| ≥ 3 =⇒ ∃x′ ∈ G \ {x, z}, ∃y′ ∈ H \ {y, z}
´ª���+��� W4f � _�� ����FJ$\����Hp$

w = x′, y′ ∩ K
Wg�����

w 6= x, y
a~�������

G,H 6= K
_6(D#+"�F\' ����"�$ |K| ≥ 3

A HG

x

z

Ky

x’ y’ w

h��



o1A z #+"�"ld z ∈ K
AB©[�

x ∈ G \ {z}, y ∈ H \ {z} F\��� G′ := x, y
A

C^#+���¢�+��"�$ |G′| ≥ 3
ab���+��� z #+"�"Oh·����� G′, H,K

"������+���wa!�������
z #+"�"�h�A*�U"�FJ' |K| ≥ 3

A

z
K

x
y

HG

G’

Wlo�_b�g'�"��+$ ����H\����$U#+��F�W hi_6A
�

CU��HU�
HJ'�m���F\Ft����F!K�HJ' � ����$\�������c� � F\Q M "�����F\F\����F^�@#+����� j �����+� M HJ$!ab��H\�����)d
� 9 � 9�� �)562

(P,G)
562Z.[5�¦L7&>�
e58T = 2 ¡ 5 ±O²656.[5|S�.L3 F ∈ G

� �)5 = 0@5
PF := P \ F S�.L3

GF :=
{G \ F ; G ∈ G \ {F}} ����:+.*.�¥+2Z9 =��

� ���
(PF ,GF )

2�R = 562Z.[5�:J°�.[5E±O²656.[5��
� .[� ��� 7

G,H ∈ G \ {F} ¥+2Z9 = (G \ F )‖(H \ F ) ⇐⇒ G ∩ F = H ∩ F �

� 9[� ��567r¦L78>�
e58T = 2 ¡ 5u³�²6R�®8§19YSnR8R ¡ >@. (PF ,GF )
2�R = :+S
�~.L: = � 769Y2?®8§*5��·562�R�5~2�R�>@V`>@7�¦*§E0�S

(P,G)
�

� 5��~562�R���Wph�_UWgf8hi_~�����
x, y ∈ PF , x 6= y

A ∃1G ∈ G j ��$ x, y ∈ G,G 6= F
(������

x, y ∈ G \F AWgfpo�_~�g'�"��%$ #+��F�Wgf � _6(*�*#
G \ F = G \ (G ∩ F )

A
W4s � _b�1�������

a, b, c ∈ P
����Q M $O�%'�"�"�������#+Hu������'�A£k^A �)A ��A a 6∈ F

An´¢������� W4f � _ ∃b′ ∈ a, b \F, b′ 6=
a
(*�����

c′ ∈ a, c \ F, c′ 6= a
(*�����

a, b′, c′ ∈ PF

F\����������Q M $t�+'+"�"������e#%H�AW4��_������
G ∈ G \ {F} ����� x ∈ PF , x 6∈ G

A � ��$ z = G ∩ F
��HJ� � "�"�$ H := x, z \ F �����

kb���������������+���
x ∈ H ∈ GF

�����
H ∩ (G \ F ) = ©" .

CE#+F!m������%$!������s ����Fp$&����m+A
zI� H K ∈ G j �;$ x ∈ K

�����
K 6= x, z

����";$
K ∩G 6∈ F

#%"�F\'
K \ F ∩G \ F 6= ©"

ADCE# M ��H��FJ$
H
������������m��������I#+H&#+"�"���"��^m��

G \ F ����H\Q M x.Wlo�_~��Fp$!� j k~��ab����Ft�+'�� W4��_ ����$ M #+";$&���)AW � _ � � ������A �

� 9 � E)� �)562
(P,G)

562Z.[5-¦L7&>�
e58T = 2 ¡ 5·±O²656.[5 � G,H ∈ G, G 6= H �
S�.L3

z ∈ P \ (G ∪ H)
�

�-:+.*.�¥+2Z9 =��
� ���

ζ : G → H; x 7→ x, z ∩ H
2�R = 562Z.[5 � 2 
e58T = 2?>@. � ¥156.L:+.*. =m�����$&H&#%"��-�I��H\F\KL����$\���1��$&�%$ �

� .[� |G| = |H|.
(x)ζ

HG

zx

� 5��~562�R�� � � ������A �

zI� H G ∈ G M ����N+$ |G| − 1
����� �O7J3+.*S1.1¥�����H`K�HJ' � ����$\������� s � ����� (P,G)

Wlk~��m�����Q M �n�����
ordP

_6A�´¢�������¢W � A � A£o�_~��Fp$!�*#+F!��������F\�����n�+'�"�"���C^�6¨*����$\��'��[A

h�h
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k~����F\K�����" �

� 9 � Y�� q #7,-#$&)>Z*��%NB�·W hi_��+������#%¶·��� s � ����� M #%$E��������"�����Q M � �EHJ���n������a!����� M HEK�H\' � ���n$\���+��H� � F\Q M "���FJF�A�WlC^��F M #+" � a!��H\� |G| − 1
#+"�F ��HJ���n�����·����H!K�HJ' � ����$\�������cs � ����� � ��m�����Q M ����$eA£_Wlo�_ �+����� K�HJ' � ����$&�;����s � ����� M #@$������P��"�����Q M � �EH\���n������a!��� � �����w��� � M H`���n$ M #+";$&�����w#%¶·���s � �����`Wg�+��HJ��"�����Q M �|W � A � A�hi_J_6AW � _�C^����F\��FJ�����¢# � ��H��lA\��Ar����Q M $���FJ' j '�H\K M W4� j �U��$&��H\FJQ M ������m��µW � A � A � _J_6(r�*#�������´ # M "b����H����H\#+�����

F
a!��"�"�� � H\"���Q M ��Fp$eArk~����F\K�����"����*#+m��ªa~��H\�����¢a!��H-���n$eABF\K��%$&��H����ª����� � � ��������� � �/�

M #+������"��)A
� 9 � 8�� �)562

(P,G)
562Z.[5!¦L7&>�
e58T = 2 ¡ 5-±O²656.[5 31567 �O7J3+.*S1.1¥ q ∈ N

� ��:+.*.P¥+2Z9 = � � 7�:+9Z9�5
x ∈ PS1.L3

G ∈ G
�

� ��� |G| = q + 1

� .[� | x | = | {H ∈ G ; x ∈ H} | = q + 1

� 9[� |P | = q2 + q + 1

� E � |G| = q2 + q + 1
�

� 5��~562�R��t�^"�"��t�u������$&�U��HJ��� � ����FJ��Q M #%��F�Wlo�A£¯�_6(�W � A � _u����������HO�t'���Fp$&H\���n$\��'��|����FbK�H\' � ����$&�;������ � F\Q M "���FJF\��F�A �

���������
	��
	

	 #�
 ���B?)�L;P�
�������
(P,G, I)

������f���m���������m�H\#+� j A�CE#%F~GBH\��KL��" (G, P, I ′) j ��$ GI ′x : ⇐⇒ xIG
M ����N%$�3+S�:+9�5^,/.10�243156.106R = 7/S�T = S17�m�� (P,G, I)

A
� 9 ���D� q #7�"O�\��"#$JL#D� Wph�_tC^��������#+"��-f���m���������m�FJ$\H\����$\��H���������FU���e#+H ��KL����Q���"�FU��FJ$ta!��������H^�����P���e#+H �
KL����Q���"lA
Wlo�_OC^���-���*#+"���f���m���������m�FJ$&HJ����$&��H!��'+��Wph+A�h%A�hi_~��FJ$!�%������f���m���������m�H\#+� j W4m%A£kUA

@ 3, 5
_6A

W � _OC^���-���*#+"���f���m���������m�FJ$&HJ����$&��H!��'+��W � A�h%A o�_~��FJ$ a!��������Ht��������K�HJ' � ����$\�����-s � �����%A

z #+"�"�F (G, P, I ′)
� � �����4#+"�"�F�������f���m���������m�H&#+� j ��Fp$ WZaO#%F �?AJ��A@����Q M $u����H z #+"�"1��FJ$�(%�*#U�����bs ����FJ$\����m�+'�� }��
��H � ������������F\�+��H&#%����� � ����Q M $��+��F\��Q M ��Hp$���Fp$/_6( � ����$&�6$ ��F FJ��Q M #+�[( � j � ��� I = ∈ #+��Q M

I ′ = ∈ a~� M "����Pm��P� ���������)(D���������*#+"���f���m���������m�FJ$&HJ����$&��Ht���������+����$tm���F\Q M H\��� � ���)d

hio



�1��$&m��
P̃ = G

( ∀x ∈ P : x := {G ∈ G ; x ∈ G} ����� G̃ :=
{
x ; x ∈ P

} A
CE#+������Fp$
(P̃ , G̃,∈)

����H!m��
(P,G,∈)

���*#+"���f���m���������m�H&#%� j A

suFt��HJ��� � $OF\��Q M �g'�"�����������Ht©[��F\# j|j ��� M #+����m�a!��F\Q M ��� P �����
P̃
d

f���m���������m�H&#%� j (P,G,∈)
���*#+"���H f���m���������m�H\#+� j (P̃ , G̃,∈)�
������$

x
����H\#+���

x����H&#+���
G

�u������$
G�
��H � ������������F\�+��H&#%��� x, y �1Q M ����$J$&K�������$ x∩ y = x, y��Q M ����$J$&K������n$ G ∩H �
��H � �����������+F\����H&#+��� G ∩H

f���F � ��F\'+������HJ��FJ������������kb����HJ� 	��^}��%'�"�"�������#+H � ������}��%'�K�������$&#+" � m��������*#+������H!���*#+"lA
� 9 ����� q #7,-#$&)>Z*��%NB� h+A!´ª���+���µW h�A � _-��� � $���F����¢����H����*#+"���� f���m���������m�Fp$&H\���n$\��H ��������F�f���m��­�������m�H&#+� j ��F M �1Q M FJ$\����F�������� �
��H � ������������FJ����H\#+���|m�a!��FJQ M ����m6a~���~�u�����n$\����� �*#+F��g'�"��%$
#%��Ft#+��F�W4f8hi_/A

o1A^�1���
(P,G, I)

������f���m���������m�H&#+� j AL����";$ |G| 6= 1
(*�*#%���P��FJ$�Wgfpo�_O#+��Q M ��� (G, P, I ′)

��HJ� � "�"�$�A
� A^�1���

(P,G, I)
������f���m���������m�H&#+� j A

(G, P, I ′)
��FJ$!f���m���������m�H\#+� j ⇐⇒ (P,G, I)

��FJ$ ����H&#+"�"���� j ��������HJ$\�EK�H\' � ����$&�;���-s � �����
Wg��������W4f8hi_ ⇐⇒ Wgf � _ ������Wgfpo�_ ⇐⇒ Wls � _J_6Aif���F � ��FJ'�������H\� ����"�$�d (P,G, I) ����� (G, P, I ′)FJ����� � ������������H\#+"�"���� j ��������Hp$&�EK�H\' � ���n$\���+��s � �������)(D'�����H � ������������Q M $eA

� 9 � X�� �)562
(P,G,∈)

562Z.[5u¦L7&>�
e58T = 2 ¡ 5!±O²656.[5 � 3�:+.*.�2�R = (G, P,3)
:+SD®8§�562Z.[5
¦L7&>�
e58T = 2 ¡ 5!±O²656<.[5

�
3+2?5t0�S

(P,G,∈)
���*#+"���s � ����� � �D2?5E§�: = 3+2?58R�569;²65 �O7J3+.*S�.1¥ �u2?5 (P,G)

�

� 5��~562�R��!´ª�������·' � ������Huk~� j ��H\�n�����|W � _���FJ$ �1��H^Wgf � _Im��·m����������)A*W4f � _I�g'�"��+$ ����H\����$�#+��FtW � A£¯�A£o�_/A´ª���+����W � A ¯�_OF\����������� �EH\���1���������P��"�����Q M A �

�U"�F ����H\���n$\� z '+"�����H\����� ��H\��� � $!F\��Q M ��#+F
� 9 �"� D[� 	 *%W+J"�L?R(7?)O�\�&I�"�%� �"\���±b7&R�5 = 0 = V·:+.�2Z. 562Z.[56V � � 7�:+9Z9�5-¦L78>�
e58T = 2 ¡ 56.�± ²656.[56.¢¥ � 9 = 2;¥156.��: = 0

� �Ev~S1.�T = 5�3+S�7&®8§ªxU567J:�3156. S1.L3 xU567\:�3156.w3+S�7&®8§�vbS�.�T = 5
� � ���L567�²�2Z.L3156. �U3+S�7&®8§ ���)®8§1.[56243156. �!S�.L3 ���)®8§1.[56243156. �t3+S�7&®8§ ���L567�²�2Z.L3156. �

R�>�567&§ ¤ 9 = V·:+. �u2?5\31567�562Z.[56. ��: = 0 � 31567 � � 7�:+9Z9�5O¦L7&>�
e58T = 2 ¡ 56.P±O²656.[56.�¥+2Z9 = �
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zI� H ���������{����H\KL��H K
a!��HJ� ����H�©[��F\# j·j ��� M #+��� m�a!��FJQ M ��� AG(2, K)

�����
(P,G) =

PG(2, K)
����$&��H\FJ��Q M $eA!����� A := (0, 0, 1) + (1, 0, 0)K + (0, 1, 0)K

A�©[��F&# j·j ��� j ��$�����H
��� "���Q M ��� ����H&#+������FJ$\H\����$\��H ��FJ$ (A,GA)

������� #%¶·��� s � �����%A`k~�6$&H\#+Q M $&� �����¬� ��� ��"��������
ι : A → P ; x 7→ xK

([�������u������$&��#+��F
A
#%�����u������$&� #%��F

P
����� ���n$\F\K�HJ��Q M �����¢����H&#+�����#%���b����H&#+�����w# ��� ��"�����$�d z�� H G = a + bK ∈ GA

����"�$
ι(G) = aK + bK ∈ G

([#%"�F\'|��Fp$
ι(G)����Hb�+'��

G
��HJm������+$&��o������ j ����F\��'��*#+"���W4�*# a, b "�������#+H
���*# ��M �+����������� K3 _ �t�n$\��Hp������$\'�H\H\#+� j����F

K3 A
ι
��Fp$�����Q M $�F\��H � ����$\���L( ������� �u������$\� (a1, a2, 0)K ∈ P

"����������
����Q M $�� j k~��"��)A+CU���!k~��"�����H ����H
��� A K*#%H&#+"�"���"���������H&#+����� a+bK

(
c + bK

F\Q M ����������� FJ��Q M ��� (b1, b2, 0)K
(O��� j ����$&FJK�H\��Q M ����� ��FJ$

F := (1, 0, 0)K + (0, 1, 0)K ∈ G
����� z ��HJ������H\#+���E��� PG(2, K)

A
´µ��H��n��$\m������������U'+�n�+����$&��'��)( �������t'�'�HJ������#%$&��� #+"�F

(x0, x1, x2)m�� � ��m�����Q M �����[(L�����cK�H\�+m���F\����H\����������' � �����Ef������+A
x2

x1

x3

� 9 �"�V����F@WQ?R�*���)562
K
562Z. ��� 7�¦*567

� (P,G) = PG(2, K)
S�.L3

(A,GA) = AG(2, K)
� ��� 7�3+2?5

³�²�²�2Z9;3+S1.1¥
ι : A→ P ; (a1, a2) 7→ (1, a1, a2)K �

¥156.L:+.*. = �@#+��'�����FJQ M �-su��� � �6$\$\����� � ¥+2Z9 =��
� ���

ι
2�R = 2Z. 
e58T = 2 ¡ �

� .[� ∀a, b, c ∈ A
¥+2Z9 =��

a, b, c
R62Z.L3�T�>@9Z9Y2Z.[5\:+7 ⇐⇒ ι(a), ι(b), ι(c)

R62Z.L3�T�>@9Z9Y2Z.[5\:+7 �
� 9[� �)562

P̃
31567c¦L7&>�
e58T = 2 ¡ 5�³�²6R�®8§19YSnR8R ¡ >@. A

� ��S17&®8§
ι̃([bK]) := (0, b1, b2)K

� � 7�:+9Z9�5
b ∈ K2 \ {0} �u2Z7J3µ562Z.[5 � >@7 = R�5 = 0�S1.1¥

ι̃ : P̃ → P
315��
.*2?567 = � :+9£R�>

ι̃ A = ι
�
�
3+2?5

562Z.�,8R�>@V`>@7 ¦*§12�R6V S�RE2�R = �
� 5��~562�R��^©[� � ����� j �
����$&'�H

x = (x1, x2) ∈ A = K2 � ��m�����Q M ��� x′ ����� �
����$\'�H (1, x1, x2) ∈
K3 A
W hi_ �����

a, b ∈ A j �;$

ι(a) = ι(b) =⇒ a′K = b′K =⇒ a′ = b′λ =⇒ λ = 1 (
a~�������

a′0 = b′0 = 1)

=⇒ a′ = b′ =⇒ a = b.

Wlo�_�}
=⇒ � dD��������� a, b, c ∈ A

�+'+"�"������e#%H~����������H\FJQ M ���������)(��*#+����� ����FJ$\����Hp$ λ ∈ K j ��$

c = a+ (b− a)λ = a(1 − λ) + bλ =⇒
c′ = a′(1 − λ) + b′λ =⇒ c′K ⊆ a′K + b′K =⇒ ι(c) ⊆ ι(a), ι(b),

�����
ι(a), ι(b), ι(c)

FJ�������%'�"�"�������#+H�A
} ⇐= � dI��������� ι(a), ι(b), ι(c)

�+'�"�"������e#+H�( �*#+���ª��� � $���F µ, λ ∈ K j �;$ c′ = a′µ + b′λ.
suF

�g'+"��+$
µ + λ = 1,

�������
a′0 = b′0 = c′0 = 1.

�1' j �;$ c = a(1 − λ) + bλ = a + (b − a)λ
�����

a, b, c
F\�������+'�"�"������e#+H�A

h �



W � _
ι̃
��FJ$ � � H!#%"�"�� p ∈ P̃

���6¨*������HJ$�(*�������
[bK]

����H\Q M "��+���Z$t#+"�"����I#+H&#+"�"���"��n" #+FJF\������'�� A A
ι̃
��Fp$!��� � ���n$\���LdD�����

ι̃([bK]) = ι̃([cK]) j �;$ b, c ∈ K2 \ {0} (*�)A M A (0, b1, b2)K = (0, c1, c2)K.C^# M ��H �+��"�$ bK = cK,
#+"�F\'

[bK] = [cK]
A�C^����#+������H\��� z �+"�"��|����"�$\���¢ab������� Wphi_�����������HCU��¨*���;$&��'��)A

ι̃
��Fp$!F\��H � ����$&�;��dL�1���

aK ∈ P
A

h+A z #%"�"?d a0 = 0
ADCE#+��������"�$

ι̃([(a1, a2)K]) = aK
A

o1A z #%"�"?d a0 6= 0
ADsuFt�+��"�$

ι(a1a
−1
0 , a2a

−1
0 ) = (1, a1a

−1
0 , a2a

−1
0 )K = (a0, a1, a2)K = aK

A
ι
��FJ$b�U'+"�"������e#@$&��'+�)d��1�������

a, b, c ∈ P̃
�+��HJF\Q M ��������������� � ��m�����Q M ��� F ����� z ��H\������H&#+���!�+'�� P̃ A}

=⇒ � dD��������� a, b, c �%'�"�"�������#+H�Ah+A z #+"�"ld a, b 6= F
������'�s A

a, b ∈ A
A z #+"�"�F c ∈ A

�g'�"��+$�������k~� M #%��K�$&����� j �;$�W?o+_6A z #+"�"�F
c ∈ F

(*�)A M A

c =
[
a, b

]
= [a + (b− a)K]

!
= [(b− a)K] =⇒

ι̃(c) = (0, b1 − a1, b2 − a2)K = (b′ − a′)K ⊆ a′K + b′K = ι(a), ι(b)

�����
ι̃(a), ι̃(b), ι̃(c)

F\�������+'�"�"������e#+H�A
o1A z #+"�"?d a, b, c ∈ F.

C^#+��� �+��"�$
ι̃(a), ι̃(b), ι̃(c) I

(
(0, 1, 0)K + (0, 0, 1)K

) (P#%"�F\'{F\�����
ι̃(a), ι̃(b), ι̃(c)

�+'�"�"������e#+H�A
} ⇐= � dD��������� ι̃(a), ι̃(b), ι̃(c) �+'�"�"������e#+H�Ah+A z #+"�"?d ι̃(a), ι̃(b) 6= (0, 1, 0)K + (0, 0, 1)K.

CE#+��� ����";$-'�s A
ι̃(a) = a′K, ι̃(b) = b′K

�����
ι̃(c) = (a′λ+ b′µ)K

A
z #+"�"�F λ = −µ �+��"�$ ι̃(c) = (0, b1 − a1, b2 − a2)K

�����
c = [(b − a)K]

��FJ$ z ��HJ��K�������$-����H����H\#+�����
a, b

���
P̃
(*�)A M A a, b, c F\�����P�%'�"�"�������#+H�A

z #+"�"�F λ 6= −µ '�s A λ+ µ = 1
WgF\'���FJ$ � ���������+�����������6$UFJ�@#+"�����H\���D_6(�#+"�FJ'

ι̃(c) = (a′λ+ b′(1 − λ))K = ((a′ − b′)λ+ b′)K =⇒ c = (a− b)λ+ b

�����
a, b, c

FJ�������+'+"�"������e#%H�A
o1A z #%"�"?d ι̃(a), ι̃(b), ι̃(c) I (

(0, 1, 0)K + (0, 0, 1)K
) ADCE#%���PFJ�����

a, b, c ∈ F
�+'�"�"������e#+H�A

�

�1���
(P,G) = PG(2, K)

A � #+����������$ (a0 : a1 : a2)
§*>@V`>\¥156.[5 � >�>@7\3+2Z.L: = 56. ����F��u�����n$\��F

aK ∈ P
AuC^����su"�� j ���n$\� a0, a1, a2

FJ�������n��H � ��F #+��� �^����";�4#+Q M ��W 6= 0
_�#%��F

K � ��Fp$&� j·j $�(�[A M A ∀λ ∈ K \ {0} : (a0 : a1 : a2) = (a0λ : a1λ : a2λ)
AOf j z #%"�" a0 6= 0 � ��m�����Q M �����$

(a0 : a1 : a2)
�����¢}�#%¶·�������u������$ � (a1a

−1
0 , a2a

−1
0 )
(I� � H a0 = 0

����� z ��H\��K�������$�����H#@¶|�����y����H&#+�����
(a1, a2)K

A C^��H #%¶·�����u������$
(a1, a2) � ���+' j·j $�����$&��H ����H��@#+��'+����FJQ M ���su��� � ��$J$&����������� M ' j '��+���������U'1'�H\�����*#%$\��� (1 : a1 : a2)

A � #+����������$ (a1, a2)
#+��Q M ������2Z.*<§*>@V`>\¥156.[56. � >�>@7J3+2Z.L: = 56.ª����F-�u������$\��F

(1, a1, a2)K
Ark~�e#%Q M $\�PW a0 : a1 : a2) 6= (0 : 0 : 0)

(
�������

a = 0 =⇒ aK 6∈ P
A

h �



q #$�"O�\��"#$J �
(1 : 2 : 3) = (2 : 4 : 6)

A
� 9 �"�$.�� �)562

(P,G) = PG(2, K)
S1.L3

F ∈ G
� ��:+.*.�2�R = 3+2?5�:J°�.[5U±O²656.[5

(PF ,GF )
� R62?58§*5

��� � � ��� 2�R�>@V`>@7�¦*§·0�S
AG(2, K)

�

� 5��~562�R��!´¬� M "��u��������kO#+F\��F ��' j K3 (
b1,b2 ∈ F

(
b0 ∈ K3\F Aik~��m � ��"���Q M ������F\��HIk~#+F\��FB"������+$���������;$&�*#@$&��'+��#+��F-W � A�h+h�_b��'+H�A*suF � "���� � $ m���m����������)(���#+F\Ft�U'1'�HJ�����*#@$&����$\H&#+��Fp�g'�H j #%$\��'������`���������' j �6$&H\���b����Q M $u�+������HJ�)(%�+���*#+����H�d K3 → K3; x 7→Mx

��������m�����Hp$������������^��$\' j '�H\K M ��F j ��F�+'��
PG(2, K)

� � H!#+"�"�� M ∈ GL(3, K)
A*CE#+F ab��H\�����Pa!��H ������#+K��;$&��")¯�FJ� M ���)A �

� 9 �"�$9�� q #$,[# &)>Z*���Nr�-�����
K
����� � ��HJK���H`�����

V
�����

K
� �
���n$\'�H\H\#+� j j �;$ dimV = 3

A
C^#+������H M �+"�$ j #+����������K�H\' � ����$&�;����s � ����������H\Q M
P := {aK ; a ∈ V \ {0}} , G := {aK + bK ; a, b ∈ V

"������e#+HO���*# ��M �%������� } , I :=⊆ .

�U#%$ � H\"���Q M ��FJ$ (P,G)
��F\' j '�H\K M m�� PG(2, K)

A*CU��H\Q M ´ # M " ��������H!kO#+FJ��F ab��H\����� M ' j '+��������t'�'+H\�����*#%$&�����g��FJ$\����"����+$�A

� � ����� ��� 	��
	
	 �
	�� �����
� � � ��� 	�� ����	������ ����� ��� 	������ ����� �
	 �
	

�U#+Q M Wlo�A£o1A � _O��� � $!��FUm�� � ����� j ����H\KL��H!�������-#%¶·���-s � ����� AG(2, K)
�����P�*#+Q M W � A;h�hi_O�������m������ M ��H\�����~K�H\' � ���n$\���+�!s � ����� PG(2, K)

( � ������� j ��$ ��HJ���n����� |K| A zI� H � ����� �uH\� j me# M " p ��FJ$
GF(p) := (Zp,+, ·)

������� �+H\KL��H�A z�� H � ������F n ∈ N
" �+FJFJ$!FJ��Q M Zp

m���������� j ����H\KL��H GF(pn)
j ��$ pn su"�� j ����$&���y��Hpa~����$&��H\�)AbC^����F\��H|��FJ$·F\'+��#+H � ��F·#+����f�F\' j '�HJK M ����������������$\��� � ��FJ$&� j|j $W4k~��ab����FU��������H!�^"���� � H&#�_/A
� 9 �"�'E)� q #$�"O�\��"#$J � F
>
�"�'�'#��i��C^#+F �I'+" �1��' j x2 + x + 1 M #%$��+������� �t��"�"�FJ$&��"�"��·��� K = Z2

A
kb��m�����Q M ��� τ ������� �t��"�"�FJ$&��"�"�����'�� x2+x+1

Wl#+"�F\'
τ 2 = τ+1

_6AiCU��� � ������� GF(4) := Z2+Z2τ
� ��"�����$���������� � �+H\KL��H j �;$������ � s
"�� j ����$&��� 0, 1, τ, τ + 1

�����¬�g'�"��+��������H�� �����;$&��'+�¬�����
� ��"�$\��K�"����@#%$&��'��

(a + bτ) + (c+ dτ) := (a+ c) + (b + d)τ

(a+ bτ)(c + dτ) := (ac+ bd) + (ad+ bc+ bd)τ.

zI� H!������f�������H\FJ��� ����"�$
τ−1 = τ + 1

�����
(τ + 1)−1 = τ.

zI� H K = R
��HJm������+$U�*#+Ft�I'�" �1��' j x2 + 1

#%����������FJ�-´ª����F\������� � �+H\KL��H
C
����H!�+' j K�"��������©)# M "����¢W j �;$ ����H �t��"�"�FJ$\��"�"�� i _/A

� 9 �"�$Y�� q #$,[# &)>Z*���Nr� h�AtC^��� � ��"�$\��K�"����@#%$&��'�� ��HJ��� � $~FJ��Q M ����HJQ M ����Fp$&HJ� � ��$\���+��F��^��F j ��"�$\��K�"��;�m�����H\���¢����H��1� j|j ���[(I�������^��a~���������y����H�GI#%$&F\#+Q M �+(I�*#+FJF τ �U��"�"�FJ$\��"�"�������F�������� � ��������B'�" �1��' j F ��FJ$eA

h�¯



o1A�� j ������"���Q M ��� �+H\KL��H j �;$ p2 � m�a�A p3 su"�� j ����$\��� m�� �+'���FJ$&HJ������H\���)(��@#+��� j #%�P���n$\F\K�HJ�6�Q M ����� �+'�H\��� M ���[d z �������P����� �B'�" �1��' j �+' j ��H\#+�
2 � m�a�A 3

' M ��� �t��"�"�FJ$&��"�"�������� Zp

(
� ��$\H&#+Q M $\� Zp + Zpτ � m6a�A Zp + Zpτ + Zpτ

2 ��Fpa�A
zI� H pn, n ≥ 4, j ��FJFt��#+Ft�I'�" ����' j }���HJH\������m�� � ��" � F\�����)A

� Atf�Fp$
K = GF(q)

� � HU���������
HJ� j me# M "�KL'+$&����m q = pn (DF\'�FJQ M H\��� � ���ca!��HUFp$8#%$J$ AG(2, K) =
AG(2,GF(q))

#+��Q M � � HJm���H AG(2, q)
A�s
��$\F\K�HJ��Q M ����� FJQ M H\��� � ��� a!��H PG(2, q)

FJ$&#%$\$
PG(2,GF(q))

A
� 9 �"�$8����Z;�JLN�# &<*���Nr� ��� 7 
e5\315 v~7/2ZV-0�:@§19

p
S1.L3w:+9Z9�5

n ∈ N
¥+24² = 58R`:J°y.[5·S1.L3·¦L7&>�
e58T = 2 ¡ 5±O²656.[56.�31567 �O7J3+.*S1.1¥

pn �
5 = ��:

AG(2, pn)
²80�� �

PG(2, pn)
�

� 9 �"� �D��F@WQ?R� � q &<*�G)>������%O�# &��i��xO24² = 58R � � 7
q ∈ N

V 2 =
q ≡ 1 mod 4

>�31567
q ≡ 2 mod 4562Z.[5 ¦L7&>�
e58T = 2 ¡ 5�±O²656.[5 (P,G)

V 2 =
ordP = q �

R�>·2�R =
q
3+2?5 �DS1V V`5^0��~562?567	�OS�:�3+7\: = 5 � 3 �;§ �

∃a, b ∈ N0
V 2 =

q = a2 + b2
�

� 5��~562�R��^����� M ���6$�aO#·��� �U��� M ��F�
+�u��KL��H
�£o��?A
�

� 9 �"� ����F@WQ?R�*��±
R^¥+24² = T�562Z.[5O¦L7&>�
e58T = 2 ¡ 5^± ²656.[5-31567 �O7J3+.*S1.1¥ q ≡ 6 mod 8
�

� 5��~562�R��^�����
a ∈ N

����F\Q M HJ��� � ���P#+"�F a = 4m+ r j �;$ r ∈ {0, 1, 2, 3} A�CE#+������Fp$

a2 = 16m2 + 8mr + r2 = 8m′ + s j ��$ m′ ∈ N
�����

s ∈ {0, 1, 4}.

zI� H a, b ∈ N
����";$�#+"�F\'

a2 + b2 = 8m′′ + t j ��$ m′′ ∈ N
�����

t ∈ {0, 1, 2, 4, 5} A)�����
�n���
q ≡ 6 mod 8

(*�*#+�����g'�"��%$ ∀a, b ∈ N0 : q 6= a2 + b2
ADsuFU����"�$t# � ��Ht#+��Q M q ≡ 2 mod 4

�����
j ��$�W � A;h 
+_~�g'�"��+$ �*#%���)(*�*#+FJF!��F!�+�������-K�H\' � ����$&�;���-s � ����������H �EH\���n����� q ��� � �����@#+���)A �

�U��F�W � A;h�¯�_~����� W � A;h 
�_b�g'�"��+$!#+��Q M W4Fp$&��Q8�n$^# � ��H!� j k~��ab����F ��'�� W � A;h 
+_J_
� 9 �"�$X���F@WQ?R�*���*5\315�vb7/2ZV-0�:@§19

p ≡ 1 mod 4
2�R = 3+2?5 �DS1V V`5^0��~562?567	�OS�:�3+7J: = 5��

�

� 9 � .+D[� q #$,[# &)>Z*���Nr� h�A z ��H j #@$��8d z�� H � �����-�uH\� j me# M " p 6= 2
����";$ed

p
��FJ$U�1� j|j �Em6a~������H��E�*#+��H\#%$&�·WgF\'���#+H ������������$&����_ ⇐⇒ p ≡ 1 mod 4

A
f���F � ��F\'+������HJ��FJ�������uH\� j m�# M "���� p ≡ 3 mod 4

����Q M $^��� j·j ��m6a~������H��E�*#+��H&#%$\�+A
o1AUCU��H|��#%$\m��+'��yk~H\��Q8����� �1F\��H � ��� �+$&���+$ �����yFJ'���A �E����H �1��#+��H&#@$&��F\#%$&m��+'�� �r#+�+H&#+���+���e( ����H
� ��F\#+�+$�(*�*#+F\F � �������*#%$ � H\"���Q M �-©)# M " ��� j·j �E�1����H\��H��E�*#%��H&#%$\me# M "�������FJ$eA

� At�U"�"�� � ���@#+����$&���cK�HJ' � ����$&�;�����cs � ������� M # � ���P#+"�F ��HJ���n�����·�������-�
HJ� j me# M "�KL'+$&����m+A
�������! " #�%$��%&'�! "(*),+.-�/102-435-�/1/�6
7�819�:;�!<'=�>?91@'�A:�>?)1B1 C)ED'B��F-�GEH1/,35-!I2-!H

h 




� A �t� � ������� j ��#%$&mE�+'�� k~HJ��Q8��� ���1F\��Ht��� � $ ��Ft������������m����+��F �U��Q M $&������FJ$&����m���H\��� � ����F�d
� ��$ �U��";�g� ��������F��~' j K���$&��H\F�a!��H\���|����m������%$e(r�*#+FJF���F��+�������`K�H\' � ���n$\���+��s � �����`����H �EHJ����n�����

10
��� � $eA

� A zI� H��uH\� j me# M "�KL'+$&����m���� q
��� � $ ��F·#+��Q M k~����F\K�����"��`��'+�yK�HJ' � ����$\������� s � �������)(
�����`����Q M $����� z '�H j PG(2, q) M # � ����������m�� j k~����FJK�����" j �;$ z #+Fp$&� �+H\KL��H\���*#%H\����FJ$&��"�";$Oa~��H\�����)ALC^��H�n"�������FJ$&����Q M $&� z #+Fp$&� ��H\KL��H M #@$ ��su"�� j ����$&�+A � � M H!�*#+m��P� j �*�%Q M FJ$\��� ��#+K���$&��"?A

zI� H!����������� �EHJ���n���������P��FJ$!������s ����Fp$&����m��gH\#+������������H K�HJ' � ����$\������� s � ������#+"�FJ' �����n"��+HJ$�d

�EHJ���n����� o � � � ¯ 
 � � h�� h+h h�o h � h � h �
s ����FJ$\����m ����A ����A � �[A ����A � �[A*�[A ����A ����A � �[A ����A*�)A ����A � ����A � ��AL�[A �

k~��ab����F
pn pn pn pn W � A;h 
+_

pn pn pn �����	��

����� pn �
pn W � A;h 
�_ �

h��



� � ������� ��������� 
�
r� �%��� ����� � � � ��������� �%��
Z�����������

C^#+F ©[����"�������FJ��FB� � FJQ M ���;$\$&FB��Fp$B��F�(@#%¶·����s � �������)(%�����um���������� j AG(2, K)
��FJ' j '+H\K M F\�����)(�m���%������m�����Q M �����)A � � ab' M "�©[��F&#@$&m�����������F\Q M #%�Z$&���)(+�����~������FI"�����FJ$\���)(i����� � M #+H&#%�n$\��H��+'���� ����' j ���

M # � ��� F\K�H\��Q M $ j #+� j ����Fp$��+'��ª}p�1Q M "�����N�������F\F\�%$&m���� � A~WlsuF�FJ����� � #c���%$\m��+(B�����|��� AG(2, K)�+��"�$\���)A£_Isu��$&FJK�H\��Q M �������U�U��F\F\#+����� ��H M �+"�$ j #+���*#+��� ��#%$ � HJ"���Q M #+��Q M � � H�K�HJ' � ����$&�;��� s � �������)A

� �
� �����	��� 	�� � � � 	 	 � ��	 ��� 	 �
	 ��� �
	��
	

	 #�
 ���B?)�L;P�
��C^���E#%¶·���^s � ����� (A,G) M ����N+$E3158R�:+7?¥+S*58R8R�®8§[(nab�������*#+F~�g'�"����������E³ ��2?>@V ¡ >@.��58R�:+7?¥+S*58R�
!��HJ� � "�"�$ ��FJ$edW4�^C�_ z�� H i ∈ {1, 2, 3} F\������� Gi ∈ G
����H\FJQ M ���������·# � ��HI�+'�K��������$8#+" j ��$ z ∈ Gi

A z�� H ����H\F\Q M ����������� ai, bi ∈ Gi \ {z}
����"�$\�

�*#+���)d

a1, a2 ‖ b1, b2 ∧ a2, a3 ‖ b2, b3 ⇒ a1, a3 ‖ b1, b3.

G1

G2

G3

a1
a2

a3

b1

b2

b3

z

´µ��H � ��� �+$\����������������'+H � ��H\����$\��������F � � j|j #�A� EB�"��� ��2Z7�²65 = 7J:1®8§ = 56.
AG(2, K)

� ²6567�3156V ��� 7�¦*567
K
� �)562?56.

a, b, z ∈ K2 .*2?®8§ = T�>@9Z9Y2Z.[5\:+7cS1.L3 � � 7 λ, µ ∈ K \ {0} R�562?56.
xλ = z + (a− z)λ � yµ = z + (b− z)µ

� ��:+.*.�¥+2Z9 =��

a, b ‖ xλ, yµ ⇐⇒ λ = µ.

xλ

yµ
z

a

b

� 5��~562�R��
a, b ‖ xλ, yµ ⇐⇒ (b−a)K = (yµ−xλ)K ⇐⇒ ∃δ ∈ K\{0} : yµ−xλ = (b−a)δ A} ⇐= � dD����� λ = µ

(���#+��������";$
yµ − xλ = (b− a)λ

(D#+"�FJ'
δ = λ

A
}

=⇒ � d�f�FJ$ λ 6= µ =⇒ yµ 6= yλ

W j ��$ yλ = z+(b− z)λ _/A*CE#�# � ��H xλ, yλ = {xλ ‖ a, b} 6=
xλ, yµ

WZa~�������
z, xλ, yµ

����Q M $t�+'�"�"������e#+H&_�����"�$�(1�g'�"��+$ a, b ∦ xλ, yµ

A
�� EB� .���F
WQ?]�*� ��2?5�:J°�.[5 � >�>@7J3+2Z.L: = 56.[5�²656.[5

(A,G) = AG(2, K)
� ²6567�562Z.[56V ��� 7 ¦*567

K
2�R =

3158R�:+7l¥158R8R�®8§ �
� 5��~562�R��tf�������H-�1��$&��#%$&��'���W4�^C�_E����";$

bi = z + (ai − z)λi j �;$ λi ∈ K∗ A�´¢�������yW � A�hi_ M #%$
j #+� a1, a2 ‖ b1, b2 =⇒ λ1 = λ2

�����
a2, a3 ‖ b2, b3 =⇒ λ2 = λ3

ArsuF��g'�"��+$E�*#%$ � H\"���Q M
λ1 = λ3

������ab���;$&��H�W j �;$-W � A�he_\_ a1, a3 ‖ b1, b3
A

�� EB� 9�� q #7�"O�\��"#$J �EC^��� ��>@S�9 = >@.*<?±O²656.[5 Wg�1��"?A � � ������F\#+���g��# � � � _ M #@$������c�u������$ j ������� R2�����P�����E�g'�"����������-����H&#+����� j ������� G
d[©[�

m, c ∈ R
F\���

〈c〉 =
{
(x1, x2) ∈ R2 ; x1 = c

} �����

〈〈m, c〉〉 =

{
〈m, c〉 = {(x1, x2) ∈ R2 ; x2 = mx1 + c} � � H m ≤ 0{
(x1, x2) ∈ R2 ; (0 ≥ x2 = mx1 + c) ∨ (0 < x2 = 1

2
(mx1 + c))

} � � H m > 0
��
 �� C)E C$�� �!:#)E #B1@'��: -�6��2-��C-!/�/'-

h��



´ª���;$&��H F\���
G = {〈〈m, c〉〉 ; m, c ∈ R} ∪ {〈c〉 ; c ∈ R} A�CE#+������Fp$

(M,G)
������������Q M $t����F&#+HJ����FJF\Q M ��#%¶·���-s � �����+A x1

x2

� 5��~562�R � ��T@2;080@5 � �
(R2,G)

��FJ$E#%¶·��� s � �����+duW4f8hi_/d[k~�6$&H\#+Q M $&� �������u������$&� a 6= b ∈ R2 Wg'�s A
j ��$ a1 ≤ b1

_/A �t��Ht����H z #+"�" (a1 < b1) ∧ (a2 ≤ 0 < b2)
ab����Q M $U��' j � � "���Q M ���c# � A�����F\��Q M $��FJ$

G = 〈〈m, c〉〉 (�FJ'|�*#%F\F a, b ∈ G
A*�^"�F\'

a2 = ma1 + c
2b2 = mb1 + c

}
⇐⇒

{
m = 2b2−a2

b1−a1

> 0

c = a2 −ma1�����
G
��FJ$!FJ' j �;$ ������������$&��� � ��Fp$&� j|j $�AWgfpo�_O�����¢Wls � _~FJ�������n" #+H�A

W4��_6d � #+���@#+����m����������)d 〈〈m, c〉〉 ∩ 〈〈m′, c′〉〉 = ©" ⇐⇒ m = m′ A
� 	�����FJ��Q M $&"���Q M ��FJ$ ��������H~��� � ����Fp$&� M ��������� z ������H^W4�^C�_~����Q M $ ��Hp�� � "�"�$�A

x1

G1x2
G3

G2

z

�

� EB� E)� �)562
(A,G)

562Z.[5�3158R�:+7l¥158R8R�®8§*5-:J°�.[5E±O²656.[5�� �-:+.*.�¥+2Z9 =��
� ����W4� �*_ � �i�1"���������H CU��F&#%H\������F � � ��� 7

i ∈ {1, 2, 3} R�562?56. Gi ∈
G
¦�:+7J:+9Z9�569ES�.L3 ¡ 567&R�®8§12?5\3156. � �·562 = 567P¥1569 = 5 ai, bi ∈ Gi

�
��:+.*.

a1, a2‖b1, b2 ∧ a2, a3‖b2, b3 =⇒ a1, a3‖b1, b3
�

G1

G2

G3

b1

b2

b3

a1

a2

a3

� .[��W4�^C��£_ � ��� j �+� M H\����������FEC^��F\#+H\������F � � �)562?56.
a1, a2, a3, b1, b2, b3 ∈ A ¡ 567&R�®8§12?5\3156. � R�>3�:@R8R �~5\31567

a1, a2, a3
.[>�®8§

b1, b2, b3
T�>@9Z9Y2Z.[5\:+7�R62Z.L3¢S1.L3 � � 7

i, j ∈ {1, 2, 3}, i 6= j,¥1569 = 5
ai, aj‖bi, bj

� ��:+.*. 2�R = {
ai, bi ; i ∈ {1, 2, 3}

} 562Z.[5 �ª56.1¥15 ¡ >@.ª¦�:+7J:+9Z9�569�56. >�31567T�>8¦LS1.�T = :+9�56.�xU567J:�3156. �
� 9[� � ��Q M ��H\����F&#%$\m�� �)562?56.

G1, G2 ∈ G
S1.L3

a1, a3, b1, b3 ∈ G1 \G2S1.L3
a2, a4, b2, b4 ∈ G2 \G1

����:+.*.�¥+2Z9 =��

∀i ∈ {1, 2, 3} : ai, ai+1‖bi, bi+1 =⇒ a1, a4‖b1, b4.

G2

G1

a1

a2

a3
b1

b2

b3

b4

a4

� 5��~562�R���Wph�_OC^��� �
'�H\#+��FJF\��$\m������`� j K�"���m�����HJ���)d
∃i ∈ {1, 2, 3} : ai = bi =⇒ ∀i ∈ {1, 2, 3} : ai = bi.C^# M ��H�� ��������� a!��H ∀i ∈ {1, 2, 3} : ai 6= bi

#+����� M�j ���)A ��s!ABF\�������¢a~������H a1, a2, a3
��'�Q M

b1, b2, b3
�%'�"�"�������#+H�Wl#%��F\'���FJ$&���P��FJ$!�������^��FJF&#+����$\H\���1��#+"Z_/A

�1��� �n���
G = {b1‖a1, a3}

(*�*#+����� ����FJ$\����Hp$
b′3 := G ∩ b2, b3

Wgab����"
a1, a3 ∦ b2, b3

_6A��^��������' j �
j ��� b3 6= b′3

(*�*#+����������FJ$&����Hp$
z := a3, b

′
3 ∩G2

�����
a′1 := a1, a2 ∩ z, b1

Wgab����"
a1, a2‖b1, b2

_/A
suFt����";$

a′1, a2‖b1, b2
(
a2, a3‖b2, b′3

(D#+"�FJ'��g'+"��+$ j ��$�W4�^C�_6d

a′1, a3‖b1, b′3‖a1, a3 =⇒ a′1, a3 = a1, a3 =⇒ a′1 = a1

Wg�������
a1 = a1, a2 ∩ a1, a3 = a1, a2 ∩ a′1, a3 = a′1

_/()�*# M ��H z ∈
a1, b1 = G1

A�´ª���+���
z ∈ G2

a!������H\FJK�H\��Q M $���#+F ����H �U���*# M�j �
G1 ‖ G2

�����
G1 6= G2

A

G1

a’1

a1

a2

a3

b1

b2

b3

b’3
G3

G2
G z

o �



Wlo�_ z #+"�"�F^� � H������ª��#�#+H i, j j ��$ i 6= j
����"�$

ai, bi = aj, bj
()F\'���Fp$�����Q M $&F�m��ªm������+���)A f j #%�������H\��� z #+"�"
F\��������� � H i ∈ {1, 2, 3} a~��������Fp$&����F�m�ab��� ai, bi
����Q M $�K*#+H\#+"�"���"UW4FJ'���FJ$·��FJ$�� � ������4#%"�"�F�����Q M $&F�m�� m������+���D_/(U#%"�F\'�'�s A z = a1, b1 ∩ a2, b2

AtsuFc����"�$
z 6= a3, b3

Wg������� F\'���FJ$
a1, a3 = b1, b3

� ´µ������HJF\K�HJ��Q M _/A
����� b′3 = z, a3 ∩ b1, b3
Wg�����;�

Fp$&����HJ$�(D�*#`#+��F\'���Fp$&���
z ∈ a1, a3 =⇒ b1, b3 = a1, a3

� ´µ������Hp�
FJK�H\��Q M _6A1C^���U�u�����n$\� a2, a1, a3, b2, b1, b

′
3

��Hp� � "�"���� ����� �
'�H&#%��F\FJ��$J�m�������������'��¬Wg�EC�_/( #+"�F\' ����"�$
b2, b

′
3‖a2, a3‖b2, b3 =⇒ b2, b

′
3 =

b2, b3
�����

b′3 = b1, b3∩ b2, b3 = b3
(�����F � ��FJ'�������H\�t����";$ z ∈ a3, b3

A

a1
b1

a2

a3

b2

b’3

b3

z

W � _�f j z #+"�" a2, a3‖a1, a4∧b2, b3‖b1, b4
�g'�"��+$

a1, a4‖b1, b4
����H\����$e(

#%"�F\'��@#+���y'�s A
a2, a3 ∦ a1, a4

#+��������' j·j ����ab��HJ�����)A~�����^#+"�F\'
p = a2, a3∩a1, a4

A%´¬� M "�� G3
����HJQ M p (+F\'���#+F\F!Wg�EC�_�'1����H W4� �*_����$&FJ$\� M $eALf�������� � � ����������a!��HJ������Htk~�6a~����F!a~����$&��H\���6� ��M Hp$eA

a3

G3

G2

G1

a2
a4

b2
b4

a1 b1 b3

z p �

	 #�
 ���B?)�L;P�
��C^����#%¶·����s � ����� (A,G) M ����N+$�¦�:6¦�¦LS�R8R�®8§)(Ba~�����y��#+F��g'�"��+��������³ ��2?>@V ¡ >@.vO:6¦�¦*>�R��^��HJ� � "�"�$O��FJ$�dWg�E��_����������
G1, G2

����H\F\Q M ����������� ����H&#+�����µ����� a1 . . . a6
�+��Hp�

F\Q M ��������� j �;$ a1, a3, a5 ∈ G1\G2
�����

a2, a4, a6 ∈ G2\G1
A

CE#+���
a1, a2‖a4, a5 ∧ a2, a3‖a5, a6 =⇒ a1, a6‖a3, a4

A
G1

G2

a1
a3

a5

a2
a6 a4

� EB� Y���F
WQ?]� ��� #7O�O�#$�@5�# &<N �$XVD�Y��i��� �*5\315 ¦�:6¦�¦LS�R8R�®8§*5 :J°�.[5{±O²656.[5
(A,G)

2�R = 3158R6<
:+7l¥+S*58R8R�®8§ �
� 5��~562�R��^���������

G1, G2, G3 ∈ G
�+��H\FJQ M ���������c�������+'�K�������$8#+" j ��$ z = G1 ∩G2 ∩G3

AD���������
ai, bi ∈ Gi

a!���`��� Wg�EC�_��+����� � ���)Au©[� m���������� ��FJ$ a1, a3‖b1, b3
A ��s A�F\�������

a1, a2, a3
����Q M $�%'�"�"�������#+H�(nFJ'���FJ$~aO�+HJ�����*� j "���Q M b1, b2, b3 � � �����4#+"�"�Fb�%'�"�"�������#+H
��������F~aO�%H\�E����Q M $&FOm���m����������)A�1����� � ������� a1, a3, b1, b3‖G2

(bFJ' �g'�"��%$`����� k~� M #+��K�$&������( #+"�FJ'¢FJ���E'�s A b1, b3 ∦ G2
A~CE#+���

� ����FJ$\����H\�����������
������$&�

p = {a3‖G2} ∩G1 q = {a3‖G2} ∩ b1, b3 6∈ b2, b3 r = q, b2 ∩ a2, a3

Wg�������
a2, a3‖b2, b3 ∦ q, b2

_/ADCE# � ��� ����"�$ p, q 6= a3
WgF\'���FJ$

G1 = G3
_6(
r 6= a3

W4F\'+��FJ$
q = a3

_
�����

r 6= p
WgF\'���FJ$

p = r = a3
_/A �+��$\m�$ta!��HJ����H\��� j #%"uW4�^��_!#%������a~#+����$ed

h+A _ z�� H r, a3, q, b3, b2, z
#+���I����� ����H&#+�����

r, q
�����

G3
d

r, a3‖b2, b3, z, b2‖a3, q =⇒ r, z‖q, b3 = b1, b3
A

o1A _ z�� H r, z, b2, b1, q, p #+��� ����� ����H\#+����� r, b2 ����� G1
d

r, z‖b1, q, z, b2‖p, q =⇒ r, p‖b1, b2‖a1, a2
A

� A _ z�� H r, p, a3, a1, a2, z
#+���

a2, a3
�����

G1
d

r, p‖a1, a2, p, a3‖a2, z =⇒ r, z‖a1, a3
A

2G

a1

a2

b1

b3

3G

b2

a3

1G

q

p

r

z

� � )1<'<59�:���� )E<'<2@2:
	191D���
 ���')1D2$� #� )�� @'( H��10FD�����=' �� �
��
���� ��:":"� D��5�  #B�-�I�G! E35- �����

o�h



f���F\����F&# j $!�g'�"��+$ �*# j �;$ a1, a3‖r, z‖b1, b3
A

�

� EB� 8�� q #7,-#$&)>Z*��%NB� h+AtGI#%$\F&�+Q M "���Q M F\�����¢W4�ECE_6(BW4�^C��£_ �����P����HU��Q M ��H\����F&#%$\m����n���;�%#+"����n$�A
o1AUCU����K�HJ' � ����$&�;����� z #+F\FJ�����������+'���Wg�EC�_O����� Wg�EC��£_OF\������m��������*#+������H!���*#+"lA
� AUsuF ����"�$�������f j K�"����@#%$&��'���FJ�+��$J$&� W4�E��_-} =⇒ � W4�ECE_-} =⇒ � Wg� �D_���� 
����

=⇒ W4�UKD_�W?��KL��m�� #+";�4#+"�"
�+'��wWg�E��_ j �;$ G1‖G2

_6A � � W4�UKD_ } =⇒ � W4� �D_ ����"�$e(%��Fp$b'�	[���)A1C^��� ��� HJ��������f j K�"����@#%$\��'������FJ����������Q M $U� j �%� M H � #+H�ADC^#+FU��FJ$!����H\Q M ��������� � ����FJK�����"�� � ��"����+$�A
� AUCU��� � '���"�$&'+��� s � ��������Hp� � "�";$ ����Q M $�Wg�^KD_/(D#+"�FJ'��+��������Ft����H ������' j ��#+��F�W � _6A
� EB���D��F
WQ?]�*� ��2?5�:J°y.[5 � >�>@7J3+2Z.L: = 56.[5�²656.[5

(K2,G) = AG(2, K)
� ²6567�3156V ��� 7�¦*567

K
2�R =

¦�:6¦�¦LS�R8R�®8§|¥156.L:+SP3�:+.*.
�
�~56.*.

K
T�>@V V S = : = 2 ¡ 2�R = �

� 5��~562�R��!´ª�������¬W � A£o+_��+��"�$`Wg�EC�_/( #+"�F\'w#+��Q M W4�^K*_6AI´µ��H�� ��������������F��*# M ��H #%����W4�E��_ j �;$FJ��Q M F\Q M �����������������«����H&#%����� G1, G2 � ��F\Q M H\�+���%���)A^��������� z = G1 ∩ G2
�����

ai

a!���w���
Wg�E��_�������� � ���)Au©[��m�������������FJ$ a1, a6‖a3, a4 ⇐⇒ K

�%' j|j ��$8#%$\���LAr´µ��H � ���n��$\m���� W � A;hi_/A
∃λ, µ, ν, % ∈ K j ��$

a4 = z + (a2 − z)λ, a5 = z + (a1 − z)µ,
�����

a1, a2‖a4, a5 =⇒ λ = µ.

������#+��F\'

a3 = z + (a5 − z)ν, a2 = z + (a6 − z)%,
�����

a2, a3‖a5, a6 =⇒ ν = %.

�t��������";$ed

a3 = z + (a5 − z)ν = z +
(
z + (a1 − z)λ− z

)
ν = z + (a1 − z)λν

a4 = z + (a2 − z)λ = z +
(
z + (a6 − z)ν − z

)
λ = z + (a6 − z)νλ

�[A M A a1, a6‖a3, a4 ⇐⇒ λν = νλ
AtCE#

λ, ν ∈ K � ��"���� � ��������a~� M ";$�a~#+HJ���)( �g'�"��+$������kb� M #+��K�$&������A �

� ������� ��	 �
	�������� � � 	 � ��� ����� � ��� � � �
� � � ��� 	 � ����� �
	��
	

�1���
(A,G)

�������t����F&#+HJ������FJF\Q M �-#%¶·���^s � �����+A�CE#+F ©[����"*��FJ$e(1���������`� ��HJK���H K F\'�m����%'���FJ$\H\���
����HJ���)(*�*#%F\F

(A,G) ∼= AG(2, K)
�+��"�$�W � j �%� M HJ��������'��¢W � A£o�_\_/A�1�������

0, 1, 1′ ∈ A
��H\���I����Q M $^�%'�"�"�������#+H\���u�����n$\������� K = 0, 1

(
K ′ = 0, 1′

(
K ′′ = {1′‖K}��H\���B����H\#+�����)A�´µ��H � ��$\H&#+Q M $&���P�g'�"�������������#+H\#+"�"���"�K���H\F\KL����$\���1��$&�%$&���)d

π′ : K → K ′; x 7→ {x‖1, 1′} ∩K ′ �����
π′′ : K → K ′′; x 7→ {x‖K ′} ∩K ′′.

o�o



zI� H y ∈ K
FJ���

αy : K → K; x 7→ {π′′(x)‖1′, y} ∩K
�����

µy : K → K; x 7→ {π′(x)‖1′, y} ∩K.
´µ��H F\�6$&m����

y + x := αy(x)
�����

y · x := µy(x)
A

1

1’

0

K’

K

K’’π’’ )x(

x y y+x

(x)’π

1

1’

0 K
y x

K’

y*x

� EB�����
αy(x)

2�R = S�.L:�²6§ ¤ .1¥+2;¥ ¡ >@.�31567 � :@§19 ¡ >@. 1′
�

� 5��~562�R�� � � ����� �

� j �����!�g'�"������������|k~��ab����F\�^m��|�+��H\�������4#%Q M ���)(n�g'�H j ��"�����HJ��� a!��H j ����"���Q M FJ$
�������4#%Q M ��Wgm��������*#%�������Ht���n�����%#+"�����$&�e_~������' j �E� � Ht��H\��K�K����)A
� EB� X�� �)562

(G, ·) 562Z.[5��ª56.1¥15 V 2 = 562Z.[567 :@R8R�>�0�24: = 2 ¡ 56. �L5678T@. � ¦ �/S1.1¥�S�.L3 e ∈ G
� ��:+.*.�R62Z.L3

¤�� S12 ¡ :+9�56. =��

Wgfp_
e
2�R = .[56S = 7\:+9�58R^±~9�56V`56. = S1.L3 ∀a ∈ G : ∃ a′ ∈ G

V 2 =
a′a = e = aa′

W4fJfp_
e
2�R = 9Y2Z.�T�R6.[56S = 7\:+9 � 3 �;§ � ∀a ∈ G : ea = a

�·S1.L3 ∀a ∈ G : ∃ a′ ∈ G
V 2 =

a′a = e
�

Wgf\f\fp_
e
2�R = 7&58®8§ = R6.[56S = 7J:+9)S1.L3 ∀a ∈ G ∃ a′ ∈ G

V 2 =
aa′ = e

�

� 5��~562�R��!´ª����������� j|j ��$\H\���t����� � �+$!��F�Wgf\fp_
} =⇒ � Wgfp_bm���m������+���)A������[#+"�FJ' a ∈ G
(��*#%��������";$

aa′ = ((a′)′ · a′︸ ︷︷ ︸
e

) · (aa′) = (a′)′ · ( a′a︸︷︷︸
e

) · a′ = (a′)′ · a′ = e.

CU��FJab���;$&��H\���c����";$
ae = a · a′a = aa′ · a = ea = a

A
�

q #$,[# &)>Z*���Nr��CE#%F � � j·j #`�+� � $E���n�����%#+"�����$&��C^��¨*����$&��'������w��������H���H\��K�K��%A�´µ��HUab��H\��������F� j z '�"�������������FJ$\��$&Ft' M ��� �t����ab����FO�+��Hpa~���������[A
� EB�"� D[�

(K,+)
2�R = 562Z.[5|xO7/S�¦�¦*5-V 2 = .[56S = 7J:+9�56V ±~9�56V`56. =

0
�

� 5��~562�R�� }�� � ��FJ$t#+FJF\'�m�� #%$\���LdD��������� a, b, c ∈ K
A zI� H

1′, b, π′′(b), a+ b, π′′(c), b+ c, π′′(b + c), a+ (b+ c)

��FJ$!����HU��Q M ��HJ����F\#%$&m�W � A � A � _O#+��ab����� � #+HU�����P������FJ��H!m������+$

1′, a+ b‖π′′(c), a+ (b+ c).

( )’’π b ( )’’π c (’’π )b+c

0

1’

a b b+c

K’’

K
a+b c a+(b+c)

o �



C^# M ��H M #%$ j #+�
(a + b) + c = αa+b(c) = αa(b+ c) = a+ (b + c).

�U#+Q M CU��¨*���;$&��'�������";$ α0 = id
(*�)A M A 0 + x = x

�����
0
��Fp$!"������1FJ������$&H&#%"?A

zI� H!����� a ∈ K
F\���

b := {1′‖0, π′′(a)} ∩K, �*#%���P�+��"�$

b + a = αb(a) = {π′′(a)‖1′, b} ∩K = 0, π′′(a) ∩K = 0.

( )’’π a
1’

0 ab
K

K’’

K’

�1' j �;$ ��Fp$ b "������1FJ��������H\F!m�� a A �

� EB�"�V��� q #$,[# &)>Z*���Nr��C^���^kb��ab����FJ�U�+'��wW � A ��_u�����wW � A�h ��_ � ���1��$&m������n��HEWg� �D_u��� }e�!��Q M $\�����
K � (u�)A M Au������W4GBH&�%����H �p_\����H\#+����� Gi

F\������K*#+H&#%"�"���"~m��
K.

Wg�EC�_�a!��HJ��������Q M $�����HJab�������6$eA�
�+"?A��*#%m����^���g��# � �-o � A
�1���

K∗ = K \ {0} A��^�*#+"�'�� m��¢W � A ��_~�����¢W � A;h���_/(*# � ��H j ��$�Wg�EC�_OFp$8#%$J$�Wg� �D_Om������+$ j #+�)d
� EB�"�$.��

(K∗, ·) 2�R = 562Z.[5·xO7/Si¦�¦*5�V 2 = .[56S = 7J:+9�56V ±b9�56V`56. = 1
����:�²6562 2�R =

µy

� � 7�:+9Z9�5
y ∈ KS1.L:�²6§ ¤ .1¥+2;¥ ¡ >@.�31567 � :@§19 ¡ >@. 1′

�
� 5��~562�R��Us �n$eA�� � ������A �

� EB�"�$9���F@WQ?R�*�
(K,+, ·) 2�R = 562Z. ��� 7�¦*567 �

� 5��~562�R��!´ª������� W � A�h ��_������ W � A;hio%_�F\�����y�n��H���'1Q M ������C^��FJ$&HJ� � ��$&���1����F\�6$&m���m��ym������+��� W4������t' j·j ��$8#@$&���1�;$8�%$ ����Ht� ������$\��'����g'�"��+$!�*#+���*_6A�©[� a, b ∈ K
m����������Pa!��H!m����*�+Q M Fp$ a(1 + b) =

a + ab
A�´ª��������Wg� �D_ #+���

ab, b, π′(b), π′′(ab), π′′(b), π′(1 + b)
#+�[d

C^#+��������";$

π′′(ab), π′(1 + b)‖π′(b), ab‖1′, a‖π′′(ab), a + ab

�����y��# M ��H a + ab = {π′(1 + b)‖1′, a} ∩ K = a(1 + b)
A z�� H

a, b, c ∈ K
�g'�"��%$ �*#+F � �����nFJ����Fp$&H\� � ��$\���1����FJ��$\m+d

a(b+c) = a(b(1+b−1c)) = ab(1+b−1c) = ab+abb−1c = ab+ac. 1 a b 1+b a+ab

K’

K’’

K0

1’

ab

�t���µm����������µa!��H
(1 + b)a = a + ba

d!�1���
p = {π′(a)‖K} ∩ 0, π′′(b)

A�´¢�������yW4�^C�_�#+�
#%���

1 + b, 1′, π′′(b), (1 + b)a, π′(a), p,
F\' j ��$ p, (1 + b)a‖1 + b, π′′(b)‖1, 1′‖a, π′(a)

A �^��Q M�����O�u�����n$\�
b, 1′, π′′(b), ba, π′(a), p

��HJ� � "�"���������� �
'+H&#+��FJF\�6$J�m���������� ��'�� W4�ECE_P����� a!��HP��H M #%"�$&��� ba, p‖b, π′′(b)‖K ′ A´ª���+���«W � A ��_��@#+��� j #%� a + ba j �;$ π′(a)
Fp$8#%$J$ j ��$ 1′�%'���Fp$&H\������HJ���)(D����� j #+����H M �+"�$

a + ba = {p‖a, π′(a)} ∩K = (1 + b)a.

CE#+H\#+��F �g'�"��%$ �*#+Ft�!��Q M $&FJ����Fp$&H\� � ��$\���1����FJ��$\m�#+��#+"�'���A
1

0

1’ K’’

K

K’

b 1+b (1+b)abaa

p

(b+ c)a = ((1 + cb−1)b)a = (1 + cb−1)ba = ba+ cb−1ba = ba + ca

o �



�U��FB������C^��Fp$&H\� � ��$\���1����FJ��$\m������g'�"��+$B#+��Q M �������t' j|j ��$8#%$\���1��$&�%$)����Hr� �����;$&��'+�)Ai��������� a, b ∈ K,��#+��������";$
(a+ b) + (a+ b) = (a+ b)(1 + 1) = (a + a) + (b+ b),

��#+Q M � � H\m���� ��'+� a #+���
����HE"������%�����1����$\������� ��'�� b #+���
����HEH\��Q M $\������HJ��� � $^FJ��Q M b + a =
a + b. �

� EB�"�'E)� q #$,[# &)>Z*���Nr� h�A z�� HI�*#%F � �����nF\����FJ$\H\� � ��$&�;�1����FJ��$&mb��Fp$Ia!��������H��n��H!Wg� �D_B��HJ�g'�HJ����HJ"���Q M ACU��Htk~��ab����FU��FJ$!�*#%���P' M ��� �U��$\m������|����F!�^F\FJ'�m���#%$&�;�1����FJ��$&m���Ftm���� ��M HJ���)A
o1AUkb��� j k~��ab����FU����Ft�t��Q M $&F\����FJ$\H\� � ��$&�;�1����FJ��$&m���Fta!��H\�ªWg�EC�_~a!��HJ�n"���Q M�� ���n��$\m�$�A
� A zI� H^�������^FJF\'�m�� #%$\���1��$&�%$t��'��c} · � a!��HJ��W4�^C�_U� � �����4#+"�"�F � ��� �+$\���+$ W4����Q M $�# � ��HU� � HE�������������������$\������� ��F � #+H\�%���;$t�+'�� ax = b

�����
ya = b

�*#+Q M x � m�a�A y _6A

suF � "���� � $Em��wm����������[([�*#+FJF (A,G)
�����

A(K2)
��F\' j '�H\K M F\�����)A[k~��$\H&#+Q M $&� ��#+m��w����� ��#%H&#+"­�"���"�K�H\' � ����$&��'+����� � m6a�AD��#+H\#+"�"���"�KL��HJF\KL����$&�;�1��$8�@$&���

π1 : A→ K ; x 7→ {x‖K ′} ∩K
π2 : A→ K ′ ; x 7→ {x‖K} ∩K ′

π3 : K ′ → K ; x 7→ {x‖1, 1′} ∩K
3π

π2

1π

K’

1

1’

x

K

CU����� ��� ��"��������
ϕ : A→ K2; x 7→

(
π1(x), (π3 ◦ π2)(x)

)

��FJ$!'
	���� � #%H � � � ����$\���LA
� EB�"�$Y���F@WQ?R�*�

ϕ
2�R = 562Z.�,8R�>@V`>@7 ¦*§12�R6V S�R��

� 5��~562�R��^�����
G ∈ G

A
h+A z #%"�"?d G‖K ′ ( �)A M A ∀x ∈ G

����";$
c = π1(x)

��Fp$��+'���FJ$8#%�n$�(B#+"�FJ'
ϕ(G) ⊆ 〈c〉 A � j �����%� M Hp$�+��"�$ ∀c ∈ K

d
ϕ−1(〈c〉) ⊆ π−1

1 (c)‖K ′ A
o1A z #+"�"ld G‖K ()�[A M A ∀x ∈ G

����";$
π2(x) = c′ ∈ K ′ ��FJ$��%'���FJ$&#+��$e( #%"�F\' ϕ(G) ⊆ 〈0, π3(c

′)〉 A� j �+���+� M HJ$t����"�$ ∀c ∈ K
d
ϕ−1(〈0, c〉) ⊆ π−1

2 (π−1
3 (c))‖K A� A z #+"�"?d G ∦ K,K ′ AO����� c = K ∩ G

�����
a = {1′‖G} ∩ K

A
zI� H x ∈ G

F\��$\m��
x1 := π1(x)

�����
x2 := (π3 ◦ π2)(x)

A�CE#+���
�+��"�$

ax2 + x1 = c
(D��������}

+ � �@#+����a~��������W � A ��_!#%��Q M j ��$ π2(x)WgFJ$&#%$\$ j ��$ 1′
_ �%'���Fp$&H\������Hp$!a~��H\�����)A���' j ��$

x ∈ G =⇒ x2 = a−1c− a−1x1 =⇒ ϕ(x) ∈ 〈 − a−1, a−1c〉 x1 x3 3ax

K’

K
0

1’

1

G

x

c
a

f�Fp$
ϕ(x) ∈ 〈 − a−1, a−1c〉 ([FJ'���H M �+"�$ j #+� ax2 + x1 = c

�����
x ∈ G

A�f���F\����F&# j $�����";$E#+"�F\'
ϕ(G) = 〈 − a−1, a−1c〉 ����� ϕ−1(〈 − a−1, a−1c〉) = {c‖a, 1′} ∈ G

A
�

o �



©[��F&# j·j �����4#+FJF\�����P��H M #+";$&����a!��H �����
� EB�"�$8�� 	 W &<O�?]#7J"J"*��%N�O]O�WQ?R�*� �)562

(A,G)
562Z.[5 3158R�:+7l¥+S*58R8R�®8§*5�:J°y.[5�±O²656.[5�� ��:+.*. 5 ��2�R = 2?567 =

562Z. ��� 7 ¦*567
K
R�>
�
3�:@R8R

(A,G) ∼= AG(2, K)
�

�

�t����H&#+��F �g'�"��+$ j ��$�W � A � _~�����¢W � A 
�_/A
� EB�"� �D��F@WQ?R�*���*5\315t¦�:6¦�¦LSnR8R�®8§*5�:J°�.[5�±O²656.[5�2�R = 2�R�>@V`>@7 ¦*§`0�S

AG(2, K)
V 2 = 562Z.[56V T�>@V <

V S = : = 2 ¡ 56. ��� 7 ¦*567 K �OxU56.L:+SD567 � �*5\31567^T�>�>@7J3+2Z.L: = 2�R62?567&56.L315 ��� 7 ¦*567�2�R = T�>@V V S = : = 2 ¡ � �

� EB�"� ����F@WQ?R�*���*5\315 56.L3�9Y2?®8§*5�3158R�:+7?¥+S*58R8R�®8§*5�:J°�.[5E±O²656.[5�2�R = ¦�:6¦�¦LSnR8R�®8§ �
� 5��~562�R��!´ª������� W � A;h�¯�_·a!��H\�µ����� s � ����������H\Q M ���������µ������"���Q M ���¬� ��HJK���H��+'1'�H\�����*#%$\��FJ����Hp$eA�U#+Q M ������� j � ��H ��M�j $\���c��#%$\mE��'���´¢��������H � ��HJ��W h�� � � _���FJ$ � ������H ������"���Q M ������H\KL��H!�+' j|j �1�$&#%$&�;�LA�´¢�������¢W � A 
�_~�+��"�$�W4�E��_/A

�

� EB�"�$X�� q #$,[# &)>Z*���Nr��GI#%$&F\�+Q M "���Q M ��FJ$ K #+��F¢W � A;h�¯+_ � ��F�#+��� f�FJ' j '+H\K M ����������������$\��� � �/�Fp$&� j|j $�A�k~�6a~����FtF\K*�@$&��H�A

� �
� �����	��� 	�� � � � 	 	 � ��	 � ����� ��� 	������
	 ��� �
	��
	

	 #�
 ���B?)�L;P�
��su������K�HJ' � ����$&�;����s � ����� (P,G) M ����N+$�3158R�:+7l¥+S*58R8R�®8§)(Da~�����w�*#+FU�g'�"�����������¦L78>@<
e58T = 2 ¡ 5^³ ��2?>@V ¡ >@. ��58R�:+7l¥+S*58R-��HJ� � "�"�$O��FJ$�d
Wl�
C�_P©[�

G1, G2, G3 ∈ G
(b����HJF\Q M ��������� ����� �+'�K�������$8#+"l(~FJ��� z = G1 ∩ G2 ∩ G3

A~���������
ai, bi ∈ Gi \ {z}

�+��HJF\Q M ���������)ALCE#+����"���������� ai, aj ∩ bi, bj, i 6= j,
�%'�"�"�������#+H�A����6$&m�$ j #+�

pk = ai, aj ∩ bi, bj
� � H {i, j, k} = {1, 2, 3} (�FJ'|����"�$O#+"�FJ' p3 ∈ L := p1, p2

A

z M ����N+$�� 56. = 7/S1VP( L M ����N+$U³E®8§�R�5-����HtC^��F\#+H\�+����F � �U'+��¨*����H\#%$&��'��)ACU���-�U'���¨*����H\#%$&��'�� M ����N+$O}iT@9�562Z.[567~¦L7&>�
e58T = 2 ¡ 567 ��58R�:+7l¥+S*58R � Wl�u�D_/(�a~����� z ∈ L
A

su������K�H\' � ����$&���+�-s � ����� M ����N+$ ��>@S
��:+.1¥+<?± ²656.[5��e(�ab�����cFJ$\��$\F�W4�
�*_ �+��"�$�Asu�����^K�HJ' � ����$\������s � ����� (P,G) M ����N+$b¦�:6¦�¦LS�R8R�®8§[(nab��������#+Fb�g'�"����������t¦L7&>�
e58T = 2 ¡ 5!³ ��2?>@V ¡ >@.vO:6¦�¦*>�R-��HJ� � "�"�$ ��FJ$ed
Wl�
��_������

G1, G2 ∈ G j ��$ z = G1 ∩G2
�����

a1 . . . a6 ∈ P
(�����H\FJQ M ���������)( j ��$

a1, a3, a5 ∈ G1\{z}
�����

a2, a4, a6 ∈ G2\{z}
A%CE#+����"����������������~�u�����n$\�

a1, a2∩a4, a5,
a2, a3 ∩ a5, a6, a1, a6 ∩ a3, a4

�+'�"�"������e#+H�A
� EB� .+D[� q #$,[# &)>Z*���Nr� h�AtC^��� z ���+��HE����F-� ����' j F�Wl�
C�_E��FJ$���� M ' M � j � #+N�� F�� j·j ��$&HJ��FJQ M AsuHpaO� M �n$UF\�������

����@�+"=�� 9�@	� )ED2B�- �10�6�35- ��G�G
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• ����� � ��Fp$&� M $^#+��F�h��·�u������$&���c�����ªh��·����H\#+�����[A
• �+������HU�u�����n$U�@#+���P©[����$\H\� j ( � ����������H\#+����� Q M FJ��F\�����)A
• C^��� z ������HO��FJ$!FJ��" � FJ$&���*#+"?A

o1Atf�Fp$
(P,G)

������������F\#+H\�+����FJF\Q M � � m6a�A[K*#+K�K���F\FJQ M � K�HJ' � ����$&�;��� s � �����%([FJ'���Fp$ PL

'
	[��� � #+H����F&#%H\������F\FJQ My� m6a�A K*#+K�K���F\FJQ M � � H � ������F L ∈ G
AIf�FJ$

P
������� � '����4#%���%� s � �����%(�FJ'w����";$Wg� �D_B��� � ����� j PL

A+C^#+F\FB$&����"�ab����F\�^Wl# � ��HB����Q M $�� j·j ��H8_[����� � j �%� M HJ��������� ����";$&���[(iab��HJ�����a!��H ��'1Q M FJ� M ���)A
� EB� .Z����F@WQ?R�*� � � 7 562Z.[56. ��� 7 ¦*567

K
2�R =

PG(2, K)
R = 5 = RO3158R�:+7l¥+S*58R8R�®8§ � � 567/.[567u2�R =

PG(2, K)¥156.L:+Sc3�:+.*.|¦�:6¦�¦LS�R8R�®8§
�
�~56.*.

K
2�R = T�>@V V S = : = 2 ¡ 2�R = �

� 5��~562�R�� � � ������A �

� EB� .V.�� 	 W &<O�?]#7J"J"*��%N�O]O�WQ?R�*� �)562
(P,G)

562Z.[5�3158R�:+7l¥+SD58R8R�®8§*5-¦L7&>�
e58T = 2 ¡ 5|± ²656.[5 � 3�:+.*.¬5 ��2Z<R = 2?567 = 562Z. ��� 7 ¦*567
K
R�>
�
3�:@R8R

(P,G)
S1.L3

PG(2, K)
2�R�>@V`>@7 ¦*§`R62Z.L3 �

� 5��~562�R��^©[�
L ∈ G � ��$&H\#+Q M $&������������F&#+HJ������FJF\Q M �`#%¶·����s � ����� PL

A �^#+Q M W � A�he¯�_U� ����FJ$\����Hp$����������H\KL��H
K j �;$ PL

∼= AG(2, K)
A�C^��H~K�HJ' � ����$\�����^� � FJQ M "���FJFO��'�� PL

��Fp$O��������HJF\����$&Fb�*#+Q MW � A � A � _`Wg�1��"lAr�^���g��# � �Ph 
�_���F\' j '�HJK M m�� (P,G)
(I#+������H\��HJF\����$&F��*#+Q M W � A�h�h+A � _���FJ' j '�H\K M m��

PG(2, K)
A

�

� EB� .V9���F@WQ?R�*���*5\315b¦�:6¦�¦LSnR8R�®8§*5
¦L7&>�
e58T = 2 ¡ 5t±O²656.[5 (P,G)
2�R = 3158R�:+7l¥+S*58R8R�®8§`S1.L3 T+:+.*.c3+S178®8§

562Z.[56.�T�>@V V S = : = 2 ¡ 56. ��� 7�¦*567 K T�>�>@7J3+2Z.L: = 2�R62?567 = �~567J3156. �
� 5��~562�R��^�����O���������U'���¨*����H\#%$&��'�� a!������� Wl�
C�_�������� � ���)A��1��$&m�� L = p1, p2

Au©[��m�������������Fp$
p3 ∈ L

ABC^����#@¶|���`s � ����� PL

��Fp$�K�#+K�K���FJF\Q M (I#+"�F\'��*#+Q M ��� j ��#%$&m ��'+� �U��F\FJ��� � ��H\��W � A � _����F&#%H\������F\FJQ M A)CE#%H&#+��F �g'�"��+$ p3 ∈ L
A�´ª��������W � A;h 
%_�W4'1����H�W � A 
%_\_O��Fp$

K
�+' j·j ��$&#%$&�;�LA �

� EB� . E)��F@WQ?R�*���)562
(P,G)

562Z.[5O¦L7&>�
e58T = 2 ¡ 5E±O²656.[5�S1.L3 L ∈ G
²6569Y2?5�²�2;¥ � ��:+.*.�¥+2Z9 =��

P
3158R�:+7l¥+SD58R8R�®8§ � ¦�:6¦�¦LSnR8R�®8§ � ⇐⇒ PL

3158R�:+7l¥+SD58R8R�®8§ � ¦�:6¦�¦LSnR8R�®8§ �
��¦*5\0�2?569Z9I2�R = 31567^¦L7&>�
e58T = 2 ¡ 5-³�²6R�®8§19YS�R8R`562Z.[567·:J°�.[56.�3158R�:+7l¥+S*58R8R�®8§*56. � ¦�:6¦�¦LS�R8R�®8§*56.
�|±O²656.[5
�u2?5\31567-3158R�:+7l¥+S*58R8R�®8§ � ¦�:6¦�¦LS�R8R�®8§ � �
� 5��~562�R�� �U��Hu} ⇐= � ��FJ$�m��`m����������)d1����� PL

����F&#+HJ������F\F\Q M WgK*#+K�K���F\FJQ M _6An´¢������� W � A;h�¯+_ � m6a�AW � A;h 
�_)��Fp$
PL

∼= AG(2, K)
� � HB���������`W4�%' j·j ��$8#@$&���+���D_ ����H\KL��H K A%C^#+�����+��"�$ P ∼= PG(2, K)������ab���+����W � A£o�hi_~��Fp$

P
����F\#+H\������F\FJQ M W4K�#+K�K���FJF\Q M _/A �

CU��H\����$^#%��F�W � A;h���_O����� W � A o � _O��HJ��� � $OF\��Q M
� EB� .VY���F@WQ?R�*���*5\315 56.L3�9Y2?®8§*5�3158R�:+7?¥+S*58R8R�®8§*5O¦L7&>�
e58T = 2 ¡ 5E±O²656.[5�2�R = ¦�:6¦�¦LS�R8R�®8§ � �

o 




� EB� .V8�� q #$,[# &)>Z*���Nr�·W hi_ s
������m�� W � A£o � _!#%�*#+"�'+�����^��FJF&#+�+� j ��$-Wg� �D_O����� Wl�u�D_O��Fp$t�4#%"�F\Q M A������#+����H�d�C^���!#%¶·���!s � ����� A(F 2) ��� ��H
������� j K�"�#+�*#+HJ��� z #+FJ$\� ��HJK���H F ��Hp� � "�";$!W4� �*_6A+´ª�����
F
�%����������H\KL��HE��FJ$�(�FJ'���FJ$E����HEK�H\' � ���n$\���+� � � FJQ M "���FJF P # � ��HE�%������� � '����4#+����� � �����%A[´ª�����

H
����� z ��HJ������H\#+��� � ��m�����Q M ����$e(*FJ'|�+��"�$�Wl�u�D_~�n��H!� � H ������� Q M F\� H AWlo�_Ikb��"�����$ j #+����������H ' � ��������k~� j ��HJ�1����� PG j ��$I��������Hu����H\#+����� G 6= H

(@F\'���Fp$
PG 6∼= PH

A
s �n$eA � � �����·�����¢W � A � A � _
W � _��^��F�Wl�
C�_��g'+"��+$��*#%Q M W � A � A£o�_Ea!���·� j k~�6a~����F-��'��µW � A£o � _������·m�� Wl�
C�_����*#+"��·�U��F\F\#+���
W4�
C�� _/AIWlk~��#+Q M $&�+dLC^��� z ���+��HO��Fp$!������F\��" � ��a!���E� � H-Wl�
C�_ � _/ACU��H\Q M � � ��H\��#%����m���Ht���*#+"�����s � �����-��H\�%������$ j #+�[(��*#+FJF^#+��Q M Wl�
C��£_ =⇒ Wl�
C�_ ����"�$eA�CE#+F
"����6�g��HJ$!���������c� � "�$&��������kb��ab����Ft� � H�W4�^C�� _ =⇒ W4�^C�_6AD�U��N���HJ��� j m������%$!��F�(L�*#+FJFU�����-��" #+FJF\�����H�����F&#+HJ������F\F\Q M ���¬K�H\' � ����$&���+���µs � ������� R�569;²6R = 3+S�:+9E��Fp$e(��)A M A~#+��Q M �����P���*#+"��cs � ����� ��Fp$a!��������H!����F\#+H\������F\FJQ M A�CE# M ��Ht��FJ$ ��#+FtC^�*#+"���$8�@$&F\K�H\����m���KwW � A;h���_O#%����������FJ�-��"�#+F\FJ��#+��a~����� � #%H�A
W � _��^���g��# � �wh � ����� W � A£o � _�m������+���)( ��#+F\F·#+��Q M ��������"�#+F\FJ������H K*#%K�K���FJF\Q M ��� K�H\' � ����$&�;�����s � �������cFJ��" � FJ$&���*#+" ��Fp$eAW � _�C^���·�t'���FJ$\H\����$\��'�������F�� �+H\KL��H\F-��� M $�#+��� �U��" � ��HJ$��·Wph�� � ��_^m���H � Q8�DA �U#+Q M �U��" � ��HJ$�a!��H\�FJ����#+��Q M � = 7858®8T�56.*7&58®8§1.*S1.1¥ª�����*#+����$eAb��K��%$&��H�a!��H\����� j ��$ j '1����¨*m�����HJ$&��� � �6$ M '1����� #+��Q M����Q M $&����F&#+HJ������F\F\Q M � s � �������P�+'1'�H\�����*#%$\��F\����Hp$�W j ��$OF\'���A��L567/. ¤ 78T � 7 ¦*567/.�W �^#+"�"�h�� � � _��8_6A
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� � ��� ��� � ��� ����
r� � �

©[���*�+Q M Fp$
FJ$&��"�"�����a!��HI���������·©[��F\# j·j ��� M #+���^m�a!��FJQ M �����U��$&' j '�HJK M ��F j ������������H #%¶·�����·s � �/����-�����P� M H\� j K�HJ' � ����$&�;�����P� � F\Q M "���F\F M ��H�A
� Y �"��� �%;V&R?)O�#'?R� *��%NPO�O�WQ?R�*���)562

(A,G)
562Z.[5 :J°�.[5 ±O²656.[5 V 2 = ¦L7&>�
e58T = 2 ¡ 56V ³�²6R�®8§19YSnR8R

(P,G′)
S1.L3 � 5676.1¥1567J:�315

F
� �)562 �~562 = 567

α ∈ Aut(A,G)
����:+.*.�¥+2Z9 =��

� ��� ∀G,H ∈ G : G‖H ⇐⇒ α(G)‖α(H).

� .[�
α∗ : P → P ; x 7→

{
α(x)

� � 7
x ∈ A

[α(G)]
� � 7

x = [G] ∈ F
2�R = ³^S = >@V`>@7 ¦*§12�R6V SnR ¡ >@. (P,G′).

� 9[�
α∗ 2�R = 3+2?5�562Z.L3156S = 2;¥�²658R = 2ZV V = 5 � >@7 = R�5 = 0�S1.1¥ ¡ >@. α � 3+2?5 � >@9Z9Y2Z.[5\: = 2?>@. 2�R = � �

� E � ��2?5 ³�²�²�2Z9;3+S1.1¥
Aut(A,G) → Aut(P,G′); α 7→ α∗ 2�R = 562Z.�xO76S�¦�¦*56.*< ��>@.[>@V`>@7�¦*§12�R6V S�R

� 2Z. 
e58T = 2 ¡ 567���>@V`>@V`>@7 ¦*§12�R6V S�R � �

� 5��~562�R���Wph�_�}
=⇒ � d���������� G‖H �����

p ∈ α(G)∩α(H)
A1CE#%���`�g'�"��+$

α−1(p) ∈ G∩H (�#+"�F\'
G = H =⇒ α(G)‖α(H).

} ⇐= � #+��FU��� j|j ��$\H\������H � �������)AWlo�_b´ª��������Wph�_~��FJ$
α∗ ab' M "�����¨*������Hp$!�����P��� � ���n$\���L(��������

[α(G)] = [α(H)] ⇐⇒ G‖H ⇐⇒ [G] = [H].

(α−1)∗
��Fp$!f�������HJF\�-��'��

α∗ (*#+"�F\'���Fp$ α∗ � � � ���n$\���LA
α∗ ��Fp$t�U'�"�"������e#%$\��'��[d��1��� K ∈ G

′ A
h+A z #%"�"?d K = F =⇒ α∗(F ) = F ∈ G

′ A
o1A z #+"�"ld K = G ∪ {[G]} j ��$ G ∈ G

d
α∗(G ∪ {[G]}) = α(G) ∪ {[α(G)]} ∈ G

′ A)C^#+F\FJ��" � ��+��"�$~� � H (α∗)−1 = (α−1)∗
A

W � _ zI� H α′ ∈ Aut(P,G) j ��$ α′
A = α

����"�$
α′(G∪{[G]}) = α(G)∪{[α(G)]} W4��#E����H&#%��� �£_6A

zI� Ht#+"�"�� H ∈ G
′ ����";$ �*# M ��H α′

H = α∗
H
A*CE#+Ftm������+$

α′ = α∗ A
W � _�f�� � ����$&���1�;$8�%$ ��FJ$ �n"�#+H�W4�������

α∗
A = α

_/( �U' j ' j '�H\K M ���������+����FJQ M #%�Z$-a!�����g'�"��+$edBsuF�����";$
(α∗ ◦ β∗)A = α∗

A ◦ β∗
A
(�a~������� W � _b�g'�"��+$

α∗ ◦ β∗ = (α ◦ β)∗
A

�

� Y � .�� q #7,-#$&)>Z*��%NB�·W hi_�´ª���+��� W � A�h%A � _��@#+��� j #+� AutA
#+"�F �U��$\��H\�+H\��K�KL�c�+'��

AutP#%� 	)#%F\F\���)A
Wlo�_������

(P,G)
K�HJ' � ����$&�;����s � ����������� F ∈ G

A z�� H σ ∈ Aut(P,G) j �;$ σ(F ) = F
��FJ$

σ PF
∈ Aut(PF ,GF )

�����
(σ PF

)∗ = σ
Wg�1��"?A W � A;h+A � _\_/A

W � _~f j z #+"�" σ F = idF

(��)A M A ∀x ∈ F : σ(x) = x
(*��Fp$

σ PF

��������CU��" #@$8#%$\��'��)A

o �
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	 	�� � � �
	 	 �

f��µ������FJ� j � � F\Q M ����$J$�a~��H\����� kb����FJK�����"��c�+'�� �^��$&' j '�H\K M ��F j ��� ���µ#%¶·����� �����µK�HJ' � ����$&�­��+��� �U'1'�H\�����*#%$\����� � ������� � ��F\Q M H\��� � ���)A�©[����"~FJ����������� z �����*# j ����$8#%"�F&�@$&m��%(���������������������#+���kb��F\Q M H\��� � �����·#+"�"���H��U��$&' j '�HJK M ��F j ���·����$ M #%"�$&���)A�CE#+m�� � ��� �+$&�������·a!��H~���������
��H\#+"�"���� j �������6�HJ�����·����Ftk~����H\� 	[F ����H!"������e#+HJ����� ��� ��"���������A�1�������
(V,K)

�����
(V ′, K ′)

�
����$&'�HJH&�+� j � ��� ��H�����H\KL��HJ� K � m�a�A K ′ ����� σ̂ : K → K ′��������k~� � ����$&��'��)A*su������� ��� ��"�������� σ : V → V ′ M ����N+$ER�56V 2Z9Y2Z.[5\:+7 j �;$ � 5?¥+9�562 = 2�R�>@V`>@7 ¦*§12�R6V S�R
σ̂
(�ab������� � Ht#+"�"�� v, w ∈ V

�����
λ ∈ K

�+��"�$�d

σ(v + w) = σ(v) + σ(w)
�����

σ(vλ) = σ(v)σ̂(λ).

CU���-k~��m�����Q M �n������kb����"�����$�2�R�>@V`>@7 ¦*§12�R6V SnR^��Fp$!����HJ��Q M $\�g��HJ$&���+$!a~�������
� Y � 9�� � :+9Z9£R�58R

v ∈ V
¥+24² = � V 2 = σ(v) 6= 0 �

3�:+.*.�2�R =
σ̂
562Z. ��� 7 ¦*56762�R�>@V`>@7 ¦*§12�R6V S�R

�
31567

3+S17&®8§
σ
562Z.L3156S = 2;¥�²658R = 2ZV V = 2�R = �

� 5��~562�R�� z�� H α, β ∈ K � ��H\��Q M ��� σ(
v(α + β)

) �����
σ(vαβ)

� ��ab����"�Ft#+���Im�ab��� ´ª����F\���[A�CU���
su����������$&���+�+���;$!��Fp$!�1"�#+H�A

�

q #$,[# &)>Z*���Nr��f�������FJ��HJ�����^��a~��������������� ��FJ$
σ j ����Fp$ � � � ����$&�;��AI�^"�F\'w��Fp$ σ̂ ����������H\Q M σ�g��FJ$\����"����+$\��Ht� ��HJK���H\��F\' j '�H\K M ��F j ��F�A �^�+��¨*������";$ �*#+H ��� ��H M ���*#+��F K = K ′ ����� σ̂ ∈ AutK

A
� Y � E)� q #7�"O�\��"#$JL#D� Wph�_�f j z #%"�" K = K ′ ��FJ$ � �����^"������e#+HJ�U� ��� ��"�������� σ : V → V ′ F\� j ��"������e#+H
j ��$ σ̂ = id

A
Wlo�_ �����

α : K → K ′ ������� ��HJK���H\��FJ' j '�H\K M ��F j ��FO����� n ∈ N
(*��#+������Fp$

Γα : Kn → K ′n; (x1, . . . , xn)T 7→ (α(x1), . . . , α(xn))T

�������|W � � � ���n$\���+��_~F\� j ��"������e#+HJ�E� ��� ��"�������� j ��$!kb����"�����$\��FJ' j '+H\K M ��F j ��F α A
� j �������^#+��#+"�'��+�t� ��� ��"�������� V → V ′ � � H � ��"���� � ���+� K � � m�a�A K ′ � �
���n$\'�H\H\�+� j �Um������6¨*�����/�HJ���)( j�� F\FJ��� k~#+F\����� � H V �����

V ′ ����a~� M ";$tab��HJ�����[AW � _��^"�"���� j ��������H�d+������a!��������H α : K → K ′ �����·� ��HJK���H\��FJ' j '�H\K M ��F j ��F ����� M ∈ GL(n,K ′)
(

��#+��� ��FJ$
Kn → K ′n; x 7→ MΓα(x)

�������`W � � � ����$\�����e_tFJ� j ��"������e#%H\��� ��� ��"�������� j �;$^kb����"�����$p���F\' j '�HJK M ��F j ��F α A�W?��'��@#+��� j #%��#+"�"�� � � � ����$&���+����F\� j ��"������e#+HJ��� � ��� ��"��������+��� Kn → K ′n

� ��FJQ M H\��� � �����£_W � _ z�� H µ ∈ K \ {0} ��FJ$ %µ : Kn → Kn; (x1, . . . , xn)T 7→ (x1µ, . . . , xnµ)T F\� j ��"������e#+H j �;$
%̂µ(λ) = µ−1λµ

A*f�FJ$
K
�%' j|j ��$8#%$\���L(���#+������FJ$ %µ

�*#@$ � HJ"���Q M "�������#+H�A
� Y � Y�� �)562

(V,K)
562Z. �L58T = >@7/7J:+S1V �

� ��� ��2?5 ��56.1¥15
ΓL(V,K)

:+9Z9�567�²�2 
e58T = 2 ¡ 56.�R�56V 2Z9Y2Z.[5\:+7856.�³�²�²�2Z9;3+S�.1¥156. V → V
²�2Z9;315 = 562Z.[5

xO7/Si¦�¦*5����-:�²6562r¥+2Z9 =
σ̂−1 = σ̂−1 �

� �



� .[� ��� 7
σ, τ ∈ ΓL(V,K)

¥+2Z9 =
σ̂ ◦ τ = σ̂ ◦ τ̂ � � ��§ � ̂ : ΓL(V,K) → AutK; σ 7→ σ̂

2�R =
562Z.�xO7/Si¦�¦*56.�§*>@V`>@V`>@7 ¦*§12�R6V S�REV 2 = � 567/.

GL(V,K)
�

� 5��~562�R���Wph�_��UF\F\'+m�� #@$&���1�;$8�%$|��Fp$`�n" #%H�(��*#+F�������$&H\#+"��csu"�� j ����$`��FJ$ id
A
σ−1 ������FJ$&����Hp$�W4��# σ

� � � ����$\������FJ$8_~��������FJ$!FJ� j ��"�������#+Hbab�������

σ−1(σ(v) + σ(w)) = σ−1σ(v + w) = v + w = σ−1σ(v) + σ−1σ(w)

�����
σ−1(σ(v)σ̂(λ)) = σ−1(σ(vλ)) = vλ = σ−1σ(v) · σ̂−1σ̂(λ).

Wlo�_
σ ◦ τ(vλ) = σ(τ(v)τ̂ (λ)) = σ(τ(v)) · σ̂(τ̂(λ))

(D#+"�F\'
σ̂ ◦ τ = σ̂ ◦ τ̂ A �

� Y � 8�� q #7,-#$&)>Z*��%NB� h+Atf j z #+"�" K ∈ {Zp,Q,R} ����";$ AutK = {id} (I#+"�FJ' ΓL(V,K) =
GL(V,K)

A�f�������� z �+"�"���� K = C
'1����H

K = GF(pn), n > 1,
�+��"�$ � ����'�Q M AutK 6= {id} A

o1A^�1���
σ : Kn → K ′n F\� j ��"������e#+H�(n�*#+������FJ$ σ ◦Γ−1

bσ K ′ � "������e#+H�A���'��g'�"��+��HJ$ j #+�������^k~� j ��H ��n�����|� j ' � ��������k~����FJK�����"
W � _/A

� Y ���D� �)562
(V,K)

562Z. �L58T = >@7/7J:+S1V S1.L3
(A,G) := AG(V,K)

� ��� 7�:+9Z9�5
σ ∈ ΓL(V,K)S1.L3

a ∈ V
R62Z.L3

σ : A→ A
S1.L3

τa : A→ A ; x 7→ x + a
³^S = >@V`>@7 ¦*§12�R6V`56. ¡ >@. (A,G)

�

� 5��~562�R��
τa ∈ Aut(A,G)

��FJ$!�n" #%H�W
τ−1
a = τ−a

_6AD���������
b, c ∈ V, c 6= 0

ADCE#+��������";$

σ(b + cK) = σ(b) + σ(cK) = σ(b) + σ(c)σ̂(K) = σ(b) + σ(c)K ∈ G.

C^#+FU�+��"�$O#+��Q M � � H σ−1 (*#+"�F\'���Fp$ σ ���������U'+"�"������e#@$&��'+�)A �

C^#+F � � j|j #�����";$O����F � ��FJ'�������H\��� � H!#%¶·���-�U'1'�H\�����*#%$\����� � ������� AG(2, K).f j z #%"�" V = Kn F\Q M H\��� � $ j #%� ΓL(n,K) = ΓL(V,K)
A � #+��¨*�����6$|#+"�FJ' ΓL(2, K)

#+"�F
�t��$&��HJ��H\��K�K��-���

Aut AG(2, K)
A

�U��Q M � � H K�H\' � ����$&���+��s � �������c����"�$~������� M ��"���Q M ��Ht��#@$&m+A
� Y ����� �)562

K
562Z. ��� 7 ¦*567�S�.L3

(P,G) = PG(2, K)
�

� ��� ��� 7 
e5\3158R
σ ∈ ΓL(3, K)

2�R =
σ : P → P ; aK 7→ σ(a)K

562Z.�³^S = >@V`>@7�¦*§12�R6V S�R ¡ >@.
(P,G) �

3+2?5 ¡ >@. σ ��������m�����Hp$&���U'+"�"������e#@$&��'+� �
� .[� ��2?5~³�²�²�2Z9;3+S1.1¥

ΓL(3, K) → Aut(P,G); σ 7→ σ
2�R = 562Z. �->@V`>@V`>@7 ¦*§12�R6V SnRt²808¥+9 � ◦ V 2 =� 567/.

%K := {%λ ; λ ∈ K∗} � �~>+²6562 %λ(x) = xλ
�

� h



� 5��~562�R���Wph�_
σ
��Fp$ a~' M "����6¨*������HJ$�d aK = bK ⇐⇒ ∃λ ∈ K \ {0} : a = bλ

�����

σ(aK) = σ(a)K = σ(bλ)K = σ(b)σ̂(λ)K = σ(b)K = σ(bK).

σ
��Fp$ � � � ���n$\���Ld σ−1

��FJ$ � j �%� M H\# ��� ��"�������� ��'�� σ A�1�������
a, b ∈ K3 "�������#+H ���*# ��M �+�������ª����� λ, µ ∈ K

A�CE#%��� FJ����� #+��Q M σ(a), σ(b)
"������e#+H

���*# ��M �%��������(���������F!����"�$

σ(aλ+ bµ) = σ(aλ) + σ(bµ) = σ(a)σ̂(λ) + σ(b)σ̂(µ) ∈ σ(a)K + σ(b)K ∈ G,

�[A M A σ(aK + bK) ⊆ σ(a)K + σ(b)K
ALCE#+F\FJ��" � ������"�$O� � H σ −1 (*�*# M ��H �g'�"��+$ σ(aK + bK) =

σ(a)K + σ(b)K ∈ G
�����

σ
��FJ$!�������-�t'�"�"�������#%$&��'��)A

Wlo�_ �U' j ' j '�HJK M ���U��'�� σ 7→ σ
d z�� H σ, τ ∈ ΓL(3, K)

����"�$

(τ ◦ σ)(aK) = τ(σ(a)K) = (τ ◦ σ)(a)K = τ ◦ σ(aK) =⇒ τ ◦ σ = τ ◦ σ.
�1�����1���

σ ∈ Kern
(r�)A M A ∀a ∈ K3 : σ(aK) = σ(a)K = aK

AIC^#+��� � ����FJ$\����Hp$�� � H�#%"�"��
a ∈ K3 ����� λa ∈ K j ��$ σ(a) = aλa

AD©[��m�������������FJ$ ∀b ∈ K3 : λb = λa

A
�1�������Pm����*�+Q M FJ$ a, b ∈ K3 "�������#+HO���*# ��M �+���+����A*C^#+��������";$

aλa+b + bλa+b = (a+ b)λa+b = σ(a+ b) = σ(a) + σ(b) = aλa + bλb

�����P�������U'1��¨�m�������$&�����+��H\�+"�����Q M "������g��HJ$ λa = λa+b = λb.©[�`"������e#+Hb# ��M �%�������+��� a, b aO� M "�� c ∈ K3 j ��$ b, c "�������#+Hb���*# ��M �%��������(1��#+����F\������#+��Q M a, c"�������#+HO����# ��M �+��������A �U����F\Q M "�����N+$ j #%�P#%��F!��� j �+'�H\���������I#+H&#+�+H&#+K M ��� λb = λc = λa

A
f���F\����F&# j $���FJ$�FJ' j ��$ λa

����# ��M �+�������`�+'�� a ()��$�a~# λ := λa.
CE#%F�m������+$ ∀a ∈ K3 : σ(a) =

aλ = %λ(a)
(D#+"�FJ'

σ = %λ

�����
Kern ⊆ %K

A*CU���-#+������H\��f����n"���F\��'+����FJ$ $\H\���1��#+"?A
�

´µ��Hu�g'�H j ��"�����H\��� � ��$&m6$~����� z �����*# j ����$&#+"�F\�%$&m��+(������!���·����a!��F\F\� j �������|����� � j �+� M H\�����+���`����H
� ���������P' � �������P���%$\m��-F\�����)ADC^����kb��ab����FJ��ab��HJ����� FJK*�%$\��Ht���P#+"�"���� j ��������HJ� j ©[��F&# j·j ��� M #%����+��� ��M Hp$eA
� Y � X�� ��*���!�W+,-#7��?RW+J"O�WQ?R������& WQ02�%# 3^5�#$�%#7�
� �)562?56.

K
S�.L3

K ′
��� 7 ¦*567

�
S1.L3·R�562

T ′ := T (AG(2, K ′))
3+2?5 ��7J:+.�R69;: = 2?>@.�R\¥+7/S�¦�¦*5 ¡ >@. AG(2, K ′)

� ��� 7 
e5\315 � >@9Z9Y2Z.[5\: = 2?>@.
ϕ : AG(2, K) → AG(2, K ′)

5 ��2�R = 2?567 = ¥156.L:+S¬562Z.
τ ∈ T ′ S1.L3ª¥156.L:+S 562Z.[5�R�56V 2Z9Y2Z.[5\:+7&5

� 2 
e58T = 2?>@.
σ : K2 → K ′2 V 2 = ϕ = τ ◦ σ �

� Y �"� D[���%*���!%W+,[#$�P?]W+JKO�WQ?R������& \�&);7=�# >@?)�BAP#C3^5�#$��#$�
� �)562?56.
K
S1.L3

K ′
��� 7 ¦*567 � �rS 
e56<

31567 � >@9Z9Y2Z.[5\: = 2?>@.
ϕ : PG(2, K) → PG(2, K ′)

5 ��2�R = 2?567 = 562Z.[5 R�56V 2Z9Y2Z.[5\:+7&5 � 2 
e58T = 2?>@.
σ : K3 → K ′3 V 2 = ϕ = σ̄

�

� Y �"�V��� q #$,[# &)>Z*���Nr� h�AtC^���b�U��F\F\#+���b����W � A;h���_ � ��F&#+�+$�(i�*#+F\FI������� ��� ��"�������� #+��FOW � A ��A£o�_
FJ��H � ����$&������FJ$�A

� o



o1A�W � A 
+_)�����`W � A ��_)m������+���)(��*#%F\FB�U'1'�H\�����*#%$\����$&H\#+��Fp�g'�H j #%$&��'������E����������' j �6$&H\��� ����Q M $I�+������HJ�)ACU��H!"��6$&m�$\����Q M H\�;$\$!� j k~�6a~����F�W � A;hio�_~��FJ$!�*# j �;$ ����m������+$eA
� AUsu�����-a!��Q M $&���+� z '�"�����HJ�����|#+��Ft����� z �����*# j ����$&#+"�F\�%$&m����c��FJ$t�����-GI#%$\F&#+Q M �%([�*#%F\F!����HJF\Q M ���6����������%'�'�HJ������#%$&��F\����H\�������E����H\KL��Hb��'���#%¶·����� � m�a�A�K�H\' � ���n$\���+����s � ��������m���������#+������H ��F\'@�
j '�HJK M F\�����)A�uH\�+���*#+��$
#%��F\������H � Q8�n$�d1C^��H
�t'�'�HJ������#%$&����� ��HJK���H ��������H #%¶·����� � m6a�A�K�H\' � ����$&���+���·s � ���������FJ$ � ��F!#+��Q M f�F\' j '�HJK M ����������������$\��� � ��FJ$\� j·j $eA

´µ��H � ��$\H&#+Q M $&��� � ��$\m�$ ����� z '�HJ$\F\�6$&m�������F\F\#%$&m·W � A;h�_
� � H~����� z #%"�" AG(2, K) j �;$�K�H\' � ����$&���+� j� � F\Q M "���FJF PG(2, K) j �;$^������� j ����H\KL��H K Ar©[� σ ∈ ΓL(2, K)
� ����FJ$\����HJ$E��#+Q M W � A ¯�A£o�_U�����

M ∈ GL(2, K) j ��$

σ

(
x1

x2

)
= M ·

(
σ̂(x1)
σ̂(x2)

)
=

(
m11σ̂(x1) +m12σ̂(x2)
m21σ̂(x1) +m22σ̂(x2)

)
.

�1���
ι : A → P ;

(
x1

x2

)
7→




1
x1

x2


K

�������@#+��'�����F\Q M �csu��� � �6$\$\����� #%��F W � A;h�hi_6Ab����� �g��H\����H

a ∈ K2 ADCE#%���P�+��"�$�d

(τa ◦ σ)∗(ι(x)) = ι(τa ◦ σ(x)) =




1
a1 +m11σ̂(x1) +m12σ̂(x2)
a2 +m21σ̂(x1) +m22σ̂(x2)


K

=




1 0 0
a1 m11 m12

a2 m21 m22







1
σ̂(x1)
σ̂(x2)


K =




1 0 0
a1

a2

�

 Γbσ ι(x).

C^# M ��Ht��Fp$ (τa ◦ σ)∗
����H\Q M




1 0 0
a1

a2

�

 Γbσ

�+����� � ���)A

� Y �"�$.�� ��� 7�562Z.[56. ��� 7 ¦*567
K
R�562 3+2?5�9Y2Z.[5\:+7&5 � 2 
e58T = 2?>@.

σ : K2 → K2 �
²658R�®8§17/2?5�²656.c3+S�7&®8§

3+2?5 ��: = 7/2 �
M ∈ GL(2, K) �

S�.L3w58R�R�562
a ∈ K2 � �-:+.*. �u2Z7J3

(τa ◦ σ)∗
3+S17&®8§ª3+2?5 �w: = 762 �




1 0 0
a1

a2 �


 2Z.L3+S+0�2?567 = �

�

� �
	�	�� � ����� ������	 � �
	�� ��	��
	

	 #�
 ���B?)�L;P�
�������
σ
�������^��$&' j '�H\K M ��F j ��F ����H�#%¶·����� � m6a�A@K�H\' � ���n$\���+��� s � ����� (P,G)

A@s
�����
����H\#+���

L M ����N+$b³^®8§�R�5 �+'�� σ (%a~����� ∀x ∈ L : σ(x) = x
(��[A M A L ��FJ$u������� z � ��K�������$&�+��H&#%���+A

���



CU�*#+"���#+m��)d
z ∈ P M ����N+$ � 56. = 7/S1V �+'�� σ (%ab������� � H #+"�"�� G ∈ G j ��$ z ∈ G

�+��"�$�d
σ(G) = G

A
C^#+FU� j K�"���m�����HJ$��*#%$ � H\"���Q M σ(z) = z

A
� Y �"�$9�� �)562

(P,G)
562Z.[5O¦L7&>�
e58T = 2 ¡ 5E±O²656.[5�S1.L3 σ ∈ Aut(P,G)

����:+.*.�¥+2Z9 =��
� ��� �·56.*.

σ
562Z.[5U³^®8§�R�5

L
²658R62 = 0 = � 3�:+.*.P§�: = σ 562Z. � 56. = 7/S�V

z
�

� .[� �·56.*.
σ
562Z. � 56. = 7/S�V

z
²658R62 = 0 = � 3�:+.*.P§�: = σ 562Z.[5U³^®8§�R�5 L �

� 5��~562�R���Wph�_^h�A z #+"�"ld ∃z ∈ P \ L : σ(z) = z.
CE#+��������";$O� � H!#+"�"�� G ∈ G j ��$ z ∈ G

d

σ(G ∩ L) = G ∩ L #+"�F\'
G = z, G ∩ L =⇒ σ(G) = σ(z), σ(G ∩ L) = z, G ∩ L = G

�����
z
��FJ$!�����P©[����$\H\� j Ao1A z #+"�"?d ∀z ∈ P \ L : σ(z) 6= z

A[����H&#+����� ����H z '�H j a, σ(a) j �;$ a ∈ P \ L ab��HJ�������*#+����+'��
σ
�g��Fp$U�+��" #%F\F\���)dL�����

z = L ∩ a, σ(a)
A*CE#%���

σ(a, σ(a)) = σ(a, z) = σ(a), σ(z) = σ(a), z = a, σ(a).

�1���^�n���
G = b, z

��������a~����$&��H\� ����H&#+���c����H\Q M z
A z�� H y = a, σ(a) ∩ b, σ(b)

����"�$·�*#+���
σ(y) = y.

�^"�FJ' j ��F\F-����";$&��� y ∈ L
�����

y = z
ArsuF��g'�"��+$

G = b, z = b, σ(b)
�����ªF\' j ��$

σ(G) = G
ADCE# M ��H!��Fp$ z �����P©[����$&HJ� j AWlo�_~��Fp$!���*#+" m�� W hi_6A

�

	 #�
 ���B?)�L;P�
��su�����P�t'�"�"�������#%$&��'��
σ
����H·K�H\' � ����$&���+��� s � ����� P M ����N+$ � 56. = 7J:+9£T�>@9Z9Y2Z.[5\: = 2?>@.I(

ab�����cF\���������P©[���n$\H\� j z
�������*# j ��$!#%��Q M ��������� Q M F\� L � ��F\��$\m�$�A

σ M ����N+$ �->@V`>@9�>\¥+2?5�(�ab����� z 6∈ L
(*������±b9;: = 2?>@.I(�ab�����

z ∈ L
A

� Y �"�'E)� �)562
σ

� 56. = 7J:+9£T�>@9Z9Y2Z.[5\: = 2?>@. 31567·¦L78>�
e58T = 2 ¡ 56. ± ²656.[5 (P,G)
V 2 = � 56. = 7/S�V

z
S1.L3

³^®8§�R�5
L
� �-:+.*.�¥+2Z9 =��

� ��� ��S17&®8§P562Z.�vO:�:+7
(p, σ(p))

V 2 =
p ∈ P \ (L∪{z}) 2�R = σ 562Z.L3156S = 2;¥·²658R = 2ZV V = �uxU56.L:+S*567 �

��� 7
x ∈ P \ (L ∪ {z}) ¥+2Z9 = σ(x) = x, z ∩ p, x ∩ L, σ(p)

� ��:+9Z9£R
x 6∈ p, z

� �
��� 7

x ∈ p, z
� ¤ §19�5�562Z.[56. �^2Z9 �&R�¦LS�.�T =

q 6∈ p, z
S�V

σ(x)
�u2?5�>+²656.�0�S�T�>@.�R = 76S12?567&56. �

� .[� 
 � S�2 ¡ :+9�56. = R62Z.L3
W4fp_

σ = id
�

Wgf\fp_c±
R^¥+24² = 562Z.[56. � 2 ��¦LS�.�T =
p ∈ P \ (L ∪ {z}) �

W4fJf\fp_c±
R^¥+24² = 562Z.[5 � 2 �i¥1567\:�315
G 6= L

V 2 =
z 6∈ G

�

� �



� 5��~562�R���Wph�_
σ(x) ∈ σ(x, z) = x, z

(*�*#
z ∈ x, z

AL�����
r := p, x ∩ L ADC^#+���

σ(r) = r
�����

σ(x) ∈ σ(x, p) = σ(r, p) = σ(r), σ(p) = r, σ(p),
�4#%"�"�F

x 6∈ p, z
A

CU��HU�t��FJ$t��Fp$!�1"�#+H�A
Wlo�_�W4fJfp_

=⇒ Wgfp_6dD�t'���FJ$\H\������HJ�
σ(x)

a!�������ªWphi_ #+��F
z
�����

p = σ(p)
A�C^#+���P�g'+"��+$ ∀x ∈ P :

σ(x) = x
�����

σ = id
A

}/W4fJf\fp_
=⇒ W4fp_ � ��FJ$!���*#+")�*#%m��)ADC^��H^�!��Fp$t��FJ$!�n"�#+H�A �

� Y �"�$Y�� q #$,[# &)>Z*���Nr� h�A!f�Fp$
σ
�������U©[���n$\H&#+"��+'�"�"������e#%$\��'�� j �;$
� Q M F\� L (1�*#+���·��Fp$ σ PL

�������
CU��" #@$8#%$\��'��)A

o1AUC^#+F��^HJ��� j ����$�m�� j o�A z #+"�"B�@#+����#+��Q M ��� ����HE#%¶·������s � ����� PL j ��$ σ PL

�g'�H j ��"�����HJ$ab��HJ�����[A
σ PL

��Fp$!�*#+������������GIH\#+��FJ" #%$\��'�� j ��$!�!��Q M $\����� z A
� A^©[����$&H\� j ������� Q M F\�|��������H�©[����$&H\#+"��%'�"�"�������#%$&��'�� 6= id

F\������������������$\��� � ��FJ$\� j·j $eA�f���F � �6�FJ'�������H\�-��Fp$
id
������������m��������t'�"�"�������#%$&��'��)(n������m�����"�����Q M �t' j '+"�'������^�����csu" #@$&��'+����Fp$eA

� AUCU����k~����H\� 	[��} ©[����$&HJ� j�� ������} � Q M F\� � a!��H\�����ª#+��Q M � j ©[��F&# j·j ��� M #%��� j �;$E��� j K�HJ'%�� ����$&���+����������' j �+'��|C^��F\#+������F���HJa~� M ��$eA�GI#%$\F&�+Q M "���Q M � ��Fp$&� M $��������!©[��F\# j·j ��� M #+����A�����"�$��� j "���Q M Wl�
C�_b� � HO�g��FJ$&��Ft©[����$&HJ� j z
�������g��Fp$&��� Q M FJ� L, FJ' ������Fp$&����H\����} j # ��� j #+"*�1����"�� �©[����$&H&#%"��+'+"�"������e#@$&��'+����� j �;$ � � ����������F\� j ©[����$&HJ� j ������������F\��H!� Q M F\�%A

� � 	 �
	�� 	��
	

	 #�
 ���B?)�L;P�
�E�U��$&' j '�HJK M ��F j ��� #%¶·����Hªs � ������� a~��H\����� #+��Q M ³u°�.*2 =?¤+= 56. �����*#+����$eA������
(A,G)

�������-#%¶·���-s � ����� j ��$ K�HJ' � ����$\����� j � � FJQ M "���F\F (P,G′)
����� z ��HJ������H\#+��� F A

α ∈ AutA M ����N%$ ��2Z9;: = : = 2?>@.B( a~�����
α∗ �������c©[����$&H\#+"��%'�"�"�������#%$&��'�� j ��$�� Q M F\� F ��Fp$eA
C^���

CU��" #@$8#%$\��'�� M ����N+$ � = 7&58®8T@S�.1¥�()ab�����
α∗ ������� �U' j '�"�'���������Fp$`Wl#+"�F\'������¢©[����$\H\� j ���

A M #%$/_/(����� ��7J:+.�R69;: = 2?>@.B(�ab�����
α∗ ��������su"�#%$&��'�����Fp$�Wl#+"�F\' α 6= id =⇒ ∀x ∈ A : α(x) 6= x

_6A
α ∈ AutA M ����N+$�³E®8§�R�56.L:J°�.*2 =?¤+= ()a~����� α

��������� Q M F\� L � ��F\�;$&m�$�A f���F � ��FJ'�������H\� M ����N+$ α�)®8§*567/S1.1¥�( a~�����
α∗ s
"�#%$&��'�� j �;$�©[����$&H\� j #%���

F
��FJ$�W4�[A M A α 6= id =⇒ ∀x ∈ A \ L :

x, α(x)‖L _/Asu�����U� Q M F\����#%¶·����$&�%$ M ����N%$O³ °�.�R�¦L2?5?¥1569YS�.1¥L(+a~����� α∗ ���������t' j '�"�'��+��� j ��$b©[����$&H\� j #+��� F��FJ$!�����Pm���F&�%$\m�"���Q M α2 = id 6= α
����"�$�A

� Y �"�$8�� q #$,[# &)>Z*���Nr�·W hi_-CU���|C^��¨*����$&��'�����������H�C^��"�#%$8#%$\��'���#%��F��U���g��# � �|¯P��Fp$����n�����%#+"�����$m���H M ����H �����+� � �������)AWlo�_U´¬� M HJ������������C^��¨�����$\��'������ ��'��¢�1$\H\��Q8�n�����P������GBH&#%��F\"�#%$&��'��w�+' j K�"�� j ����$8�+HUF\�����)()� ���­�Fp$&����H\��������HJQ M #+��F � Q M FJ���*#@¶|����$8�@$&��� 6= id
(1�����ta~������Ht��Q M ��H\��������'�Q M �t¶·��F\K���������"������ F\�����)d

���



W � _|suF|��� � $|������� �!��� M ��a~����$&��H\��H��U¶·���;$8�%$\���)(
������W4�+��H&#%��� #+��Q M ���µ�1Q M ��" ��� Q M ��H\�*_|���������������������� �U# j ��� M # � ���)A�CE#%H\FJ$\��"�"���������������H z '�H j x 7→Mx+ t j �;$~��������H~H\������"��+H\��� 2× 2
�

� #%$&HJ� � M �����
t ∈ K2 d

±bS19�567J:J°y.*2 =?¤+= (
M M #%$!m�ab��� �+��H\FJQ M ��� � ������su��������ab��HJ$\�+A

�)®8§1S�²6R�®8§*567/S�.1¥L(
x 7→ Mx

��FJ$-�������|��Q M ��HJ����� j �;$�� Q M F\� L ( t 6= 0,
�����

tK 6 ‖L ABsuF��+� � $�+������� z � ��K�������$&���������+������� z � ������H&#+�����)A
f��w�����c�g'�"������������w��#+K���$&��"���a~��H\����� a~����$&��H\� kb����FJK�����"�� � �6$&H\#+Q M $&��$�([a!������K���������"������+���)(LC^HJ�6�
M ���������P��FJa�AW � _ z #+"�"�F α∗ ��������©[����$&H\#+"��%'�"�"�������#%$&��'��|��FJ$�(��*#+��������"�$ed F ��Fp$!����HJ���c� Q M F\�-'�����H z ∈ F

A

f�������HtGI#%$t����"�$
� Y �"� �D� �)562

α 6= id
562Z.[5U³ °y.*2 =?¤+= 31567�:J°�.[56.P±O²656.[5

(A,G)
����:+.*.�¥+2Z9 =��

� ���w,8R =
z ∈ A

� 56. = 7/S�V � R�>c§�: = α T�562Z.[56. �~562 = 567856. � 2 ��¦LS1.�T = S�.L3 
e5\315 � 2 �i¥1567J:�315 ¥158§ =
3+S178®8§

z
�

� .[�w,8R =
L ∈ G

³E®8§�R�5 ¡ >@. α � R�> 9Y2?5?¥156.P:+9Z9�5 � 2 ��¦LS1.�T = 5�:+S � L � ��2?5 �ª56.1¥15�31567 � 2 �i¥1567\:�3156.�
6= L

�`²�2Z9;3156.ª562Z.[5EvO:+7J:+9Z9�569£T@9;:@R8R�5
�
. ¤ V 9Y2?®8§

[x, α(x)]
� � 7

x ∈ A \ L �
� 9[�

α
§�: = § � ®8§�R = 56.�R�562Z.[5!³E®8§�R�5�S1.L3 § � ®8§�R = 56.�R�562Z. � 56. = 7/S1V � :�²6567E.*2?®8§ = ²656243158Rt0�S+¥+9�562?®8§ �

� 5��~562�R�� � � ������A �

� Y �"� ��� q #$,[# &)>Z*���Nr�·W hi_�W � A�h 
nA�h�_6(B} �+����������ab���;$&��H\��� z � ��K�������$ � a!��HJ������� �U���g��# � ��¯*W4Qe_FJQ M '��P����m������%$eAWlo�_¢´¢�������XW � A;h � A�hi_ ��FJ$ � ����� C^��" #%$&#%$&��'�� ����� � �����¬� Q M FJ���*#%¶·���;$8�%$y����HJQ M ����� �
������$J�kb��"���K�������$J����#�#%H
(a, b)

������������$&��� � ��Fp$&� j|j $�(b�4#+"�"�F a, b 6= z � m6a�A a, b 6∈ L
( �)A M A�W � A�h � _�+��"�$OF\��������� j �+N�� � H!CU��" #@$8#%$\��'�������������� Q M F\���*#%¶·���;$8�%$\���)A

q #$�"O�\��"#$J �^f��
AG(2,R)

F\���
α ∈ Aut(AG(2,R)) j ��$O� Q M F\�

L =

(
1
0

)
+

(
1
1

)
R

�����
α

(
0
0

)
=

(
1
−1

)
. �� ���� �� L

0
1

1

´µ��H�����HJF\��Q M ���������¢�^��F\#%$&m α(x) = Mx + v j ��$���� � ��Fp$&� j|j $\���¢�U'1��¶·m�������$&��� ��� M, v
A

C^#+F^su����F\�6$&m������+'��P�
������$&��� #+��F
L
�����

0 = (0, 0)T � ��M HJ$U#+��� M =
(

0 1
1 0

)
, v =

(
1
−1

) A

�1���
(A,G)

�������`#@¶|���`s � �����%A�suF � ��m�����Q M ��� Aut(A,G)
�����|��HJ��K�KL�`#%"�"���H��^��$\' j '�H\K M ��Fp�

j ���[( ∆ = ∆(A,G)
����� � �������P#+"�"���H C^��" #%$&#%$&��'������ ����� T = T (A,G)

����� � ��������#+"�"���HGBH&#%��F\"�#%$&��'������[A

� ¯



� Y �"�$X��
T
2�R =�� >@76V·:+9 = 562Z9�567 ¡ >@. ∆

S�.L3�3+2?58R�2�R =�� >@76V·:+9 = 562Z9�567 ¡ >@. Aut(A,G)
�

� 5��~562�R��t�^���g��# � � h���A �

� Y � .+D[� ,6.µ31567P:J°�.[56. ±O²656.[5
(A,G)

¥+2Z9 = � ³t3��c¥156.L:+S 3�:+.*.
�
�~56.*.

T
:+S
�

A
= 7J:+.�R62 = 2 ¡>8¦*567/2?567 = � 3 �e§ � ∀a, b ∈ A ∃τ ∈ T

V 2 =
τ(a) = b

�

(A,G) M ����N+$!�*#+��� ��7\:+.�R69;: = 2?>@.�R�5�²656.[5+A
� 5��~562�R�� � � ����� �}
=⇒ � db��������� a, b ∈ A, a 6= b

A��U'+��FJ$\H\������HJ$·a!��HJ�y������f�F\' j '�HJK M ��F j ��F τ j ��$ τ(a) = b
A

�U��F\Q M "�����N�������a!��H\� τ ∈ T
����m������+$eA*CU��¨*������HJ�

τ
a!���E�g'�"��+$ed

z�� H x ∈ A \ a, b FJ��� τ(x) = {b‖a, x} ∩ {x‖a, b}.
©[�

x ∈ a, b
aO� M "�� c ∈ A \ a, b �����PFJ��$\m�� τ(x) = {τ(c)‖c, x} ∩ a, b A´µ��H m����������

� W��i�
τ
2�R = S�.L:�²6§ ¤ .1¥+2;¥ ¡ >@.�31567 � :@§19 ¡ >@. c �

�1���
d ∈ A\a, b ����� τ ′ ����¨�������HJ$ua!��� τ ( � ����'�Q M�j ��$ d FJ$&#%$\$ j ��$ c A@´µ��H m������+��� τ(x) = τ ′(x)� � HU#%"�"�� x ∈ a, b;

�*#+H\#+��F �g'�"��+$ F\'%�g'�HJ$
τ = τ ′

d
h+A z #+"�"?d d 6∈ c, τ(c) = {c‖a, b} (U�*#%��� ��Hp� � "�";$ c, a, d, τ(c), b, τ(d) ������
'+H&#+��FJF\�6$&m����������y��'�� W4� �D_/(b#%"�F\'

c, d‖τ(c), τ(d) A�©[� x ∈ a, b
��HJ� � "�"����

x, c, d, τ(x), τ(c), τ(d)
� � �����4#%"�"�FB�������
'�H\#+��F\FJ��$\m������+��� ��'���Wg� �D_6(+#+"�FJ'E����"�$

x, d‖τ(x), τ(d) (��)A M A τ(x) = τ ′(x)
A

τ(d)
τ(c)

τ(x)
c

d

x
a

b

o1A z #+"�"ld d ∈ c, τ(c)
A�´¬� M "�� �U��";�gF\K�������$ e 6∈ c, τ(c) ∪ a, b ����� � ���n��$&m���������h�A z #+"�"�m6a~��� j #+"Wg�����bs ����FJ$\����m~����F �U��";�gF\K�������$&��FI��Fp$��n��HI�*#+�����+��F\��Q M ��Hp$e(ia~����� ordA ≥ 3

A%f j z #+"�" ordA = 2�+��"�$
A ∼= AG(2,Z2) �

������F!��Fp$!��������GIH\#+��F\"�#%$&��'���FJ� � �����e_6AC^#+FUm������+$�Wl#�_~�����
τ
��Fp$ a~' M "����6¨*������HJ$�A

�t����a!��H\� � ��a!����F\���
� 5
�i� � � 7
T�>@9Z9Y2Z.[5\:+785

x, y, z ∈ A
R62Z.L3

τ(x), τ(y), τ(z)
T�>@9Z9Y2Z.[5\:+7�S�.L3�58R�¥+2Z9 =

x, y‖τ(x), τ(y) �

h+A z #+"�"?d x, y‖a, b d �U#+Q M �U'���FJ$&HJ����$&��'�������"�$ τ(x), τ(y) = x, y
�����

τ(z) ∈ x, y = τ(x), τ(y)
A

f���F � ��F\'+������HJ������"�$ x, y‖τ(x), τ(y) Ao1A z #%"�"?d ∃c = x, y ∩ a, b A�´ª������� W4#�_~����"�$

τ(c) = {τ(x)‖x, c} ∩ a, b FJ'ia!���
τ(c) = {τ(y)‖y, c} ∩ a, b, #%"�F\'

τ(c) ∈ τ(x), τ(y).

su�n$\F\K�HJ��Q M �����

τ(c) ∈ τ(x), τ(z) =⇒ τ(z) ∈ τ(c), τ(x) = τ(c), τ(y).

� 




C^#+FUm������+$t#+��Q M
x, y‖τ(x), τ(y), �������

x, y = x, c‖τ(x), τ(c) = τ(x), τ(y).

C^# M ��Ht����"�$�W � _6A
�1���t�1���

τ ′
a!���

τ
����¨*������Hp$e(�# � ��H j �;$ τ ′(b) = a

A
�U#+Q M �t'���FJ$\H\����$\��'��y����";$ τ ′ ◦ τ = idWgm������+Q M FJ$ � � H x 6∈ a, b
��FJa�A£_6A�´ª���+������� j·j �6$&H\���|�+��"�$�#+��Q M τ ◦ τ ′ = id

(�#+"�FJ'c��Fp$
τ ′
�����

f����+��H\FJ����'��
τ
�����

τ
��FJ$ � � � ����$\���LA zI� H τ ′ ����"�$b� � �����4#%"�"�FEW � _/(��*# M ��HO��FJ$ τ �������^�U'�"�"������e#%$\��'��������ab���+���
∀x, y ∈ A, x 6= y : x, y‖τ(x), τ(y) = τ(x, y),

��FJ$
τ
FJ'���#+H
�������tC^��"�#%$8#@$&��'+�)A�CE#

x, τ(x)‖y, τ(y) � � H�#+"�"�� x, y ∈ A
�@#+���|��F��+������� z � ��K�������$&��+� � ���)(D#+"�F\' τ ∈ T

A
�

q #$�"O�\��"#$J � �+����� z #+Fp$&� �+H\KL��Hp��s � �����ª��FJ$���������GIH\#+��FJ" #%$\��'���FJ� � �����%AtC^��� � '���"�$&'+��� s � ��������Fp$�%��������GBH&#%��F\"�#%$&��'���F\� � �����·Wg�1��"lA��^���g��# � �-o � _6A
� Y � .Z��� q #$,[# &)>Z*���Nr�·W hi_`C^��HPkb��ab����F�m������+$e(O��#+F\F������ws ����FJ$\����mw�+'�� GBH&#%��F\"�#%$&��'������ j �;$�!��Q M $\����� G ∈ G

���n�����%#+"�����$!m��¢W4� �D_ j ��$ � �!��Q M $&����� G � ��FJ$�W4�[A M A G1, G2, G3‖G
_/A

Wlo�_E´¢�������ª�^���g��# � ��h��*W � _�W4'1����H`W � A�h � A�h�_ j ��$|W � A�h%A o+_\_E��� � $���F����ªGBH&#%��F\"�#%$&��'���F\� � �������ªm��
a, b ∈ A

�+���*#+�������
τ ∈ T j ��$ τ(a) = b

A�´¬� M "�$ j #+� o ∈ A
�g��Fp$e(�FJ'·ab��HJ����� � H!#+"�"�� a ∈ A

j ��$ τa ∈ T
!��"#·GIH\#+��FJ" #%$\��'�� j ��$ τa(o) = a � ��m�����Q M ����$eADC^#+������Fp$ τ : A→ T ; a 7→ τa

�������
kb� � ����$\��'��)A � #%� �@#+��� j ��$ ∀a, b ∈ A : a + b := τa(b)

�������-� ������$\��'��c#+���
A
������� ��M H\��� �����

(A,+)
��Fp$u�*#+���·������� ��HJ��K�KL�O��FJ' j '+H\K M m�� T A+su��� f�F\' j '�HJK M ��F j ��F���FJ$ τ (+�)A M A τa+b = τa ◦τbW��^#+Q M ab����F�����HJQ M �^��a~���������y#%��� o _/AIGI#%$&F\�+Q M "���Q M ��FJ$ (A,+)

�������|�+' j·j ��$&#%$&�;���|��HJ��K�KL�+(�������
� Y � .V.�� ,6. 
e5\31567 ��7J:+.�R69;: = 2?>@.�R�5�²656.[5

(A,G)
2�R =

T
T�>@V V S = : = 2 ¡ �

� 5��~562�R��^���������
σ, τ ∈ T

�����
x ∈ A

A
h+A z #+"�"?d x, σ(x), τ(x)

����Q M $��+'�"�"������e#+H�Ars
F�����";$ x, σ(x)‖τ(x), τ ◦ σ(x)�����
x, τ(x)‖σ(x), σ ◦ τ(x) A

τ( )x

( )xσ

� �� � ��

��� ��
x

τ ◦ σ(x) = τ(x), τ ◦ σ(x) ∩ σ(x), σ ◦ τ(x) = σ ◦ τ(x) =⇒ τ ◦ σ = σ ◦ τ,
�������

τ ◦ σ ����� σ ◦ τ F\�����PGBH&#%��F\"�#%$&��'������[Ao1A z #%"�"?d x, σ(x), τ(x)
F\�������+'�"�"������e#+H�A�´¬� M "�� % ∈ T j �;$ %(x) 6∈ x, σ(x) = x, τ(x)

ADsuFt�+��"�$

τ ◦ %(x) ∈ {%(x)‖x, τ(x)} 6= x, σ(x).

�U"�FJ'
σ ◦ (τ ◦ %) = (τ ◦ %) ◦ σ = τ ◦ (% ◦ σ) = τ ◦ (σ ◦ %).

� � HJm����P��'+� % � ��M HJ$U#+��� σ ◦ τ = τ ◦ σ A �

� �



� Y � .V9�� ��2?5�:J°�.[5�±O²656.[5
(A,G)

2�R = 3158R�:+7l¥+S*58R8R�®8§�¥156.L:+S�3�:+.*. � �~56.*. ∀a, b, z ∈ A � ¡ 567/<R�®8§12?5\3156.cS�.L3�T�>@9Z9Y2Z.[5\:+7
�
562Z.[5 ��2Z9;: = : = 2?>@.

δ
V 2 = � 2 ��¦LS1.�T =

z
S�.L3

δ(a) = b
5 ��2�R = 2?567 = �

� 5��~562�R�� }
=⇒ � d��^��#+"�'�� m�� j k~�6a~����F!��'��¢W � A£o ��_/A} ⇐= � d������ a, b, z a!����' � ���)A z�� H x ∈ A \ a, b F\��$\m����ya!��H δ(x) = z, x ∩ {b‖x, a} A z�� H

x ∈ a, b \ {z} aO� M "�� �U��";�gF\K�������$ c ∈ A \ a, b (I�����¢����HJ�4# M H\�`a!���`��� M # � $�A ��Q M "�����N�"���Q M FJ���
δ(z) = z

A�´ª���;$&��HOa!����� j k~��ab����Ft�+'��¢W � A o ��_6ADs �n$eA�� � ������A �

� Y � . E)� q #$,[# &)>Z*���Nr�·W hi_������
o ∈ A

�������g��FJ$\��Hu�u�����n$�A�CE#+��� ��FJ$
∆o := {δ ∈ ∆ ; δ(o) = o}������� �U��$\��H\�+H\��K�KL����'��

∆
Arf j z #+"�" A = AG(2, K)

����"�$
∆o

∼= (K \ {0}, · ) Wlkb��ab����F����n$eAFJK*�%$\��H��£_6A�C^����F\��� � j FJ$&#+�����@#+��� j #+�|�n��$&m����)(�� j K \ {0} ���`��������Hb����F&#+HJ������F\F\Q M ���Ps � �����m��P�%'���Fp$&H\������HJ���)ALCE# � ��� � ���+' j·j $ j #+�������-��H\��K�K���������������FJQ M #%�Z$t����F\Q M ������$eAWlo�_-f�� � M ��"���Q M ��H-´ª����F\�`�@#+��� j #%� (K,+)
#+"�F �t�n$\��HJ��H\��K�K��`�+'��

T
����a!���������[A�suF � "���� � $��#+F|©[��F&# j·j ����a!��HJ�+������'+� (K,+)

�����
∆o

m�� �n" �%H\���[( � j #+��Q M ������C^��Fp$&H\� � ��$\���1����FJ��$\m����#+Q M a~����F\���Pm���� ���������)A*CU����su����� ��M H\��������'+�P�t'�'+H\�����*#%$&���`���n$\F\K�HJ��Q M $t��� j �^#%Q M ab����F�(*�*#%F\F
T
����� �
����$&'�HJH&#+� j ��� ��H K ��Fp$eA �
�+"?A��*#%m��P#+��Q M W � A£o�h�_/AW � _O�^�*#%"�'��·�@#+��� j #+�P#+��Q M ����Q M $U����F\#+H\�+����FJF\Q M ��s � �������c�+'1'�HJ�����*#@$&��FJ����H\���[(���$�a~# z #+FJ$\� ��H �KL��HJ� � �������)A�k~���~GIH\#+��F\"�#%$&��'���FJ� � �������y��FJ$ � j|j ��H M ��� T

��'�Q M ����� �
����$&'+H\H&#%� j ��� ��H ������� j�+�����������6$&���P� �+H\KL��H�A
W � _�C^����� � "�$&�����+����$-��'��y��Q M "�����N������+F\F&�@$&m�������' j C^��F\#+H\������Fp� G �1Kym���� M ����������s ����FJ$\����m����/�a!��F\FJ��H-©[����$\H&#+"��+'�"�"������e#%$\��'������c#%��������H�K�HJ' � ����$\��������s � �����·��#+Q M F\��Q M ������� j �+���+� M HJ$�A C^����F
j�� �����6$U��������Ht��" #+FJF\�;¨*�@#%$&��'���K�HJ' � ����$&�;����H^s � �������P�*#%Q M � ����m������ckO#%H\"�'%$\$&�lA

� �



� ��� � ��� � � � � � � ��� � ��� ���

f�� ������FJ� j ��#+K���$\��"!a~��H\����� a!��H j ��$\H\��F\Q M �wkb����HJ� 	��P��� �����Pf���m���������m�����' j �6$&HJ���c������� ��M H\���)AC^#+F
����"������+$ ����H\Q M �����!C^��¨*����$&��'�� ��������H }�s � ����� j �;$
�U'�����H\������m � A�´µ��H�ab��HJ�����|m������+Q M FJ$b�n��H������FJ�·C^��¨*����$&��'���#+���+� � ����' M ��� ����� G M ��'+H\��� m�������$�a!��Q8�%��"��[AB�U��F\Q M "�����N������ � ��$\H&#+Q M $&����a!��Hm6a~��� a!��Q M $&�����-k~����F\K�����"��%A � j ����F!�*#+���P����Ht# ����' j #%$&��F\Q M ����C^��H\Q M � ��M H\�����`m���a!��� j ���)A
	 #�
 ���B?)�L;P�
�������

(E,G)
�����|f���m���������m�H&#%� j j �;$EW4s � _
������W4f � _6(n����Hb�*#+Fu}��U��FJ$&#+��F\Q M # ����' j����HJ� � "�"�$�A[su����� �t��" #%$\��'�� ≡ #+���

E × E M ����N+$ � >@.1¥+7/S*56.10�78569;: = 2?>@.B(Lab������� � H�#%"�"�� a, b, c ∈ E�+��"�$

W4� hi_ ≡ ��FJ$!������� ���n���;�+#%"�����m�H\��" #%$\��'��
W4�-o�_

(a, b) = (b, a)
�����

(a, a) = (b, b)

W4� � _
(a, b) = (c, c) =⇒ a = b

A

zI� H a, b, c, a′, b′, c′ ∈ E
F\Q M HJ��� � ����a!��H!# � � � H\m������

(a, b, c) ≡ (a′, b′, c′),
ab�����

(a, b) ≡ (a′, b′), (b, c) ≡ (b′, c′)
�����

(a, c) ≡ (a′, c′).

(E,G,≡) M ����N+$E±O²656.[5�V 2 = � >@.1¥+7/S*56.10D(�a~�����P�g'�"�����������������' j ����HJ� � "�"�$OFJ�����[A

WZ´«hi_ z�� H�#+"�"�� a, b, c ∈ E
�%'�"�"�������#+H^�����w����HJF\Q M ���������)( ����� a′, b′ ∈ E j ��$ (a, b) ≡ (a′, b′)������Fp$&����HJ$!�����*#+�������
c′ ∈ a′, b′ j �;$ (a, b, c) ≡ (a′, b′, c′)

A
WZ´ o�_�s
F·F\�������

a, b, x ∈ E
����Q M $|�+'�"�"������e#+H�( a′, b′, x′ ∈ E, c ∈ a, b

�����
c′ ∈ a′, b′ j �;$

(a, b, x) ≡ (a′, b′, x′)
�����

(a, b, c) ≡ (a′, b′, c′)
ADC^#+��������";$

(c, x) ≡ (c′, x′)
A

WZ´ � _�©[�
a, b, x ∈ E

����Q M $B�+'�"�"������e#+H[��� � $r��Fr�����*#%������� x′ ∈ E\{x} j ��$ (a, b, x) ≡ (a, b, x′)
A

� 8 �"��� q #7,-#$&)>Z*��%NB� h+AUC^#+Fr�^��Fp$8#+��FJQ M # ����' j FJ$&��"�";$ F\��Q M ��H�(��*#+F\F j #+�����������E}6����HJ� � ���Z$&������� �CU� j ����FJ��'���F � ����H\� 	 m���H �
��HJ� � ������� M #%$������ ��� ��H M #+��K�$���'�� }�s � ����� � F\K�HJ��Q M ��� �@#+���)Af���F � ��F\'+������HJ�P� j K�"���m�����HJ$���F�(u�*#+FJF ����������Q M $&��H�} �U��$\��H\H\#+� j�� �n��H "�����H�(��������u������$�(u'�����H�������-����H\#+����F\�������@#+���)A
o1AUsu��� �t�n$\��HJH&#+� j ��������Fbf���m���������m�H&#+� j F (P,G)

��FJ$��������!GI����" j ������� U ⊆ P j �;$
����H�su���+�����FJQ M #%�Z$�d ∀a, b ∈ U, a 6= b =⇒ a, b ⊆ U
A

� AUC^#+F!������' j Wg´ � _OFp$&��"�"�$ FJ��Q M ��H�(*�*#%F\FUs � ������� j ��$O�U'�����H\������m�a!��H\�n"���Q M ±O²656.[56. F\�����)A
� AUsu����� ��HJFJ$&�%(�a!��Q M $&����� z '�"�����H\������#+��F
�����·������' j ����a!��HJ�|FJ�����[(��*#+FJF~����H\#+������F\K���������"����������� ����FJ$\����H\���������������^}�H\��Q M $&���+��� � su��������F\Q M #@�Z$&��� M # � ���[A

� �



� � � ��� ����� �
��� ��� �
	 �
	�� � � ��� � ��� ���

su���n"�������F\Q M � s � ������� F\������#%¶·��� s � ������� j �;$ �t'�����HJ������m%A%´µ��HIab��H\������m������+Q M FJ$
�������O��"�#+F\FJ��+'�� kb����FJK�����"�����#+����� � ���)A�1���
E
�������+' j|j ��$8#%$\������H � �+H\KL��H j �;$�������� j ������'+"���$\'�H\��F\Q M �����U��$&' j '�HJK M ��F j ��F A
CU��H

z � ��� ��HJK���H�F\��� K = {x ∈ E ; x = x} A�W4CE#+FJF K a!��H\�n"���Q M �����¬����H\KL��H���FJ$e(~��FJ$�"�����Q M $�m��FJ� M �����£_
� 8 � .�� q #7�"O�\��"#$JL#D��h�A

E = C j ��$ ��� j �t' j K�"������%'�� � ��������HJ����� ��M Hp$^#%��� K = R
A

o1AUCU��Hu����H\KL��H
Q(

√
2) =

{
a + b

√
2 ; a, b ∈ Q

} � ��FJ��$&m6$ �����������+'�"���$\'�H\��F\Q M �����^��$&' j '�H\K M ��F �
j ��F a+ b

√
2 = a− b

√
2 j �;$ z � ��� ��H\KL��H Q

A
� A � � ��HO��� j � �+H\KL��H Z5 M #%$ �*#+FO�I'�" ����' j x2 − 2

�+������� �t��"�"�FJ$\��"�"��+A z�� H~�������U}�� � ��Fp$&"���Q M � ��t��"�"�FJ$\��"�"��
α
��FJ$

E = Z5(α) = Z5 + Z5α
�����ª� ��HJK���H j ��$����n�+'�"���$&'�HJ��F\Q M � j �U��$&' j '�H �K M ��F j ��F a+ bα 7→ a− bα

A
� A	�+������H�������"���Q M ��� �+H\KL��H K j ��$ 2 6= 0 � ��F\��$\m�$�su"�� j ����$\� a (������|�%������� �E�*#+��H\#%$&�|F\�����)A
CU��H\Q M }�� � � ������$&��'+� � ��������H	�t��"�"�FJ$&��"�"�� α ����F-�I'�" ����' j F x2 − a

��H M �+"�$ j #+�c����������� �+Hp�KL��H
E = K(α)

(B����H����������¢������'�"���$&'+H\��FJQ M ���ª�^��$\' j '�H\K M ��F j ��F � ��FJ��$\m�$eA������ M �|�*#+m��¢������ � �����+���)A
� At�U��Q M ����H�� �+H\KL��H GF(4)

#+��F�W � A�h � _ � ��FJ��$\m�$���������� �����+'�"���$\'�H\��F\Q M ���¢�U��$&' j '�HJK M ��F j ��F�(����H!����HJQ M τ 7→ τ + 1
�+����� � ���P��FJ$eA

C^#+F��I#�#+H
(E,K)

a!��H\�y#+��Q M ��������R�5�¦�:+7J:�²�9�5 � � S�:�3+7J: = 2�R�®8§*5 ��� 7 ¦*567&567 �~562 = 567/S1.1¥ �����*#%����$eA
CU���-k~��m�����Q M �n�����`HJ��Q M $\�g��HJ$\���+$!����H �g'�"����������%(�a!��Q M $&��������#%$\m+A
� 8 � 9���F
WQ?]�*���)562

E
562Z.ªT�>@V V S = : = 2 ¡ 567 ��� 7 ¦*567 V 2 = 562Z.[56VX2Z. ¡ >@9YS = >@7/2�R�®8§*56.w³^S = >@V`>@7 ¦*§12�R6<V S�R ����:+.*.�¥+2Z9 =

� ���
b, x ∈ E

R62Z.L3
K
<�9Y2Z.[5\:+7\:�²6§ ¤ .1¥+2;¥�¥156.L:+SP3�:+.*. � �~56.*. xb ∈ K

�
� .[� ��� 7�:+9Z9�5

y ∈ E \ K ¥+2Z9 =
E = K + yK

� ��567 �L58T = >@7/7J:+S�V
(E,K)

2�R = 3�:@§*567 0��~562Z<
3+2ZV`56.�R62?>@.L:+9 �

� 9[�w³^.L31567&R�:+SnR\¥15\3+7 � ®8T =�� ��� 7 
e5\3158R
α ∈ E \K ¥+2Z9 =

E = K(α)
S�.L3

α
2�R = � S�9Z9£R = 569Z9�5�3158R

� S�:�3+7\: = 2�R�®8§*56.Pv!>@9��@.[>@V�R
x2 − (α + α)x + αα

� ²6567
K
�

� 5��~562�R���Wph�_���s
b 6= 0

A�C^#+��� ����"�$
xb ∈ K

�����*#%� �*#+���[(Bab�����
xbb ∈ bK

�+���*#+�¢�*#+���)(
ab�����

x ∈ bK
�������

bb ∈ K
A

Wlo�_b´ª�������
E 6= K

��� � $!��F y ∈ E \K A z�� H x ∈ E
�+��"�$

(y − y)x = yx− yx + y(x− x)
����� yx− yx

y − y
,
x− x

y − y
∈ K.

� h



W � _ �+������F
α ∈ E

��FJ$ �U��"�"�FJ$\��"�"�������F �n�*#%��H&#%$\��FJQ M ���y�I'�" �1��' j F x2 − (α + α)x + αα j ��$�t'��6¶·m�������$&���P���
K
�

�

	 #�
 ���B?)�L;P�
� z�� H a, b, c, d ∈ E
F\�6$&m��

(a, b) ≡ (c, d) ⇐⇒ (a− b)(a− b) = (c− d)(c− d).

� ��$ (E,G) = AG(E,K) M ����N+$ (E,G,≡)
�����ª56S�T@9Y243+2�R�®8§*5�³�²�9�562 = S1.1¥ª��'��

(E, )
( � m�a�A�+'��

(E,K)
A

� #+�Pm������+$!"�����Q M $
� 8 � E)� ≡ 2�R = 562Z.[5 � >@.1¥+7/S*56.10�78569;: = 2?>@.w:+S
�

AG(E,K)
�

�

� 8 � Y�� q #7,-#$&)>Z*��%NB� h+A!´µ��H � �6$&H\#+Q M $&���ª������a!��Q M $&�������¢��KL��m�� #+";�4#+"�" E = C
�����

K = R.
�t����H ����";$

(a− b)(a− b) ∈ R≥0 A�f�������H!GI#%$tH\��Q M ����$ j #%��"�����Q M $!�*#+Q M (D�*#+FJF

d(a, b) =

√
(a− b)(a− b) =

√
(a1 − b1)2 + (a2 − b2)2

����H ��� "���Q M �O� � FJ$&#+���·����H
�%' j K�"���������©)# M "���� a, b ��FJ$�(�F\'1�*#+FJF (a, b) ≡ (c, d)
�����*#+���*#+���[(

ab�����c������� � Fp$8�+������m6a!��F\Q M ��� a, b ����� c, d ��"�����Q M F\�����)(��)A M A d(a, b) = d(c, d)
A

o1At�U"�"���� j ����� ����"�$ed Q : E → K; x 7→ xx̄
��FJ$�������� �n�*#%��H&#%$\��FJQ M � z '+H j (~�)A M A~� � H�#+"�"��

x, y ∈ E, λ ∈ K
����"�$

Q(xλ) = Q(x)λ2 �����
BQ(x, y) = Q(x + y) −Q(x) −Q(y)

��FJ$!��������F�� j·j ��$&HJ��FJQ M �-k~��"�������#+HJ�g'�H j Anf�������H!GI#%$t��Fp$ BQ(x, y) = xȳ + x̄y.
´ª���;$&��H ����";$

Q(x) = 0 ⇐⇒ x = 0,
�)A M A Q ��FJ$�.*S19Z9 = 562Z9Y2;¥�A

� Atf�Fp$
2 6= 0

(uFJ'¢����"�$�#%��N���HJ��� j Q(x) = 1
2
BQ(x, x)

(��)A M A Q �����
BQ � ��FJ$\� j·j ����FJ��Q M�+��������F\����$&����A

� AUCU��� z '�H j ��"�����H\����� j ��$ �n�*#%��H&#%$\��FJQ M ��� z '�H j ��� ��H\" #%� � $
������� �������4#+Q M � �
��H&#+"�"���� j ��������H\��������������P�U#%� j A

� ��$!����Ht' � ���P��� j #%Q M $\���Pk~��' � #+Q M $&�����`� �+��������a!��H m������+���
� 8 � 8���F
WQ?]�*���)562

E
562Z.ªT�>@V V S = : = 2 ¡ 567 ��� 7 ¦*567 V 2 = 562Z.[56VX2Z. ¡ >@9YS = >@7/2�R�®8§*56.w³^S = >@V`>@7 ¦*§12�R6<V S�R S1.L3 � 2 �%T � 7 ¦*567

K
� �-:+.*.c2�R = 3+2?5�56S�T@9Y243+2�R�®8§*5!³�²�9�562 = S�.1¥

(E,G,≡)
562Z.[5^±O²656.[5�V 2 =

� >@.1¥+7/S*56.10��

� o



� 5��~562�R���Wg´«h�_IsuFuF\�������
a, b, c ∈ E

�+'+"�"������e#%H�(i�)A M A+��Fu� ����FJ$\����HJ$ λ ∈ K j ��$ c = a+(b−a)λ A
zI� H^�������u������$\� a′, b′ ∈ E

����"�$&�
(a, b) ≡ (a′, b′)

()#+"�F\'
(a − b)(a− b) = (a′ − b′)(a′ − b′)

A
�1���L�1���

µ ∈ K
�����

c′ = a′ +(b′−a′)µ
An´µ��Hua~��H\������m����������)(n�*#+F\F

µ = λ
#%���)�*#%Fb����F\��Q M $\�

c′
� ��M HJ$e(*�����P��#+F\F!�������t'�������H\����m � ���������������·#+��F�WZ´«hi_ µ ������������$&�����g��Fp$&"����+$eACU�����g'�"��+���������!��Q M �1�����`m������%$ (a, c) ≡ (a′, c′) ⇐⇒ λ2 = µ2 d

(a− c)(a− c) = (a− b)λ(a− b)λ = (a− b)(a− b)λ2

(a′ − c′)(a′ − c′) = (a′ − b′)µ(a′ − b′)µ = (a′ − b′)(a′ − b′)µ2

f j z #%"�" 2 = 0
��FJ$!�*#+Ft���n���;�%#+"����n$!m��

λ = µ.´ª���+���
c− b = (a− b)(1− λ)

�����
c′ − b′ = (a′ − b′)(1− µ)

��FJ$
(c, b) ≡ (c′, b′)

���n�����%#+"�����$
m��

(1 − λ)2 = (1 − µ)2 ⇐⇒ 1 + λ2 − 2λ = 1 + µ2 − 2µ
C^#+FU��FJ$!�����*#+��� � H λ = µ

��Hp� � "�";$eAWZ´ o�_ C^��Htk~�6a~����F ��'+��Wg´«h�_~m������+$ � � H

λ ∈ K : c = a+ (b− a)λ ⇐⇒ c′ = a′ + (b′ − a′)λ.

� j �����ck~��ab����FU����H\Q M FJ��Q M $&������Htm�� j #%Q M ���)( � ���n��$\m����Pa!��H �����-��� W4¯�A � A£o�_O����������� ��M HJ$&��� k~�/�m�����Q M �n���������)A[suF!����"�$

Q(a− x) = Q(a′ − x′)
�����

Q(b− x) = Q(b′ − x′).

suF!�g'�"��%$~ab�������
c− x = (a− x)(1 − λ) + (b− x)λ

Q(c− x) = Q(a− x)(1 − λ)2 +Q(b− x)λ2 +BQ(a− x, b− x) (1 − λ)λ.

´ª����"B#+�*#+"�'������^��FJF&#+�+��� � � Ht�����-����FJ$&HJ��Q M ����������H �+N����P����";$&���[(L��FJ$U�����-m��cm����������������U��F\F\#+���#%"�F\'·���n���;�%#+"����n$!m��
BQ(a− x, b− x) = BQ(a′ − x′, b′ − x′)

A��t���P�+��"�$

−BQ(a− x, b− x) = BQ(a− x, x− b) = Q(a− x+ x− b) −Q(a− x) −Q(b− x)

= Q(a− b) −Q(a− x) −Q(b− x)

����������$&FJK�H\��Q M ������� � Hb�����U����Fp$&HJ��Q M ����������H ��N+���)A�CE#�# � ��Hb�����UH\��Q M $\���P������$&�����*#+Q M �
'+H&#+��F �FJ��$\m������|��"�����Q M F\�����)(��g'+"��+$ ������k~� M #+��K�$\������AWZ´ � _t´ª�������w����H^'
	[����F\��Q M $&"���Q M ���wGBH&#%��F\"�#%$&��'���F\�����+#%H\� #%��m���'�� } ≡ � (��%#%��� '�s a = 0
#+�����6�

��' j|j ����ab��HJ�����)A*´µ��H F\��Q M ��� #+"�F\'�m�� x 6∈ bK
�����

x′ ∈ E \ {x} j ��$

xx = x′x′
�����

(x− b)(x− b) = (x′ − b)(x′ − b).

�t����a!��H j�� FJF\���c������s
����������$&�����+����$!m����������)As ����Fp$&����m+d������
x′ := b(b)−1x

A�´¬�+HJ�
x = x′

(�FJ'-a~�+H\�
xb = xb = xb

#+"�F\'
xb ∈ K

�����·ab���+���
W4¯�A � A�h�_baO�+HJ���

x, b
"������e#+HO# ��M �+��������(�� j ´µ������H\F\K�H\��Q M m�� x 6∈ bK

ADCE#+Ftm������+$
x′ 6= x

A

� �



suFt����";$
x′x′ = b(b)−1x · bb−1x = xx

(���������HJFJ$\����"�����Q M ������A

(x′ − b)(x′ − b) =

(
b

b
x− b

) (
b

b
x− b

)
= (bb)−1(bx− bb)(bx− bb)

= (x− b)(x− b).

�U"�FJ' M #%$ x′ ����������a � ��F\Q M $&���wsu��������F\Q M #@�Z$&���[Asu����������$&���+�+���;$ed1�����
y ∈ E \{x} j ��$ xx = yy

�����
(x− b)(x − b) = (y− b)(y − b).

CE#+���
�+��"�$

xb + xb = yb+ yb
A � ��"�$&��K�"���m�����H\��� j ��$ y 6= 0

� ��M HJ$U#+���

0 = y2b− (xb + xb)y + yyb = by2 − (xb + xb)y + xxb.

CU����FJ� �n�*#+��H\#%$&��F\Q M �w��"�����Q M �����¢��� y M #%$�� j ����H\KL��H
E M �1Q M FJ$\����F�m6a~��� � ��F\���������[(~���������#��+'��c��FJ$

x
AL��' j ��$O��FJ$ x′ ������#%������HJ��� �+F\�����·��������Fp$!�*# M ��H!������������$\��� � ��FJ$\� j·j $eA �

q #$,[# &)>Z*���Nr��f j z #+"�" |E| = 4
W � ����� j #+" j '1����"�" �£_u��FJ$t�����-�U��F\F\#+��������FE��#%$&m���FU����Q M $U��#+��m�%'�H\HJ����$e(D�������¢W4f � _O����"�$O����Q M $eA*�U"�"��E#+������H\���P�^��F\#+�����PFJ������# � ��H!H\��Q M $&����A

	 #�
 ���B?)�L;P�
�������
(E,G,≡)

�������-s � ����� j �;$!�U'�����H\������m+ADsu������F\��H � ����$&�;���-� ��� ��"��������
ϕ : E → E M ����N+$ � 5��~5?¥+S�.1¥�(1a~�����P� � HU#%"�"�� x, y ∈ E

����"�$
(x, y) ≡ (ϕ(x), ϕ(y))

A

su������a!��Q M $&������k~��' � #+Q M $&�����`��Fp$
� 8 ���D� �)562

(E,G,≡)
562Z.[5E±O²656.[5�V 2 = � >@.1¥+76S*56.10��

� ��� �D2Z.L3
a, b, c ∈ E

T�>@9Z9Y2Z.[5\:+7�S1.L3
a′, b′, c′ ∈ E

V 2 =
(a, b, c) ≡ (a′, b′, c′) �

3�:+.*. R62Z.L3
a′, b′, c′

T�>@9Z9Y2Z.[5\:+7 �
� .[� �*5\315 � 5��~5?¥+S1.1¥

ϕ ¡ >@. E 2�R = 562Z.[5 � >@9Z9Y2Z.[5\: = 2?>@. �
� 9[� ��2?5 ��56.1¥15 B(E,G,≡)

31567 � 5��~5?¥+S1.1¥156. ¡ >@. E 2�R = 562Z.[5��r. = 567l¥+7/S�¦�¦*5 ¡ >@. Aut(E,G)
�

� 5��~562�R���Wph�_!f j z #+"�" |{a, b, c}| < 3
�g'�"��+$ j �;$�Wl� � _!#+��Q M |{a′, b′, c′}| < 3

����� �����-�^��F&#+���
��FJ$ $\H\���1��#+"?A
�U������H\���4#+"�"�Ft������Fp$&����HJ$

d′ ∈ a′, b′ j �;$ (a, b, c) = (a′, b′, d′)
�*#+Q M Wg´«h�_6A*´¬�+H\� c′ 6∈ a′, b′

(DF\'
�g'+"��+$\� j �;$�WZ´ o�_ba~������� (a, b, c) ≡ (a′, b′, c′)

#+��Q M (d′, c′) ≡ (c, c)
(�#+"�F\'

d′ = c′
�*#+Q M Wl� � _/AWlo�_E´¢������� Wl� � _E��Fp$

ϕ
��� � ����$\���L(r#+"�FJ' � � � ����$\���LA)´¢������� Wphi_^ab��H\�������+'+"�"������e#%H\���u������$&�`#+����%'�"�"�������#+H\�`�u������$&��# � �+� � ��"����6$eAICE#�#+��Q M ϕ−1 ��������k~��ab���������ª��FJ$�(I����"�$��*#+F�#+��Q M � � H ϕ−1�����

ϕ
��Fp$!���������t'�"�"�������#%$&��'��)A

W � _~��Fp$ a~������� W?o�_~�n"�#+H�A
�

q #$,[# &)>Z*���Nr��k~�6a~���������+����F\������#+"�FJ'������^�^��$&' j '�H\K M ��F j ���|��'+�Ps � ������� j �;$O�t'�����HJ������m%ACU��� z '�H\����H\������(���#+F\F ϕ ���������U'�"�"������e#%$\��'�����Fp$e(��g� M "�$���� ����H�C^��¨�����$\��'����n��H ����F M #%" � (�ab����"
j #+����F � ��ab����F\���P�@#+���)A

���



� 8 ����� q #7�"O�\��"#$JL#D��h�A � 	[��� � #+H F\������GIH\#+��FJ" #%$\��'������ E → E; x 7→ x + a
� � H�#+"�"�� a ∈ Ekb��ab�������������)A

o1AUCU���~� ��� ��"�������� σ : E → E; x 7→ a+b(b)−1(x−a) j ��$ a, b ∈ E, b 6= 0, M ����N%$ ��¦L2?5?¥1569YS1.1¥#%������HU����H&#+�����
a + bK

A*f�������H!GI#%$t����";$
σ ◦ σ = id

�����¢W j ��$-Wl¯�A � A;hi_\_

σ(x) = x ⇐⇒ b(x− a) = b(x− a) ⇐⇒ x− a ∈ bK ⇐⇒ x ∈ a+ bK.

´ª���;$&��H ����";$
σ(x) − σ(y) = b(b)−1(x− y)

A*suFt�g'�"��+$
(
σ(x) − σ(y)

) (
σ(x) − σ(y)

)
= b(b)−1(x− y) b(b)−1(x− y) = (x− y)(x− y).

C^# M ��H!��FJ$ σ �������-k~�6a~����������A
� At�U��Q M ������� ��� ��"�������� δ : E → E; x 7→ b(b)−1x

��FJ$!� � H b ∈ E \ {0} �������-k~�6a~����������ADf j
z #+"�" b 6∈ K M #%$ δ �����*#+������� z � ��K�������$ 0

A�´µ��H �����������
δ
����������7&58§1S�.1¥�A

´µ��H���� M�j ��� � ��$\m�$c#+�)(!�*#+FJFP����Hc����H\KL��H E ������su��������F\Q M #@�Z$ 2 6= 0 M #%$P�����¬��'�� ����H
z '�H j E = K(α) j �;$ α2 ∈ K

��Fp$�Wg�1��"lA�#%��Q M �^���g��# � � � hi_6An´µ��H�aO� M "�����������k~#+F\��F 1, α
����F

�
����$&'�HJH&#+� j F (E,K)
������F\��Q M ��� CE#%H\FJ$\��"�"������+�����+'���kb��ab������������� j ��$ �t��"��g� �+'�� � #@$&H\��m����)A

� ��$!�����ck~��m�����Q M �n�����+���w#+��F�W4¯�A � A o+_~����";$

Q(x) = (x1 + x2α)(x1 − x2α) = x2
1 − x2

2α
2 = xT

(
1 0
0 −α2

)
x =: xTFx,

ab' � ��� F �����
Q � ��Fp$&� j|j �������·W4F � j·j �6$&HJ��F\Q M ��_ � #%$\H\� ��W ��� ��H K _O��Fp$eA´¢#+������Fp$

ϕ : E → E; x 7→Mx + t j ��$ M ∈ GL(2, K), t ∈ E,
�������-k~�6a~��������� �

´ª����"bGBH&#%��F\"�#%$&��'������¢k~��ab���+����������FJ�����[( j ��F\F�����F � ��FJ'�������H\� Q(x) = Q(Mx)
����";$&���[A�CE#%F

� ��������$\��$
xTFx = (Mx)TFMx = xTMTFMx ⇐⇒ F = MTFM.

C^#+F�F\��� M $ j #+�ª������� j j #+��� � H x ������kO#+FJ��Fp������$\'�H\����������F\��$\m�$�A � #+�¢��H\�%������$�"�����Q M $�(I�*#%F\F������FJ�-k~���������������`#+��Q MPM ����H\����Q M ��������FJ$�A � �;$!������F\���Pk~��m�����Q M �n���������c����"�$
� 8 � X��

ϕ
2�R = ¥156.L:+Sc3�:+.*.�562Z.[5 � 5��~5?¥+S�.1¥ � �~56.*. F = MTFM

�
�

CU��H^��K���m���#+"��4#+"�"
E = C

�����
K = R

��FJ$ � ��FJ'�������H\��HUsuHJa~� M �n�����·a~��HJ$�A
� 8 �"� D[� ,6. 31567�7858569Z9�56. ³^.�R�®8§�:+S1S�.1¥@R�5�²656.[5

(R2,G,≡)
R62Z.L3«:+9Z9�5 � 5��~5?¥+S�.1¥156. ¥15?¥15�²656.

3+S17&®8§
R2 → R2; x 7→Mx+t

� �-:�²6562L2�R =
t ∈ R2 �

S1.L3
M
2�R = 562Z.[5 >@7 = §*>\¥1>@.L:+9�5

2×2
< ��: = 7/2 � �3 ��§ �

MTM = I2
����:@R�2�R = ¥+9�562?®8§ �~567 = 2;¥�0�S

M−1 = MT �

� �



� 5��~562�R��	�+������k~�6a~���������`��FJ$t�������-�U'+"�"������e#@$&��'+������HU#%¶·����� s � ����� AG(2,R)
WgF\��� M �`Wl¯�A 
�_\_/(#%"�F\'��*#+Q M ��� j z �����*# j ����$8#+"�F&#%$\m���'��y����H z '�H j x 7→ σ(x) + t j �;$ t ∈ R2 ����� ��������HFJ� j ��"�������#+H\����k~� � ���n$\��'��P��'�� R2 ArCE#�# � ��H R

����� f�������$\��$8�@$-#+"�FE������m����������^��$\' j '+H\K M ��F j ��F
� ��FJ��$\m�$e(���Fp$ σ F\'���#+HO"������e#%H�(n�@#+����#+"�F\' � ��m � ��"���Q M � ������H k~#+F\��F j �;$~��������H � #@$&H\� � � ��F\Q M HJ��� � ���ab��HJ�����[A
´µ��Hba~� M "����������^kO#%F\��F 1, i

� � H C
�����`��H\�%���������)(*�*#%F\F

F = I2
�����Esu��� M ���;$&F j #%$\H\� ����Fp$eA �U����g'+"��+$ ������k~� M #+��K�$\�����`#+��F-Wl¯�A ��_/A �� 8 �"�V��� q #$,[# &)>Z*���Nr� h�A!�U��Q M a~����� K

����Q M $\$\H\���1��#+"��·�^��$\' j '�H\K M ��F j ��� � ��F\�;$&m�$�(I�+� � $���F�%��������} F\� j ��"�������#+H\��� � kb��ab�������������)(%�)A M A+#+"�"���k~�6a~������������� � ��������� � a!���b' � ��� � ��FJQ M H\���6�
� ��� � j ��$ � #@$&H\��m�������#+H\����FJ$\��"�";$Oab��H\�����)A

o1A � #+���%#%����#+"�FJ'wFJ$&#%$\$ ������� �+H\KL��H\��HJab���;$&��HJ����� (E,K)
m�� � ��$\H&#+Q M $&���)(
#+��Q M AG(2, K)�����¢�����������������+����$\� � #%$&HJ� � F

m���H�k~��F\Q M HJ��� � ��������'��ª�����n"�������FJQ M ���ªs � ������� � ���1��$&m����)ACU����FJ��H ´ª����a!��H\� j ����FJ$!��������H � ������#+H\���P�U"���� � H&#�����������F\Q M "�#+�����)A

��� � � ��� ��	�� �
����� ����� ��� � ��	 � ����� � � � � � ����� � � �
	 ��� �
	 �

� �1K���H � '�"���F\Q M ����s � ��������F\������� � �����4#%"�"�F~s � ������� j ��$~�U'����+H\������m+(������E# � ��HO����Q M $!#@¶|��FJ�����[A´µ��Hb�+� � ��� M ����H��n��Hu}��*#+F � k~����F\K�����" ��� ��H������`H\����"�"����`©)# M "����`#%�)(n���`��������H�k~��FJQ M H\��� � ������(������#%��� z ��"�� ����"�������� m���H � Q8����� M $eA
zI� HE�����w�+' j·j ��$&#%$&�;����������H\KL��H K � ��$\H&#+Q M $&���1����HE�%'�"�"�������#+H\���u������$&� aK, bK, cK, dK ���
PG(2, K)

A C^��HJQ M ´¢# M "�����H �
��HJ$&HJ��$\��H a, b, c, d ∈ K3 � ���������ªa!��HE� j z #+"�" aK 6= bK, cKFJ'�a!���
bK 6= cK, dK

��H\HJ����Q M ���)(D�*#%F\F!����";$
c = a+ b

�����
d = a+ bδ

� � Ht������������������$&���DW �£_ � ��FJ$\� j·j $&��F δ ∈ K
A

´µ��HI�����������
DV(aK, bK, cK, dK) := δ

�*#+F ��>8¦�¦*569 ¡ 567&§ ¤ 9 = .*2�Rb����H�������� � ���������u������$&�%A+�^�1�N+��H\��� j F\��$\m�����a!��H DV(aK, bK, cK, bK) := ∞ �����
DV(aK, aK, cK, dK) := 1

A�´ª����$\��HJ�
FJK���m�����"�"��E´¢��HJ$\�-��H\��� � ���PFJ��Q M ����HJQ M �������U'���������$&��'+� 0−1 = ∞ ����� ∞−1 = 0

�����
� 8 �"�$.�� � ���

DV(aK, bK, cK, cK) = 1
�

� .[�
DV(aK, bK, cK, dK) = DV(cK, dK, aK, bK)

�
� 9[�

DV(aK, bK, cK, dK) = DV(bK, aK, cK, dK)−1 = DV(aK, bK, dK, cK)−1 �
� 5��~562�R���Wph�_~��FJ$!'�	[��� � #+H�(BW � _b�g'�"��%$ F\'+�g'+HJ$t#+��F!����HtCE#+H\Fp$&��"�"������ dδ−1 = b + aδ−1 ����� Wlo�_6A
Wlo�_~�^��F

c = a + b
�����

d = a+ bδ
�g'�"��+$

a(1 − δ−1) = c− dδ−1 �����
b(1 − δ) = c− d.

� ��$ a′ = a(1−δ−1), b′ = b(1−δ), c′ = c, d′ = d(−δ−1)
�g'�"��+$

a′ = c′+d′
�����

b′ = c′+d′δ.C^#+FU��FJ$!������k~� M #+��K�$\������A �

��&'� 
 � ��� 
��!��D�-�I  � � - ���16

� ¯



q #$�"O�\��"#$J �^f��
PG(2, K) � ��$\H&#+Q M $&���·a!��H �����!����H&#+��� G (������O����HJQ M x2 = 0

����¨*������Hp$
��Fp$eA�CU���
�u�����n$\� M # � ���w����� z '�H j (1 : x : 0)

������� ��������� j ��$ x ��������$&�;¨*m�����HJ$Ua~��H\�����)ArC^�����
������$
(0 : 1 : 0) ∈ G

F\Q M HJ��� � ����a!��H ∞ A z�� H a, b, c, d ∈ K
�+��HJF\Q M ��������� ����";$

(1, c) = (1, a)(1 − λ) + (1, b)λ j �;$ λ =
c− a

b− a

�����
(1, d)µ = (1, a)(1 − λ) + (1, b)λδ.

C^# � ���)a!��H\��������� 2
� �t'�'+H\�����*#%$&�Ua~��������"�#+F\FJ���)ALsuF �g'�"��%$

µ = (1 − λ) + λδ
�����

dµ = a(1 − λ) + bλδ

C^#+FU��H\��� � $

d
(
(1 − λ) + λδ

)
= a(1 − λ) + bλδ =⇒ δ =

(a− d)(1 − λ)

(d− b)λ

=⇒ δ =
(a− d)(1 − c−a

b−a
)

(d− b) c−a
b−a

=
(a− d)(b− a− (c− a))

(d− b)(c− a)
=

(a− d)(b− c)

(a− c)(b− d)
=

a−d
a−c

b−d
b−c

.

C^# M ��H ����H �^# j ��} C^'�K�K���"�����H M �%"�$&����F � A�CU����FJ� z '�H j ��"
����"�$�#+��Q M a~����������H �u�����n$ ∞ ��'+Hp�
�%' j·j $e(D������� j j #+�c����� ��� "���Q M ��� �t'��������n$\��'������ � ���n��$&m6$eA[�U��Q M �������U��F\F\#+����� �+'���W4¯�A�h�o�_FJ������"�����Q M $!m���F\� M ���[A
q #$,[# &)>Z*���Nr�-��'�a!��H\� ��#+F�C^'�K�K���"�����H M �%"�$&����F^m%A&k^A���� ����H z ������$\��'�������$ M ��'�H\��������������� ��M HJ$�AsuFO�+� � $b�������E�!��� M �tab���;$&��H\��HO���n�����%#+"�����$&��HO©[�����+�����%A�C^# � ���[��FJ$b�����^C^��¨*����$&��'��`����Q M $O����� M ����$p�"���Q M A �^�%��¨*�ca!��H\� Fp$8#%$J$ δ ����H�´¢��HJ$ δ−1 ����HJab�������6$eAu�U"�"��|# � ab����Q M ��������� CU��¨*���;$&��'������¢�������H � ��$&��H&#%$\��H ��HJ��� � ����F\��Q M ����H\Q M �I��H j ��$&#%$&��'�������Htsu����$\H&�+������������F\��H\� j DV

A

su������a!��Q M $&������su��������F\Q M #@�Z$U��FJ$
� 8 �"�$9�� �)562

K
562Z.PT�>@V V S = : = 2 ¡ 567 ��� 7�¦*567 �

� ��� �*5\31567�9Y2Z.[5\:+785t³^S = >@V`>@7 ¦*§12�R6V SnR ¡ >@. PG(2, K)
9 ¤��B=

DV
2Z. ¡ :+7/24:+. = �xU56.L:+S*567 � �)562

M
562Z.[5�2Z. ¡ 567 = 2?567�²8:+7 3 × 3

< ��: = 7/2 � � 3�:+.*.�¥+2Z9 =

DV(MaK,MbK,McK,MdK) = DV(aK, bK, cK, dK).

� .[� �*5\315 � 56. = 7J:+9£T�>@9Z9Y2Z.[5\: = 2?>@.�2�R = 9Y2Z.[5\:+7 � 3 �e§ ��R62?5	�u2Z7J3 ¡ >@.�562Z.[567U9Y2Z.[5\:+7&56.`³�²�²�2Z9;3+S1.1¥ 2Z.L3+S�<0�2?567 = S1.L3`9 ¤��B= 3�:@§*567
DV

2Z. ¡ :+7/24:+. = �
� 5��~562�R���Wph�_~��FJ$!'�	[��� � #+H�AWlo�_
�����

ϕ
�������U©[���n$\H&#+"��+'�"�"������e#%$\��'�� j �;$u� Q M F\� L ������©[����$&H\� j z

A�´¬� M "��!�������tkO#+F\��F b1,b2�+'��
L
�����`��H\���+��m��^����� j ��$ b0

m��|��������HbkO#+FJ��F
��'��
K3 Anf j z #+"�" z 6∈ L

a~� M "�� b0 ∈ z,
�)A M A

z = b0K.
f��ª����H�#%¶·������s � ����� (A,G) = PG(2, K) \ L ��Fp$

α = ϕ A
�������|GBH&#%��F\"�#%$&��'��

� 




'1����H-�������|�1$\H\��Q8�1����� j ��$-©[����$&H\� j 0
AB��' j ��$��+��"�$ α(x) = x + t

'1����H
α(x) = xλ.

CE# M ��H�+��"�$ � ��m � ��"���Q M ����HUk~#+F\��F b0,b1,b2
WZ���+"?ArW � A�h�o+_\_

ϕ(x) = Mx j �;$ M =




1 0 0
t1 1 0
t2 0 1


 '1����H

M =




1 0 0
0 λ 0
0 0 λ


 .

�U#%$ � H\"���Q M ��FJ$ � �����e#+HJ��$&�%$O����# ��M �+������� ��'+�P����H ´ # M " ��������H!kO#+FJ��F�A �

f j z '�"�������������F\KL��m�� #+"���F\����HJ���wa!��H-�����¢� ��HJK���H�m�� R
�����ª�������%��� a!��H-����F�Fp$&�6$&F

AG(2,R)�@#+��'�����FJQ M ��� (P,G) = PG(2,R)
��������� � ��$J$&��$�(OF\'��*#%F\F��*#+F�C^'+K�K���"��+��H M �+"�$\����F�#%��Q M � � H�%'�"�"�������#+H\�^�u������$&��#+��F

R2 ���6¨*������HJ$ ��FJ$�A������ (H,GH)
����H f���m���������m�H&#+� j #+��F�Wph�A;h+A;h�hi_/(��)A M A��FUFJ���

K :=
{
(x1, x2) ∈ R2 ; x2

1 + x2
2 = 1

} �����
H :=

{
(x1, x2) ∈ R2 ; x2

1 + x2
2 < 1

}

����Htsu��� M ����$\F\�nH\����F�( � m�a�A*����F\F\��� f�������H\��F�A*´¢����$\��H F\���

GH := {G ∩H ; G ∈ G j ��$ G ∩H 6= ©"} ,
�����t����H&#%����� j ������� � ��FJ$&� M $O#+"�F\'-#+��F
�������1���@#+��$&���|��'+� K A�f���F � ��F\'�������H\�U� ���������·a!��H
�U'+���Fp$&HJ����$&��'+�����P#+��Q M ��� R2 ����HJQ M � ��M HJ���)ACU��� �t'�����HJ������m�����¨*������HJ��� a!��HUa!�����g'�"��+$�A����������

a, b ∈ H
�����wF\�������

u, v ∈ a, b �
�
∩ K �����

� ������������Q M ���;$\$\K�������$&�t����H �
��H � �����������+F\����H&#+���!��'+� a, b ��� R2 j �;$ K A�su��$&FJK�H\��Q M ������F\�������
u′, v′

m��
a′, b′ ∈ H

��H\�n" �%HJ$eA�´µ��H F\�6$&m����

(a, b) ≡ (a′, b′) ⇐⇒
{

DV(u, v, a, b) = DV(u′, v′, a′, b′)
'1����H

DV(u, v, a, b) = DV(u′, v′, a′, b′)−1

}

⇐⇒ |ln DV(u, v, a, b)| = |ln DV(u′, v′, a′, b′)| .

� ��$�Wl¯�A�hio1A � _~��H\�%������$ j #+�[(��*#+FJF } ≡ � ab' M "�����¨*������Hp$U��FJ$!�����
� 8 �"�'E)� � ≡ �U2�R = 562Z.[5 � >@.1¥+7/SD56.10�7&569;: = 2?>@.w:+S
�

(H,GH)
�

� 5��~562�R���Wl� hi_~��FJ$!�n" #%H�(������ W4�-o�_b�g'�"��%$ ����HJ����$U#+��F�Wl¯�A�hionA � _6A
´ª����"

u, v, a
�+��HJF\Q M ��������� F\�����)(*����"�$ DV(u, v, a, b) = 1 ⇐⇒ a = b.

C^#+F!m������+$�Wl� � _/A
�

	 #�
 ���B?)�L;P�
��CE#%FtGBH\��K���"
(H,GH ,≡) M ����N%$ � 9�562Z.�R�®8§*58R ��>�31569Z9r31567E§ �/¦*567�²6>@9Y2�R�®8§*56.�±O²656.[5+A

´ª���+����W4¯�A�h � _!"�#+F\FJ��� ©[����$&H\#+"��%'�"�"�������#%$&��'��������+'��
P
(L�����

K
�g��FJ$ M #+"�$\���P�������U'�����H\������m�HJ��"�#@�$\��'������n�%#+HJ� #+��$�(���������m�����HJ����#+"�FJ'�k~��ab���+��������� #+���

H
A�´µ��H � ��$\H&#+Q M $\�����1��Ht��������� z #+"�"?A zI� H�������-�1���@#+��$&�

L ∈ G
�+'��

K
�����

u, v ∈ L ∩K F\���
p
����Ht��Q M ����$\$\K�������$t����H G�#+��������$&���c#%�

� �



K
��������� �u������$\���

u, v.
C^����F\��H��u�����n$

p M ����N%$�v!>@9bm���H v!>@9;:+7856. L
A � j �����%� M Hp$ � ��FJ��$\m�$#%��Q M � ������Ht�u������$U#+��N���H M #%" � ��'�� K �������-�I'+" #+HJ�+(������-�����@#+��$\�-�+'��

K
��FJ$�A

�1���~�n���
L
� Q M F\����������H ©[���n$\H&#+"��+'�"�"������e#%$\��'�� ϕ 6= id

(I�����
K
�g��Fp$ M �+";$eAICE#+��� j ��F\F ϕ �����

� ���������wGI#+���+����$&��������H\Q M u ����� v �g��Fp$&" #%F\F\���yW4�*# u, v �g��Fp$ � "���� � ���)(��@#+���w�*#+F�k~��"��P�+���������ab���;$&��H\������Q M ���;$\$&K�������$ j ��$ K M # � ���D_/A�C^# M ��Hb��Fp$~����H~�B'�" p �*#+FO©[����$&HJ� j A��������n��� G �������
�1���@#+��$&����'+�

K
(������

p
����$ M �%"�$eA z�� HO����� � ������������Q M ���;$\$\K�������$&� s, t ∈ G ∩K �+��"�$

ϕ(s) = t�����
ϕ(t) = s

A�´ª������� W � A;h � A o�_ j ��F\F ϕ2 = id
����"�$&��� �

ϕ
��Fp$t#+"�FJ'���������f��n�+'�"���$&��'+�)A

©[���g��Fp$��+��a~� M "�$\� j G
� ����FJ$\����Hp$�#+��Q M �+���*#+����������F\'�"�Q M �`©[����$&H\#+"��%'�"�"�������#%$&��'��)A�CE# M ��H-����¨��������HJ����a!��H

	 #�
 ���B?)�L;P�
��C^����FJ�tf����+'�"���$\��'�� a!��H\��vt>@9;:+7&56.�R�¦L2?5?¥1569YS1.1¥�#+�
L
������#+����$~�����

L̃
�+��F\Q M H\��� � ���)A�1������Fp$!����HJQ M L ������������$&�����g��FJ$\����"����+$�A

� 8 �"�$Y�� � 2 = 3156.ª>+²�2;¥156. � 5\0@562?®8§1.*S�.1¥156.�¥+2Z9 =
� ���

L̃(K) = K
S1.L3

L̃
2�R = 2Z. ¡ >@9YS = >@7/2�R�®8§*5 � 5��~5?¥+S1.1¥ ¡ >@. (H,GH ,≡)

�
� .[� ∀x ∈ P \ L ∪ {p} : DV(p, p, x ∩ L, x, L̃(x)) = −1

�

� 5��~562�R���Wph�_�C^���`��HJFJ$\��G�#%$\F&#+Q M ����HJ�g'1����HJ$��������n$\����FJF\� ��� ��H���������"�F\Q M ����$\$\�`��� K�H\' � ����$&�;�����s � �������)(������Ua!��H~����Q M $Om���H
�
��HJ� � �+����� M # � ���[A�su����#%������HJ��H~´ª��� ��FJ$~�������^" �%����"���Q M �+(n�%' j K�"��;�m�����HJ$&�-�!��Q M �n������ACU���-#+������H\���csu���+����FJQ M #%�Z$&���P�+'�� L̃ a!��H\�����c' � ��������m������+$eAWlo�_ �^#%Q M Wl¯�A�h � A o+_~�����¢Wl¯�A;hio�A � _~����"�$

δ := DV(p, p, x ∩ L, x, L̃(x)) = DV(p, p, x ∩ L, L̃(x), x) = δ−1,

#%"�F\'
δ2 = 1.

´ª�������
L̃(x) 6= x

�+��"�$
δ 6= 1

(*�����P������k~� M #+��K�$\�������g'�"��%$eA �

� 8 �"�$8�� q #$,[# &)>Z*���Nr� h�AU�1$&#%$\$
L̃ j�� F\Fp$&� j #+�¢�����*#+����H��������!��Fp$&H\����$&��'+� L̃ H : H → H

� ��$\H&#+Q M $\���)ALC^����F\�-� ��� ��"�������� �@#+���P#+"�Ft����H&#+������F\K������+��"������ ��'�� (H,GH ,≡)
#+���g�����4#+FJFJ$

ab���+���)A
´µ��H F\K�HJ��Q M ���c�*# M ��Ht#+��Q M ��'��w§ �8¦*567�²6>@9Y2�R�®8§*56.¢xU567J:�3156.�R�¦L2?5?¥1569YS�.1¥156.BA

o1AUCU���^' � �����U�U'+��FJ$\H\����$&��'���m������%$~a!��� � ����� j �u�����n$ p #+��N���H M #+" � �+'�� K �������E����H&#+���
π(p)Wg�������·�����@#+��$\�·�+'��

K
_Em�������'�HJ�����6$-a!��H\�)A[G�#%$\F&�+Q M "���Q M �@#+��� π #%���~��#+��m P �g'�HJ$\����FJ��$\m�$

ab��HJ�����[A
CE# � ���~��FJ$�� � H �u������$&� p ∈ K
�*#+F kb��"��

π(p)
�����|G�#+��������$&��#+�

K
���

p
�����

�u�����n$\��#%��F
H
ab��HJ�����w#%��� �I#+F\F\#+��$&���c���6a~'�Hp�g���)A

� AUCU����� ��� ��"�������� π : P → G
��Fp$ ���������U'�"�"������e#%$\��'��w�+'��

PG(2,R)
#+���t�����yCU�*#+"�H\#+� j

j ��$ π ◦ π = id
A s
������F\'+"�Q M ��� ��� ��"�������� a!��H\� v!>@9;:+762 =?¤+= �����*#+����$�AtWlCE#+F���H\" #%� � $���������t'���Fp$&H\���n$\��'���� � Ht�u������$\����� H �£_

� �



� At�U��F-W � A�h � _b�@#+��� j #+��# � "���FJ���)(1a!���Em�� � ����� j �u������$ ��'�� H ����H!k~��"���K�������$~�+'���Fp$&HJ������HJ$
ab��HJ�����P�@#+���)ABW4CE#+F a!��HJ����������H �
'�HJ"���FJ�����·#+��FJ����� ��M HJ$�A _

� AU�u�����n$\� j ��$ DV = −1
��������$ j #%�P#%��Q M ��� §�:+76V`>@.�2�R�®8§*567��):�¥15�A

¯�AUC^#+F���"�������FJQ M � � '1����"�"B����H M �1KL��H � '�"���FJQ M ����s � ����� (H,G,≡)
��Fp$^��������s � ����� j �;$^�t'�����+H\������m+ADCE#%m��Pa~�+HJ����������� ����' j �·Wg´«hi_/(rWg´ o�_/(BWg´ � _~m��Pm����������)A

� � ��� � �
	����

´µ��H � �6$&H&#%Q M $\��� � ��$&m6$��������U# � FJ$\H&#+��$&�Us � ����� j �;$
�U'�����H\������m (E,G,≡)
(�a!���tFJ���t# j �U���4#+���������FJ��Fu�I#+H&#%��H&#+K M ��� ���6¨*������HJ$Ia!��H\���+A�f���F � ��F\'�������HJ� ����";$&���������b������' j �^Wg´«hi_/(�WZ´ o�_6(�Wg´ � _/A

�t��F\��H^��H\FJ$\��F^©[����" ��FJ$!��FU�����-s ����FJ$\����m-��'�� ����H&#+������F\K������+��"�����������m��Pm����������P�����cf M HJ�-a!��Q M �$\����Fp$&���csu���+����FJQ M #%�Z$&��� M ��H\m���"�����$\���)A
	 #�
 ���B?)�L;P�
��su�����bGB����" j ������� U ⊆ P

��������FIf���m���������m�H&#+� j F (P,G) M ����N+$��B. = 567/7J:+S�V�(�a~������+��"�$�d ∀a, b ∈ U, a 6= b =⇒ a, b ⊆ U
A

´µ��HEa~��H\�����¢#%����� M�j ���)( �*#+FJF E �n��HE�g'�"���������� �U��$&��H\H&�%� j � � ��FJ��$\m�$ed[����� "�����HJ� � �������+( �������������"�� j ���n$\������� � �����+���¢Wl�u������$&� � _/( � ����������H&#%���+(*����� E A �
��H\��"�����Q M ���*#+m��¢Wl¯�A�he_6A
� 8 �"� �D� �)562?56.

a, b, x ∈ E
.*2?®8§ = T�>@9Z9Y2Z.[5\:+7`S�.L3

x′ ∈ E \ {x} V 2 = (a, b, x) ≡ (a, b, x′)
�

�-:+.*.�¥+2Z9 = {c ∈ E ; (x, c) ≡ (x′, c)} = a, b
�

� 5��~562�R��!´µ��Hum����������)(+�*#+F\F
U := {c ∈ E ; (x, c) ≡ (x′, c)} ������� �t�n$\��HJH&#+� j ��FJ$�An��������� s, t ∈

U
�����

u ∈ s, t,
��#+��� ����"�$

(s, t, u) ≡ (s, t, u)
�����

(s, t, x) ≡ (s, t, x′)
A � ��$�Wg´ o�_��g'�"��%$

u ∈ U,
#%"�F\'

s, t ⊂ U.
´ª���+���

a, b ∈ U
����"�$

a, b ⊆ U
A*C^#

x 6∈ U
����";$

U ( E.

� ��$!����Ht' � ����FJ$\� M ��������� k~� j ��HJ�1�����|��FJ$!�n��H U = a, b j ���+"���Q M A �

� 8 �"� ��� ��� 7
L ∈ G

S�.L3
x ∈ E \ L ¥+24² = 58RE¥156.L:+Sª562Z.

x′ ∈ E \ {x} V 2 = (c, x) ≡ (c, x′)� � 7�:+9Z9�5
c ∈ L

�

� 5��~562�R��^���������
a, b ∈ L

����HJF\Q M ���������)(���#+���·������Fp$&����HJ$
�����*#+�·����� x′ ∈ L\{x} j ��$ (a, b, x) ≡
(a, b, x′)

�*#%Q M WZ´ � _6A zI� H c ∈ a, b
�g'�"��+$ j ��$-WZ´ o�_ (c, x) ≡ (c, x′)

A
�

´µ��H F\Q M HJ��� � ��� xL = x′.
´ª���+���c����F � � j·j #+F ��FJ$!�*#%F!ab' M "�����¨�������HJ$eA

	 #�
 ���B?)�L;P�
��C^����� ��� ��"��������

L̃ : E → E ; x 7→
{
x

� � H x ∈ L

xL � � H x ∈ E \ L

M ����N%$·xU567\:�3156.�R�¦L2?5?¥1569YS1.1¥�A

� �



� 8 �"�$X�� ��� 7 :+9Z9�5
L ∈ G

2�R =
L̃
562Z.[5b2Z. ¡ >@9YS = >@7/2�R�®8§*5 � 5��~5?¥+S1.1¥ � 3+2?5
¥156.L:+S�3+2?5�vbS1.�T = 5 :+S�R L�e58R = 9 ¤ R8R = �

� 5��~562�R�� �^#%Q M C^�6¨*���;$&��'+���+��"�$ ∀x ∈ L : L̃(x) = x
������ab��������Wg´ � _O#+��Q M L̃(L̃(x)) = x.

� j m�� m����������)(b��#+F\F
L̃
������� k~�6a~������������FJ$e( � H\#+��Q M $ j #+� �U��F\F\#+����� m���H�� � "�"��P��� �^��Fp�$&#+��FJQ M H&�+� j ��� a!����F\��������� � � � � M #+������"�$�ab��HJ�����)A
´µ��H � ��M H\��� M ����H������ k~��ab����F`�n��H�� � H#@¶|����s � ������� (E,G)

AL���������
x, y ∈ E

������'�s
x 6= y.

h+A z #+"�"ld ∃z = x, y ∩ L
A �U#+Q M Wg´«h�_�������Fp$&����HJ$ x′ ∈ z, L̃(y) j �;$ (y, z, x) ≡ (L̃(y), z, x′)

A
zI� H a ∈ L \ {z} �+��"�$ (y, z, a) ≡ (L̃(y), z, a)

#+"�FJ' j �;$·Wg´ o�_E#%��Q M (x, a) ≡ (x′, a)
A �^#+Q M�t'���Fp$&H\���n$\��'�������"�$

(z, x) ≡ (z, x′)
#%"�F\'

x′ = L̃(x)
�����P�*# j �;$ (x, y) ≡ (L̃(x), L̃(y)).

o1A z #%"�"?d ∃z = L̃(x), L̃(y) ∩ L A�´µ��������H-h+A z #%"�" j ��$ x′ ∈ z, y
A

� A z #%"�"?d x, y‖L ����� L̃(x), L̃(y)‖L A������ z ∈ L
�����

w ∈ z, y \ {z, y} A � �;$U��� j h�A z #+"�")����";$��#+���

(z, w, y) ≡ (z, L̃(w), L̃(y))
�����

(z, w, x) ≡ (z, L̃(w), L̃(x)),
�*#

x, w ∩ L 6= ©" .

CE#+H\#+��F �g'�"��%$
(x, y) ≡ (L̃(x), L̃(y)) j �;$-Wg´ o�_/A �

©[��Ht� � � � H\m������·F\Q M HJ��� � ���Pa!��H B = B(E,G,≡).
suFU����"�$~�*#+���

L̃ ∈ B.
� 8 � .+D[� �)562

ϕ ∈ B �

� ���
Fixϕ := {x ∈ E ; ϕ(x) = x} 2�R = 562Z.[5 �B. = 567/7\:+S1V ¡ >@. E.

� .[��± ��2�R = 2?567&56.
a, b ∈ Fixϕ, a 6= b,

3�:+.*.�¥+2Z9 =
ϕ = ã, b

>�31567
ϕ = id .

� 9[� ��: =
ϕ
3+7&562u.*2?®8§ = T�>@9Z9Y2Z.[5\:+785 � 2 ��¦LS�.�T = 5 � 3�:+.*.�¥+2Z9 = ϕ = id .

� 5��~562�R���Wph�_����������
a, b ∈ Fixϕ, a 6= b,

�����
c ∈ a, b.

CE#%���¢����"�$
ϕ(c) ∈ a, b

a~������� W?¯�A 
�_
�����

(a, b, c) ≡ (a, b, ϕ(c))
A��U#+Q M Wg´«hi_ M #%$ j #+��#+"�F\' ϕ(c) = c

�����
a, b ⊆ Fixϕ

A
Wlo�_ �����

ϕ 6= id,
�*#+���·�+��"�$

Fixϕ 6= E
�����

L := a, b ⊆ Fixϕ.
CE# M ��H j ��F\Fu�+��"�$\��� Fixϕ = L.

zI� H x ∈ E \ L ����"�$ (a, b, x) ≡ (a, b, ϕ(x))
A � �;$�Wg´ � _O��Fp$t#+"�FJ' ϕ(x) = L̃(x).

f���F\����F&# j $!�g'�"��+$ ϕ = L̃.W � _Osu��� �U��$&��H\H\#+� j (�����H!��HJ��� ����Q M $U�%'�"�"�������#+H\�E�
������$&�-����$ M �%"�$ j ��FJF!��"�����Q M E FJ�����)A
�

� 8 � .Z��� ��� 7
G,H ∈ G

S�.L3
ϕ ∈ B ¥+2Z9 =

� ���
ϕG̃ϕ−1 = ϕ̃(G)

� h



� .[�
G̃(H) = H ⇐⇒ G̃H̃ = H̃G̃ ⇐⇒ H̃(G) = G

�
,6V � :+9Z9

G 6= H
2�R = 3�:@RU¥156.L:+S 3�:+.*.w31567 � :+9Z9 � �~56.*. G̃H̃ 2Z. ¡ >@9YS = >@7/2�R�®8§�2�R = �

� 5��~562�R���Wph�_ � 	���� � #%H�Wg��������#+��m�#%"�"��+� j ����� � _
����";$

Fix
(
ϕG̃ϕ−1

)
= ϕ

(
FixG̃

)
!
= ϕ(G).

� ��$�Wl¯�A o ��A o�_b�g'+"��+$ FJ'+�g'�Hp$!������k~� M #+��K�$&������A
Wlo�_
k~����#+"�"����|�t��Q M �n��������� � ��#+Q M $&� j #+� G̃−1 = G̃

� � Hb#+"�"��t����H&#+������F\K������+��"����������[A�C^��H z #+"�"
G = H

��FJ$t$&HJ���1� #%"?(*#+"�F\'·� ���������ca!��H^# � F\'%�g'�HJ$ G 6= H
#%����� M�j ���)A[C^#+��� ��FJ$t����F � ��F\'�������HJ�

G̃H̃ 6= id,
�����P��FU�+��"�$~'
	���� � #+H

G̃H̃G̃ = H̃ ⇐⇒ G̃H̃ = H̃G̃ ⇐⇒ G̃H̃G̃H̃ = id ⇐⇒ G̃H̃
�����+'�"���$\'�H\��F\Q M A

�U��F
G̃(H) = H

������W hi_O��HJ��� � $tFJ��Q M G̃H̃G̃ =
˜̃
G(H) = H̃

A��U��� #+��F
H̃ = G̃H̃G̃ =

˜̃
G(H)�g'+"��+$ � j �����+� M HJ$ G̃(H) = H

A
´ª���+���·��� j·j �6$&H\���b�@#+��� #+��Q M �����~kb��m���� M ����� H̃(G) = G

��������� ���n���;�%#+"�����m��%��$\$\�O��������� � #+��$ab��HJ�����[A
�

	 #�
 ���B?)�L;P�
� � #%�`F&#%�+$~m6a~���)����H\#+����� G,H ∈ G
Fp$&� M ���PR�56.�T@7&58®8§ = '1����H�>@7 = §*>\¥1>@.L:+9�(�ab�����

G̃H̃
������'+"���$\'�H\��F\Q M ��FJ$U����� FJQ M H\��� � $ G ⊥ H. � #+� ��������$ G #+��Q M �r> = #+��� H W4�����c� j �+�6��%� M Hp$/_/A

G
�����

H
F\������#+"�F\'-�����*#%���*#+���`'�HJ$ M '���'���#+"?(+ab����� G 6= H

�����`�����t�1����HO���n���;�%#+"����n$\���`k~�6�
������������������#+��F�W4¯�A£o�h+A£o�_~��Hp� � "�";$ F\�����)A�f���F � ��F\'+������HJ����FJ$ �EHJ$ M '���'���#+"��;$8�%$b��������F � j·j �6$&H\��F\Q M �%(#%�n$\��HJ���*� ���;�����t��" #%$\��'���#+���

G
A

	 #�
 ���B?)�L;P�
�����������
x, y ∈ E

�����
G ∈ G.

����"�$
G̃(x) = y

(BF\' M ����N%$ G � 2 =4= 569Z9�> = W4'1����H
#%��Q M �c2 =l= 569£R�56.�T@7&58®8§ = 5�_b��'+� x ����� y A

f j z #%"�" x 6= y
����"�$ '�	[��� � #+H G ⊥ x, y.´µ��H � ���n��$&m����c��������� � � ���������6� ��M HJ$\�-k~��m�����Q M �1����� x := {G ∈ G ; x ∈ G} � � H x ∈ E.©[��HUs ����Fp$&����m���'�� � '+$&���P����� � �;$\$\��"�"�'+$&������� � $ �^��FJ�n�����Z$

� 8 � .V.�� �)562?56.
a, b ∈ E

V 2 =
a 6= b

�

� ��� ��� 7
G ∈ G

V 2 =
a 6∈ G

5 ��2�R = 2?567 = ¥156.L:+Sw562Z. �r> =
H ∈ a �

. ¤ V 9Y2?®8§
H = a, G̃(a)

�
� .[��±
R^¥+24² = § � ®8§�R = 56.ª562Z. �c2 =4= 569Z9�> =

L ¡ >@. a, b.,6V � :+9Z9r31567^± ��2�R = 56.10�¥+2Z9 =
L = {x ∈ E ; (a, x) ≡ (b, x)} .

� o



� 9[��± ��2�R = 2?567 =
c ∈ E \ a, b V 2 = (a, c) ≡ (b, c),

R�>`5 ��2�R = 2?567 = 562Z. � 2 =4= 569Z9�> = ¡ >@. a S�.L3 b �

� 5��~562�R���Wph�_ � 	[��� � #+H�����"�$ G̃
(
a, G̃(a)

)
= a, G̃(a),

#+"�FJ'
G ⊥ a, G̃(a). z�� H H ∈ a j ��$

H ⊥ G
����";$

G̃(H) = H,
#+"�FJ'

G̃(a) ∈ H
ADCE# M ��Ht�+��"�$ H = a, G̃(a)

A
Wlo�_ z�� H~����� L ∈ G j ��$ L̃(a) = b

��Fp$�Wl¯�A�h 
+_�#+��ab����� � #+HO������m������+$b�����tm�ab���;$&��kb� M #+��K�$&������ACU���-su����������$&�����+����$ ��FJ$!�*#%����$\H\�;����#+"?A
W � _ z �+"�"��E�+� j �+N�Wphi_~��������� '+$ �+'�� c #+��� a, b. �

� 8 � .V9�� q #$,[# &)>Z*���Nr� h�AtC^������HJFJ$&�-�^��F\F&#%����m������+$e(���#+F\F j #%��� j|j ��H~������������$\��� ��'+�P������� j�+����� � �����-�
������$E#+��Ft����� �r> = � ¤ 9Z9�56.c�%#%���)A
o1A�� j ������s ����Fp$&����m���'+� � ��$J$&��"�"�'+$\���c#+"�"���� j ������m�� � �6a~����FJ���)( � H&#+��Q M $ j #+� Fp$8�+HJ�+��H\� �
'�H �#%��F\FJ��$&m����������)A
� At�U��Q Mwj ��$U����H z H\#+���+(*a~#+��� j #+�c��� ������� j �u������$������ �r> = 567/7/2?®8§ = 56.ª�%#%���)(Da~��H\������a!��H����F!F\K*�%$\��H � ��F\Q M �%�Z$&�������)A

f j z #+"�" ����H�s ����FJ$\����m W4����� su����������$\�����%����$8_EF\Q M HJ��� � ���ªa!��H {a ⊥ G} � � H������ � '+$-����HJQ M a#%���
G.

�U��H^� j z #+"�" a 6∈ G
F\�����ws ����Fp$&����m ������su����������$\�����%����$U����F\��Q M ��HJ$�A ©[� j z #+"�" a ∈ GFJ��� M ���^���g��# � � � o�A

� 8 � . E)� �)562?56.
G,H, L ∈ G.

� ��� �)562
a ∈ E

V 2 =
G̃H̃(a) = a �

3�:+.*.�¥+2Z9 =
a = G ∩H >�31567

G = H
�

� .[�
G̃H̃L̃ 6= id

�
� 9[� ��� 7

ϕ ∈ B ¥+2Z9 =
G ⊥ H =⇒ ϕ(G) ⊥ ϕ(H).

� 5��~562�R���Wph�_�suF�����";$
G̃(a) = H̃(a) =: a′

Arf j z #+"�" a′ 6= a
��Fp$

G = H
�*#+F-�*#+Q M Wl¯�A o+o1A£o�_������m������ � ��$\$\��"�"�'+$b��'�� a ����� a′.f j z #%"�" a = a′

��FJ$
a z � ��K�������$ ��'�� G̃ �����

H̃,
#+"�FJ'

a ∈ G ∩H AWlo�_~�^����������' j|j ��� G̃H̃L̃ = id
(*�*#%���P�+��"�$

G̃H̃ = L̃
�����

L
��FJ$ z � ��K�������$&����H&#+�����+'�� G̃H̃.�U#+Q M W hi_~��Fp$!�*#+F!�n��H � � H G = H j ����"���Q M A�CE#+�����g'�"��%$!# � ��H L̃ = id,

������´µ������HJF\K�HJ��Q M A
W � _

G̃H̃
��Fp$O�����*#+���*#%����������'+"���$\'�H\��F\Q M (na~����� ϕG̃H̃ϕ−1 �����+'�"���$\'�H\��F\Q M ��FJ$�A�suFO����"�$b# � ��H j �;$W4¯�A£o�h�A;hi_

ϕG̃H̃ϕ−1 = ϕG̃ϕ−1 ϕH̃ϕ−1 = ϕ̃(G) ϕ̃(H). �

� 8 � .VY�� �rS
d ∈ G ∈ G

5 ��2�R = 2?567 =
H ∈ d

V 2 =
G 6= H

S1.L3
G 6⊥ H.

�+�



� 5��~562�R��UsuF^� ����FJ$\����Hp$
L ∈ d \{G} A �U��HU����H z #+"�" L ⊥ G j ��F\F � � M #+������"�$ta~��H\�����)A[´¬� M "��

a ∈ G \ {d} ����� b ∈ L \ {d} A �^#+Q M W?¯�A£o�o1A;hi_ ����";$ A = a, b 6⊥ G,L
�����

Ã(d) 6∈ L
A���' j ��$�+��"�$

H := d, Ã(d) 6= L,G. �

´µ��H�F\Q M HJ��� � ��� I := {ϕ ∈ B ; ϕ2 = id 6= ϕ} � � H������ � �����+�|#%"�"���HEf�����'�"���$&��'���������� B �����
G̃
� � H!����� � �������-#+"�"���H!����H&#+������FJK���������"����������)ADsuFt�+��"�$ #+"�FJ' G̃ ⊆ I ⊆ B.

� 8 � .V8�� �)562
ϕ ∈ B \ {id} S1.L3 d ∈ Fixϕ.

� ��� xO24² = 58R
G ∈ d

V 2 =
ϕ(G) = G,

3�:+.*.�¥+2Z9 =
ϕ ∈ I.

� .[�w,8R =
ϕ ∈ I S1.L3�¥+24² = 58R

G ∈ d
V 2 =

ϕ(G) 6= G �
R�>�¥+2Z9 =

ϕ ∈ G̃.

� 9[�w,8R =
ϕ ∈ I \ G̃,

R�>�¥+2Z9 =
ϕ(G) = G

� � 7�:+9Z9�5
G ∈ d

�

� E � xO2Z9 =
ϕ(G) = G

� � 7�:+9Z9�5
G ∈ d,

R�>�2�R =
ϕG̃ ∈ G̃

S1.L3
ϕG̃(d) = d

� � 7�:+9Z9�5
G ∈ d

�
� 5��~562�R���Wph�_ zI� H x ∈ G \ {d} ����";$ (d, ϕ(x), x) ≡ (d, ϕ2(x), ϕ(x)) ≡ (d, ϕ(x), ϕ2(x))

AD�^��F
WZ´«hi_I�g'�"��+$

ϕ2(x) = x.
CE#�#+��Q M ϕ2(d) = d

��H\��� � $
F\��Q M·j ��$ Wl¯�A£o ��A£o�_ ϕ2 = id
'1����H

ϕ2 = G̃
A

´¬�%H\�
ϕ2 = G̃

(n�*#+���|a � HJ���U� � H y ∈ E \G ����"�$&��� (y, ϕ(y)) ≡ (ϕ(y), G̃(y))
A �^#+Q M Wl¯�A o+o1A£o�_��FJ$!�*#%Ft�n��H � � H ϕ(y) ∈ G̃ j �+��"���Q M (�� j ´µ������H\FJK�H\��Q M m�� y 6∈ G

�����
ϕ(G) = G

A
�U"�FJ' j ��F\F ϕ2 = id

����"�$\���)A
Wlo�_ �����

x ∈ G \ {d} j ��$ x′ = ϕ(x) 6∈ G
A�´¢�������

(d, x) ≡ (d, x′)
��� � $ ��F �*#+Q M Wl¯�A£o�o1A � _~�����

� ��$\$\��"�"�'+$ H ��'+�
x, x′,

#%"�F\'
H̃(x) = x′

�����
d ∈ H

AD��' j �;$ ����";$

H̃ϕ(d) = d, H̃ϕ(x) = x, H̃ϕ(x′) = H̃(x) = x′.

C^# M ��H M #%$u�����Ok~�6a~��������� H̃ϕ ��H\��������Q M $u�%'�"�"�������#+H\� z � ��K�������$&�O����� j �;$~Wl¯�A£o ��A � _B�+��"�$ H̃ϕ =

id
A�CE#+Ftm������+$

ϕ = H̃.W � _b�g'�"��+$ ����H\����$U#+��F�Wlo�_6A
W � _B´ª�������PWphi_r��FJ$

ϕ
�������~f��n�+'�"���$&��'+�)A������

G ∈ d .
´ª��������Wl¯�A o � _B��� � $ ��F H ∈ d j ��$ G 6= H�����

G 6⊥ H
(*�)A M A G̃(H) 6= H

A*suF!�g'�"��+$
ϕG̃(H) 6= H

�������*# M ��H ϕG̃ 6= id
A

�U��F
ϕ(G) = G

�g'�"��+$ j ��$�Wl¯�A o1h�A�h�_

G̃ = ϕ̃(G) = ϕG̃ϕ−1 = ϕG̃ϕ =⇒ ϕG̃ϕG̃ = id =⇒ ϕG̃ ∈ I.
�U#+Q M Wlo�_~����"�$ ϕG̃ ∈ G̃. �

� 8 � . �D� 	 &)#$�KO�\ �L# N�#$J"*��%N�O]O�WQ?]�*� ��� 7
d ∈ E

S1.L3
A,B,C ∈ d

¥+24² = 58R�¥156.L:+S�562Z.
G ∈ dV 2 =

ÃB̃C̃ = G̃
�

� �



� 5��~562�R��^����"�$
A = B

(*FJ'·�g'�"��+$
ÃB̃C̃ = C̃

� ������k~� M #+��K�$&������A
����";$

A ⊥ B,
F\'���Fp$

ϕ = ÃB̃ ∈ I, # � ��H ab������� Wl¯�A£o � A o�_ ϕ /∈ G̃
A �U#+Q M W4¯�A o%¯�A � ( � _ �+��"�$

ÃB̃C̃ = ϕC̃ ∈ G̃
A

suF � "���� � $·#+"�FJ'w����H z #+"�" A 6= B
�����

ÃB̃ 6∈ I A
����� ψ = ÃB̃C̃. z�� H x ∈ C \ {d} ����"�$
x′ = ψ(x) = ÃB̃(x) 6= x

��#+Q M Wl¯�A£o � A;hi_6AL�^��F Wl¯�A o+¯�A�hi_ ����� ÃB̃ 6∈ I �g'�"��+$ x′ /∈ C
(�FJ'���#+F\F

d, x, x′
����Q M $|�+'�"�"������e#+H�"���������������� (d, x) ≡ (d, x′)

��Hp� � "�"����)A �U#+Q M W4¯�A£o�o1A � _�������Fp$&����HJ$·�����
� ��$\$\��"�"�'+$ M �+'��

x, x′
�����

d ∈ M
A � #%� M #%$ #+"�F\' M̃ψ(d) = d

�����
M̃ψ(x) = M̃(x′) = x����� W4¯�A£o ��A£o�_~m������+$

M̃ψ = id
'�����H

M̃ψ = d̃, x = C̃
A

´¬�%H\�
M̃ψ = C̃

(�F\'��g'�"��+$\�
M̃ÃB̃ = id

� � j ´µ������HJF\K�HJ��Q M m�� Wl¯�A o � A o+_6A
�U"�FJ' j ��F\F M̃ψ = id

�+��"�$\��� � �������*#+F!� j K�"���m�����Hp$~������k~� M #+��K�$\������A �

´µ��H M #+";$&����' M ���-k~��ab����Ft�g��FJ$
� 8 � . ����F@WQ?R�*�-,&R =

E
56.L3�9Y2?®8§

�
R�>�2�R =

(E,G)
562Z.[5-:J°y.[5^± ²656.[5��

� � � ��� ����� �
��� ��� �
	 �
	�� � � ��� � �
	���� � �

´µ��Hu��HJ��������H\�·�*#+H\#+�)(��*#+FJFE56SnT@9Y243+2�R�®8§*5O±O²656.[56.�#%¶·���ts � ������� j ��$
�t'�����HJ������m!FJ�����)(������t#+"�FJ'�����-������' j �`Wg´«hi_/(�WZ´ o�_6(IWZ´ � _!��HJ� � "�"����)AD�^��N���H\��� j ����";$�W4f � _/(��*#%F � ����� j #+" j '1����"�"[#@¶|����Hs � �������cFJQ M ��������$^#+"�FJ'�#+��F�Af���F � ��F\'+������HJ��F\������#%¶·���Es � ���������^��Fp$8#+��F\Q M � � ������� Wg�1��"?A � � �1_
������#+"�"��U���%$\m��E����F~��'+H\���+���� � F\Q M ����$J$&Ft����";$&���[A´µ��HOa~��H\�����cFJ� M ���)(D�*#+F\FU#+"�"��Ekb��ab������������� j ��$ ����H&#+������FJK���������"���������� � ��FJQ M H\��� � ���Pab��HJ������ ���������)ALCE# � ��� FJK�����"�$!����HUCUH\����F\K���������"�������F\F\#%$&m��������Ea!��Q M $\�������!'�"�"��+Af j z '�"������������ F\����#+"�FJ'EFJ$\��$&F (E,G,≡)
�������O�����n"�������F\Q M � s � �����%A�´µ��HI�������%���|����F � ���*k~���*#+Hp�������#@¶|����s � ����� (E,G)

��� ������K�H\' � ����$&�;������� � F\Q M "���F\F �������+� � ��$\$\��$�A C^��� z ��HJ������H\#+����FJ���Fp$&�6$&F j ��$ F � ��m�����Q M ���6$eA �+������k~��ab���+����� ϕ � ��FJ��$&m6$^������� z '�Hp$&F\�6$&m������ ϕ∗ #%���u�����cK�HJ' � �����$\���+����� � FJQ M "���FJF�A�C^����F\�-k~��m�����Q M �n�����·a~��H\�����Pa!��H M �+��¨*�·' M ��� �t����a~����FO�+��HJab���������)A´µ��Q M $&������FJ$!�����-GI#%$\F&#+Q M �%(D�*#+F\F!� � H � ������F G ∈ G
����� z '�HJ$\F\�6$&m������|����HU��K���������"������ G̃∗ �������©[����$&H&#%"��+'+"�"������e#@$&��'+� j ��$ � Q M FJ� G ∪ {[G]} ����� ©[���n$\H\� j [L]

��Fp$e(�ab�����
L ⊥ G.

� 8 � .VX�� �)562?56.
G,H, L ∈ G

V 2 =
G ⊥ L.

±
RU¥+2Z9 =��
H ⊥ L ⇐⇒ G‖H.

� 5��~562�R�� �^#%Q M �
'�H&#+��F\F\�6$&m���������FJ$
[G]

�*#%F·©[����$&HJ� j �+'��
L̃∗.

��s«����";$
H 6= L

(��*#+������FJ$
ab���+����W4¯�A£o�h+A£o�_

H ⊥ L ⇐⇒ L̃(H) = H ⇐⇒ [H] = [G],
�*#%F^©[����$&H\� j ��'�� L̃∗.

��#+F � ��������$\��$^# � ��H ����H&#+��� H‖G. �

���



CU��H!�g'�"����������-��#@$&m���Fp$ ��'���m�����$&H&#%"���Htk~��������$&������A
� 8 � 9+D[��F@WQ?R�*� � � 7

G,H ∈ G
V 2 =

G‖H 2�R =
G̃H̃

562Z.[5 ��7J:+.�R69;: = 2?>@.�V 2 = ]!2?®8§ = S1.1¥->@7 = §*>\¥1>@.L:+9
0�S

G
�

� 5��~562�R�� ��sy����"�$\�
G 6= H

A�´µ��HOF\�6$&m����
τ = G̃H̃

A�´ª������� W4¯�A o � A;hi_~�����
G ∩H = ©" M #@$ τ�%������� z � ��K�������$\�+A

´ª���+����Wl¯�A o �+_���FJ$O����� � '+$
L
#+���

G
#+��Q M ����� �r'%$O#+��� H (�#+"�F\'���FJ$ [L]

�*#%F ©[����$\H\� j ��'�� G̃∗

�������+'��
H̃∗.

CE#+������Fp$
[L] ∈ F

#+��Q M ©[���n$\H\� j �+'�� τ ∗ = G̃∗H̃∗ Wg�1��"lArW � A�h�A � _J_6A
C^# #+"�"�� z � ��K�������$&�E#+��� F "������+��� j�� F\FJ���)(���������FO�������^� Q M F\����� � ��� j ��FJF�(���FJ$ F �����^� Q M F\��+'��

τ ∗.
CE# M ��Ht��FJ$ τ ��������GIH\#+��F\"�#%$&��'��)A �

� 8 � 9Z����F@WQ?R�*���)562?56.
a, b ∈ E

0��~562 ¡ 5678R�®8§12?5\3156.[5UvbS�.�T = 5��
� ���

a, b
§�:�²656.�¥156.L:+S 562Z. � 2 =4= 569Z9�> = �

� .[� ��� 7�:+9Z9�5
c ∈ a, b

5 ��2�R = 2?567 = ¥156.L:+S 562Z.
L ∈ c

V 2 =
L ⊥ a, b

�
� 9[��±
R�5 ��2�R = 2?567 = � ¥156.L:+S �·562Z.[5 ��7\:+.�R69;: = 2?>@.

τ
V 2 =

τ(a) = b
� �)>@V 2 = 2�R =

(E,G)
562Z.[5 ��7J:+.�R6<

9;: = 2?>@.�R�5�²656.[5��
� 5��~562�R���Wph�_b´¬� M "�� G ∈ G j ��$ G ⊥ a, b

�����
c ∈ G \ a, b A z�� H

d =
{
a

∥∥∥c, G(b)
}
∩ b, c �����

M =
{
d ⊥ a, b

} ��FJ$
M̃G̃

��#+Q M W4¯�A � ��_~��������GIH\#+��FJ" #%$\��'��)A�CE# M ��H!����";$

M̃G̃(c, b)‖c, b =⇒ M̃(c, b)‖G̃(c, b) = c, G̃(b) =⇒ M̃(c, b) = {d‖c, G̃(b)} = a, d

=⇒ M̃(b) = a, b ∩ a, d = a.

C^# M ��Ht��Fp$ M �*#%Ft�+��F\��Q M $\� � �;$\$\��"�"�'+$eA�C^����su����������$&���+�+���;$ FJ$\� M $UF\Q M '��P����W4¯�A o+o�A o+_6AWlo�_������
M
�*#+F � �;$\$\��"�"�'+$^�+'�� a, b ( ��#+���w$&��$���F L = {c‖M} ab���+��� W?¯�A£o �+_6Arsu��� ab���;$&��HJ��F� '+$!����H\Q M c a~�+HJ�-� � �����4#+"�"�F K*#+H\#+"�"���"�m�� M A

W � _ �����
M
�*#+F � �;$\$\��"�"�'+$B��'�� a, b ����� L = {a ⊥ a, b}, �����~�*#+Q M W hi_ � m6a�ADW?o�_r������Fp$&����H\���)A�suF�+��"�$

M‖L �*#+Q M Wl¯�A£o �+_6(+����� τ = M̃L̃
��FJ$ �������bGIH\#+��FJ" #%$\��'��)A�´ª���;$&��H�����";$

τ(a) = M̃(a) = b. �

� 8 � 9V.�� q #$,[# &)>Z*���Nr� h�A � #%�-�@#+����#+"�F\'!���������n"�������F\Q M ����s � ��������#%��� � �����b����H&#+������� � ����� j�u�����n$U������F\��Ht����H&#+�����������*#%�P����� �r> = 567/7/2?®8§ = 56.BA
o1A^©[��GBH&#+��F\" #@$&��'+��F\� � ���������1��"?A*#%��Q M W � A£o ��_O�����������E�g'�"��������������U��F\F\#+�����)A
� A!´µ���`���µW � A£o�h%A o�_ � ��F\Q M HJ��� � ���[( �@#+����#+��� E �������`� ������$\��'��ªF\'w���������6� ��M Hp$�ab��H\�����)(u�*#%F\F

(E,+)
���������+' j·j ��$&#%$&�;���-��H\��K�KL�Ea!��HJ�)A*CE#%FU������$&H\#+"���su"�� j ����$!F\��� j ��$ 0 � ��m�����Q M ����$�A

� ¯



� AUCU��H\Q M ��������a~����$&��H\�|�U'���FJ$&HJ����$&��'��)()����� M ����H�����Q M $ � ��F\Q M H\��� � ���ªab��HJ����� FJ'�"�"l([�@#+��� j #+���������Wg�+' j·j ��$&#%$&�;���e_ � ��"�$\��K�"����@#%$\��'��¢W j ��$^������$\H&#+"�� j su"�� j ����$ 1
_�#+���

E
FJ'�������� ��M H\���)(��#+F\F

(E,+, · ) ����� � ��HJK���H�a!��HJ�)AU����$\m�$ j #+� K = 0, 1,
FJ' �@#+��� j #+�¬m����������)(!�*#+FJF

K̃ : E → E
�����P���n�+'�"���$&'�HJ��F\Q M ��H!� �+H\KL��H&#%��$&' j '�HJK M ��F j ��FO��FJ$�A*CE#+F � ��M Hp$U#+���I�����

� 8 � 9V9�� 	 W &<O�?]#7J"J"*��%N�O]O�WQ?R�*� �)562
(E,G,≡)

562Z.[5�56S�T@9Y243+2�R�®8§*5O±O²656.[5��*³^S �
E
5 ��2�R = 2?567&56.P562Z.[5

³t3�3+2 = 2?>@. � 562Z.[5�� S19 = 2£¦L9Y2�T+: = 2?>@.¢S1.L3c562Z.¢2Z. ¡ >@9YS = >@7/2�R�®8§*567 ��� 7 ¦*567J:+S = >@V`>@7 ¦*§12�R6V S�R = 0̃, 1R�>
�
3�:@R8R

(E,+, · ) ��� 7 ¦*567
�
S1.L3

(E,G,≡)
3+2?5�56S�T@9Y243+2�R�®8§*5!³�²�9�562 = S�.1¥ ¡ >@. (E, )

2�R = �[,6.�R6<
²658R�>@.L31567&5U¥+2Z9 =

(a, b) ≡ (c, d) ⇐⇒ (a− b)(a− b) = (c− d)(c− d)
� � 7

a, b, c, d ∈ E
�

su����������HJ����$&� z '�"��+��H\����� ��Fp$
� 8 � 9 E)��F@WQ?R�*�-,/.�
e5\31567�56SnT@9Y243+2�R�®8§*56.�±O²656.[5U¥+2Z9 = 31567U¥+7&> � 5 ��: = 0 ¡ >@.�v :6¦�¦LS�R � ³^v�� �

�

´µ��H FJ$\������H\� � �6$&m6$U����������"�#+F\FJ��¨*�@#%$\��'���#%"�"���H k~�6a~�������������w#+�)A
� 8 � 9VY���F@WQ?R�*���)562

ϕ ∈ B
� ��� xO2Z9 =

Fixϕ = {z}, R�>�¥+24² = 58R|xU567J:�3156. G,H ∈ z
V 2 =

ϕ = G̃H̃
�

ϕ
§*562 �I= 3�:+.*.�C^H\� M �����wS1V z

�
� .[�

ϕ
2�R = vb7&>�3+S�T = ¡ >@.P§ � ®8§�R = 56.�3+7&562 xU567J:�3156.�R�¦L2?5?¥1569YS1.1¥156. �

� 5��~562�R��!´µ��H � ���1��$&m���� ������s ����FJ$&����m���'�� � ��$J$&��"�"�'%$&���wWl¯�A � h�_/AW hi_ z�� H x ∈ E\{z} ����"�$ (z, x) ≡ (z, ϕ(x))
AiC^# M ��H ����$ M �+";$r�*#+F � �;$\$&��"�"�'+$ G �+'�� x, ϕ(x)

�����
�u�����n$

z.
��' j ��$ M #%$ G̃ϕ ����� z � ��K�������$\� x ����� z A��^#%Q M Wl¯�A o �1A�h�_ �+��"�$O����$�a~������H G̃ϕ = id

(
a~#+F FJ'+�g'�HJ$ #+���r������´µ������HJF\K�HJ��Q M ϕ = G̃

� ��M HJ$e(�'�����H G̃ϕ = z̃, x
A�CE#+F ��FJ$~������kb� M #+��K�$&������AWlo�_Uf�Fp$

Fixϕ 6= ©",
F\'�"������g��H\��W4¯�A£o ��A£o�_U������Wphi_ � ��ab����"�FE������k~� M #+��K�$\������A[f��w����HEGI#%$^��FJ$ ϕ��#+Ft�
HJ'�������$t�+'�� M ��Q M FJ$&���cm6a~��������H\#+������F\K���������"����������)AsuF � "���� � $E����H z #+"�"l(*�*#+FJF���F��+��������� z � ��K�������$���� � $eA[����� x ∈ E

A zI� H^�*#%F � ��$J$&��"�"�'%$ M ��'��
x, ϕ(x)

����"�$
x ∈ FixM̃ϕ.

�U#+Q M ����FJ��H\��H �
'�H ��� ��H\"����������E��Fp$ M̃ϕ
�*#+F��
HJ'�������$ ��'�� M ��Q M Fp$&���m6a~���I����H&#+������F\K������+��"����������[ADCE# M ��H!�g'+"��+$!#%��Q MPM ����H!������k~� M #+��K�$\������A �

� 8 � 9V8�� q #$,[# &)>Z*���Nr� h�AtC^��H�' � ����� kb��ab����F � ���1��$&m�$��n��H`�����cs ����FJ$&����m ��'+� � ��$J$&��"�"�'+$\���)AC^# M ��H�����";$I��H ����F � ��F\'+������HJ� #+��Q M � � H��*#+F ��"�������F\Q M � � '1����"�"���������H M �1K���H � '�"���F\Q M ����s � �����+A
o1AUCU����CE#+H\Fp$&��"�"������|��������H^CUH\� M ����������HJQ M m�ab��� ��K���������"����������P��FJ$U�+��������FJab����FE������������$\����A*f������HuGI#%$
��� � $u��F � � H ϕ = G̃H̃ j �;$ z = G∩H �����

A ∈ z
� j|j ��H � � ������#+������� B,B′ ∈ z

j ��$ ϕ = ÃB̃ � m�a�A ϕ = B̃′Ã.

� Atf j z #%"�" E = C
��Fp$!����HtC^HJ� M a!�����%��" ��'+� ϕ ������kb��m���� M ����� ∠(x, z, ϕ(x)) = 2 · ∠(H,G).

� 




� At�U�*#+"�'�����Fb����";$
� � HO�����ECE#+HJFJ$\��"�"������-��'���GBH&#+��F\" #@$&��'+������#%"�FO�uHJ'������n$Om�ab������H!����H&#%������FJK����/��+��"����������[A*CE#+Ftm������+$!����H �g'�"����������-��#@$&m+A
� 8 � 9 �D� 	 &)#$�KO�\ �L# N�#$J"*��%N�O]O�WQ?]� ����& � ;+?R5 ��O]G<H%#7J � ��� 7 3+2?5�xU567J:�3156.

A,B,C, L ∈ G
¥1569 = 5

A,B,C ⊥ L
����:+.*.ª5 ��2�R = 2?567 = ¥156.L:+S 562Z.

G ∈ G
V 2 =

ÃB̃C̃ = G̃
� �-:�²6562r¥+2Z9 =

G ⊥ L
�

� 5��~562�R�� �^#%Q M Wl¯�A£o � A£o�_��+��"�$ ϕ := ÃB̃C̃ 6= id
Au�1$&#%$\$

L
�@#+��� ab������� Wl¯�A£o ��_ � ����������H&#%���

K�#+H&#+"�"���" m��
L
FJ$\� M ���)AOCE# M ��H|�%#%��� '�s #+���+����' j·j ����a~��H\�����)(~�*#%F\F���F x ∈ L

��� � $ j �;$
ϕ(x) 6= x.suF�����"�$

ϕ(L) = L
( �������

L
��Fp$�����$&��H�#%"�"����w�����+� � ���¢��K���������"����������������%#+H\��#+��$eA �1' j �;$^�g'�"��+$

ϕ(x) ∈ L
A �����

G
��#+F � ��$J$&��"�"�'+$b��'�� x, ϕ(x).

suF!����";$
G ⊥ L,

#+"�FJ'
G‖A �����

G̃ϕ(x) = x
A

C^#
τ = G̃Ã

�����
τ ′ = B̃C̃

�*#+Q M Wl¯�A � �+_EGIH\#+��F\"�#%$&��'������wF\�����)( �������*# j ��$ ττ ′ = G̃ϕ
�������

GBH&#%��F\"�#%$&��'�� j �;$ z � ��K�������$ x ��Fp$e(��g'�"��+$ G̃ϕ = id .
CE#%FU��FJ$!������k~� M #%��K�$&������A �

zI� H!�����P�t��FJ$t����Ft� � F\Q M ����$J$&F � H&#+��Q M ����a!��H �������Eab����$\��HJ� �
'�H\#+��FJF\��$\m�������d´µ��H ��� M�j ���c#+�[(*�*#+F\F � � H!#%"�"�� G,H ∈ G
����"�$

G ⊥ H =⇒ G ∩H 6= ©" .
� 8 � 9 ��� q #$,[# &)>Z*���Nr� h�A z�� H ��������� �+'1'�H\�����*#%$\��FJ����HJ��������� � ��HJK���H

E � ��������$&�6$ �*#+F
charE 6= 2,

�)A M A 2 6= 0.

o1A^©�ab��� �+��H\FJQ M �������������
������$&� a, b M # � ���c�*#+���c� j·j ��H ��������� � ��$J$&��"�K������n$ m = a, b ∩M (
ab�����

M
�*#%F � ��$J$&��"�"�'+$b��'�� a, b ��Fp$�Wg�1��"lA Wl¯�A£o�o�A£o�_J_6A�f j z #+"�" a = b

F\�6$&m�$ j #+���*#%$ � H\"���Q M
m = a = b.

f�� � ����� j z #+"�"���FJ$ m = 1
2
(a+ b)

W4F\��� M � � � �����n_/A
� Atf j z #%"�" charE = 2

����"�$O$&#%$&F\�+Q M "���Q M G ⊥ H =⇒ G‖H.
	 #�
 ���B?)�L;P�
��su�����!k~��ab���������

ϕ M ����N+$-xO9�562 = R�¦L2?5?¥1569YS�.1¥-'�����H �)®8§1S�²6R�¦L2?5?¥1569YS1.1¥�(ia~�����`��F����/�H\#+�����
A,B,G ∈ G

�+� � $ j ��$ A,B ⊥ G
�����

ϕ = ÃB̃G̃.

ϕ
��Fp$�#+"�FJ'-����� �
��HJ�+�6$\$&��������������H���K���������"������ j ��$u��������H�#+��F\Q M "�����N����������·GIH\#+��FJ" #%$\��'�� �����t��Q M �$\��������'��

G
Wg�1��"lArWl¯�A � �+_\_6A

su��������"�����$\F\K���������"������ M ����N+$�58®8§ = (�ab����� A 6= B,
a~����� #%"�F\'

ϕ
�+����������K���������"������ ��FJ$�A

´µ��H M #+";$&���������Ea!��Q M $&����FJ$\���Psu��������F\Q M #@�Z$&�����g��Fp$eA
� 8 � 9VX�� �)562?56.

A,B,G ∈ G
V 2 =

A,B ⊥ G
S1.L3

A 6= B
� �)5 = 0@5

ϕ = ÃB̃G̃
S1.L3

τ = ÃB̃,R�>�3�:@R8R
ϕ = τG̃

562Z.[5�58®8§ = 5|xO9�562 = R�¦L2?5?¥1569YS�.1¥·2�R = �
� ���

τ
S1.L3

G̃
R62Z.L3 ¡ 567 = :+SnR�®8§�²8:+7 � 3 ��§ � τG̃ = G̃τ

�
,6.�R�²658R�>@.L31567&5E2�R = :+S*®8§

ϕ−1 = τ−1G̃
562Z.[5�58®8§ = 5|xO9�562 = R�¦L2?5?¥1569YS1.1¥ �

� .[�
G
2�R = 562Z.10�2;¥158R � 2 ��569�56V`56. = ¡ >@. ϕ �xU56.L:+S*567 �

ϕ
§�: = T�562Z.[5 � 2 ��¦LS1.�T = 5 � S�.L3 G 2�R = 562Z.10�2;¥15 � 2 �i¥1567J:�315��

� �



� 9[� ��2?5 ��7J:+.�R69;: = 2?>@.
τ
S�.L3�3+2?5|xU567J:�315

G
R62Z.L3�562Z.L3156S = 2;¥�²658R = 2ZV V = �

� 5��~562�R���Wph�_ � ��$�W4¯�A o1h+A£o�_~����";$ ÃB̃G̃ = ÃG̃B̃ = G̃ÃB̃
A

Wlo�_~�^����������' j|j ������F!��� � $ ��������� z � ��K�������$ x. CE#+��������";$ x 6= τ(x) = G̃(x)
ADsuF!�g'+"��+$

x, τ(x)‖G ⊥ x, G̃(x)
!
= x, τ(x).

C^#+Fb��FJ$������ ´µ������H\F\K�H\��Q M m��|����F\��H\��H �
'�H&#%��F\FJ��$&m������ G∩x, G̃(x) 6= ©" .
�^"�F\'-��� � $
��Fb�%���������

z � ��K�������$�AC^#+F\F
G
������� z � ������H&#+������FJ$�(���Fp$!�1"�#+H�A

�1���
H
��������ab����$\��HJ� z � ������H&#+������'�� ϕ. f j z #%"�" x = G ∩ H

��HJ��� � $�F\��Q M ����HE´µ������HJF\K�HJ��Q M
ϕ(x) = x.

�^"�FJ'�����";$
G‖H.

´ª����"
H
����F M #%" � �t��Q M $\����� ��'+� τ ��FJ$�(e����";$ H = ϕ(H) = G̃τ(H) = G̃(H),

F\' j ��$ G∩H 6= ©"�����P��# M ��H G = H.W � _~��Fp$!������������HJ����$&� z '�"��+�^��'��¢W?o+_~����������H!GI#%$&F\#+Q M �+(D�*#%F\F ϕG̃ ��������GIH\#+��FJ" #%$\��'�����FJ$eA
�

CU��������H\#+���
G
a!��HJ� j #+��Q M�j #+"�#+"�F�³E®8§�R�5`����H���"����;$&F\K������+��"������ � ��m�����Q M ���6$eAuCE# G �+�������

z � ��K�������$\����H\#+��� ��FJ$e(�����Q8�n$�FJ��Q M �*#%F�����Q M $ j ��$|����FJ��HJ��H����6a~' M �n$\��� ��K�HJ��Q M ab����FJ� � #+"�FJ'
�
'+H\F\��Q M $ �suF!�g'�"��%$O�������+��HJF\K�HJ'�Q M ��������"�#+F\FJ��¨*�@#%$\��'��`�+'��Pk~��ab�������������[A
� 8 � E�D[��F@WQ?R�*���*5\315 � 5��~5?¥+S1.1¥

ϕ ∈ B 2�R = ¡ >@.ª562Z.[56V 31567 �e>@9 ¥156.L3156. � �8¦*56.

• ��7J:+.�R69;: = 2?>@.

• ��7&58§1S�.1¥ � 3 �e§ �
ϕ = ÃB̃

V 2 =
A ∩ B = z

�

• xO9�562 = R�¦L2?5?¥1569YS1.1¥ � 3 ��§ �
ϕ = τG̃

V 2 = 562Z.[567 ��7\:+.�R69;: = 2?>@.
τ �
:+S*®8§

τ = id
V � ¥+9Y2?®8§ � �

� 5��~562�R��!´ª�������¬Wl¯�A ��� _������ Wl¯�A � ��_-��FJ$��1��H���'1Q M ����H z #+"�" ϕ = G̃H̃L̃ j ��$�����H\F\Q M �������������
G,H, L ∈ G

m�� � �6$&H\#+Q M $&���[A �^#+Q M Wl¯�A � 
+_^� � HJ�g����a!��H�'�s #+����� M�j ���)([�*#+F\F�����Q M $�#%"�"�����H\�������H\#+����� K*#+H\#+"�"���"EFJ�����[A �^#+Q M � � ��H\��#+����m�� ϕ−1 = L̃H̃G̃
�4#+"�"�F�� �+$&����(O� � HJ�g���¬a!��H�#+"�F\'

a = G∩H ��'�H\#+��F\FJ��$\m����[A�f��`����HbGI#%$�(
ϕ
��FJ$���'+�`������� j ����H~�+���*#+���n$\����G �1K����������*#+�`��#+���)(ab�����

ϕ−1 �+' j FJ��" � ����G ��KP��Fp$�Wg�1��"?A�����F � ��F\'�������HJ��W4¯�A � ��A;hi_\_/A�1��$&m��
K = {a ⊥ L}, b = K ∩ L

�����
A = GHK

W4C^H\����F\K������+��"�������F\F\#%$&m·� j �
������$ a _6A�t��� FJ���
B = {b‖A} ����� D = BKL

WlCUH\����F\K���������"�������F\F\#%$&m�� j �u�����n$
b
_/Au´µ��H M # � ���

KL = BD
��FJ$-��������f�����'�"���$&��'��)A C^# M ��H-����"�$ B ⊥ D

����� j �;$|Wl¯�A£o ��_ A ⊥ D
AB�1Q M "�����N�"���Q M¨�������$ j #+� ϕ = GHL = AKL = ABD

��Fp$!����������"�����$\F\K���������"�������W j ��$ � Q M FJ� D _/AC^# j �;$ F\�����P#+"�"�� � ����"���Q M �%���;$&������H\F\Q M ��K��Z$eA �

� �



� 8 � E�����F@WQ?R� A�;P��� H%W+J"#$O+���)562?56.
a, b, c ∈ E

.*2?®8§ = T�>@9Z9Y2Z.[5\:+7OS1.L3
m
� 2 =4= 569 ¦LS�.�T = ¡ >@. a, b.�-:+.*.�¥+2Z9 =��

(m, c) ≡ (m, a) ⇐⇒ a, c ⊥ b, c
�

� 5��~562�R�� }
=⇒ � d���������� G,H

����� � �;$\$&��"�"�'+$&���+'�� a, c � m�a�A c, b, �*#+��� ����"�$ m = G ∩ H�����
H̃G̃(a) = H̃(c) = b.

CE# M ��H M #%$ j #+� H̃G̃(a, b) = a, b
��������#+Q M W?¯�A o+¯1A�h�_���Fp$ H̃G̃������'�"���$&'�HJ��FJQ M A
CE# M ��H|�+��"�$ G ⊥ H.

CE#�#+��Q M b, c ⊥ H
�g'�"��%$ j �;$�Wl¯�A£o ��_ b, c‖G Au´ª�������

G ⊥ a, c
��H M �+";$ j #%� a, c ⊥ b, c

A
} ⇐= � d suF-F\��� d ����H � ��$\$\��"�K�������$���'+� a, c

([��������F�F\���
τ � m6a�A τ ′ ����� GIH\#+��F\"�#%$&��'������ j �;$

τ(a) = m � m�a�A τ ′(a) = d
([�������*#+Q M Wl¯�A � h�_^� ����FJ$\����H\���[Ar����� M = {m ⊥ a, b} ����� L ��#+F

� ��$\$\��"�"�'+$ �+'�� a,m A�CE#+��� �+��"�$ τ = M̃L̃
A�suFt�g'�"��+$

τ(m) = M̃L̃(m) = M̃(a) = b.
�^�*#%"�'��

m������+$ j #%� τ ′(d) = c.
�U#+Q M W � A£o�o+_ � ��"�������������GBH&#+��F\" #@$&��'+���������������+' j|j ��$8#%$\�����-��H\��K�K��%A*CE# M ��Ht����";$

τ ′τ−1(m) = d
����� (

τ ′τ−1
)2

(b) = τ ′τ ′τ−1τ−1(b) = τ ′τ ′τ−1(m) = τ ′τ ′(a) = τ ′(d) = c.

CU��F M #+" � ��FJ$ [d,m]
�t��Q M $&�����!��'+� τ ′τ−1 ����� [b, c]

��Fp$��!��Q M $\�����!��'�� (τ ′τ−1)
2
.
C^����F\� j�� FJF\���# � ��HO��"�����Q M FJ�����[A�CE#+F m������+$ G := d,m‖b, c A��U��F a, c ⊥ b, c

�g'+"��+$ j �;$�Wl¯�A o ��_ a, c ⊥ G
(������

G
��Fp$ � ��$J$&��"�"�'%$~��'+� a, c. s
F!�g'�"��+$ G̃(a) = c

�������*# M ��H (m, c) ≡ (m, a)
A

�

zI� H ������"���$\m�$&��� � �����������U��F\F\#+�����PF\��� E ������� ��HJK���H j �;$O������� j ������'�"���$&'+H\��FJQ M �����U��$&' j '�H �K M ��F j ��F ��������� j z � ��� ��H\KL��H K. s
F �+��"�$\� 2 6= 0
A�´¢����$&��HOF\���

(E,G,≡)
�����E�����n"�������F\Q M �� � "�����$\������A�´µ��H ��H\��������H\� #%�P�������1��#+��H&#@$&��FJQ M � z '�H j Q(x) = xx

�����c������m����+� M ��HJ�����-k~��"��­����e#+Hp�g'�H j BQ

(*����������HJQ M BQ(x, y) = xy + xy
�g��FJ$&�+��"����+$!��Fp$�W4FJ��� M �`Wl¯�A � _J_6A

� 8 � EP.�� �)562
(E,G,≡)

56S�T@9Y243+2�R�®8§*5`³�²�9�562 = S1.1¥�3158R ��� 7 ¦*5678R
E
V 2 = 3156V 2Z. ¡ >@9YS = >@7/2�R�®8§*56.³^S = >@V`>@7�¦*§12�R6V S�R S1.L3�58R�R�562

2 6= 0
�

� ��� ��2?5EvbS1.�T = 5
a, b

²658R62 = 0@56.�3156. � 2 =4= 569 ¦LS�.�T = 1
2
(a+ b).

� .[� ��� 7t3+7&562 ¡ 567&R�®8§12?5\3156.[5bvbS1.�T = 5 a, b, c ∈ E
¥+2Z9 =

a, c ⊥ b, c ⇐⇒ BQ(a−c, b−c) = 0.

� 5��~562�R���Wph�_ ����� M ���^���g��# � � � ��A
Wlo�_|suF��+��"�$·��������H\F\����$\F

a, c ⊥ b, c ⇐⇒ s := ã, c (b) ∈ b, c
W4�6$�aO#¢ab���+��� Wl¯�A o%¯�_\_������

#%������HJ��HJF\���;$&F
s ∈ b, c ⇐⇒ s = 2c − b

(������������ ������F\� j z #+"�"r��FJ$ c � ��$J$&��"�K������n$U��'�� s, b A´ª���;$&��Ht�+��"�$ j �;$-Wl¯�A �1A o�_

s = c +
a− c

a− c

(
b− c

)
= 2c− b ⇐⇒ (a− c)(b− c) = −(b− c)(a− c)

⇐⇒ BQ(a− c, b− c) = 0. �

¯ �



� 8 � EP9���F@WQ?R� A�;P� :
�
?RH�W NV;V&)W+O+� �)562
(E,G,≡)

56SnT@9Y243+2�R�®8§*5
³�²�9�562 = S1.1¥ 3158R ��� 7 ¦*567&R
E
V 2 =

3156V 2Z. ¡ >@9YS = >@7/2�R�®8§*56. ³^S = >@V`>@7�¦*§12�R6V S�R S1.L3�58R`R�562
2 6= 0

� � � 7�3+7&562U.*2?®8§ = T�>@9Z9Y2Z.[5\:+785
vbS1.�T = 5

a, b, c ∈ E
¥+2Z9 =

a, c ⊥ b, c ⇐⇒ Q(a− c) +Q(b− c) = Q(a− b).

� 5��~562�R��
Q(a− b) = Q(a− c− (b− c)) = Q(a− c) +Q(b− c) −BQ(a− c, b− c) =

= Q(a− c) +Q(b− c) ⇐⇒ BQ(a− c, b− c) = 0 ⇐⇒ a, c ⊥ b, c j ��$�W?¯�A � o�_6A �

¯�h



� � �%��� � �B���

�­h���k~����$&��"�F\K�#+Q M ��H�#+�����t'+F\��� � #%� j A�vb7&>�
e58T = 2 ¡ 5^xU58>@V`5 = 7/2?56A �E���6a~���%� �
��H\"�#+��(�k~H\#+����FJQ M a~�����%�´µ����F � #%�����)( h � ��o�A
� o2� �U��� M ��F!#%�����u��KL��H�Auvb7&>�
e58® = 2 ¡ 5b¦L9;:+.[58R6A��1K�H\��������H � �
��H\" #%��(1k~��HJ"����1� �U��������" � ��HJ�%� �t��a���'+H\�D(h�� 
 � A
� � ����#+H\m���"l(O� �+H\����F\���[( #+��� ´µ��������" � ��H\��A ±b2Z.	� � §17/S1.1¥ 2Z. 3+2?5 xU58>@V`5 = 762?56A ��#+������� M '1��Q8�D(h�� 
 � A
� � � � �����+��� � ��H\��A xO7/S�.L3�9;:�¥156. 31567�xU58>@V`5 = 7/2?5c,6A kbf?� ´µ��FJF\����F\Q M #@�Z$&Fp� �
��HJ" #+��( � #%��� M ��� j �´µ�������p© � H\��Q M ()h���¯ ��A
� � ��s A ��Q M H �1����H�A �L>@7/9�58R6S1.1¥156. � ²6567 xU58>@V`5 = 762?5 , � ,J, � ,J,\,6A k~f?� ´µ��F\FJ����FJQ M #%�Z$&F � �
��H\" #%��(
� #+��� M ��� j �?´µ�������p© � HJ��Q M (Lh�� ��h�A

¯�o
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